## Notice for appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships

Hindustan Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in Uttar Pradesh, as per following details:

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M	M.)/Area of l.). *	Finance to I		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1	WITHIN MUNICIPAL LIMITS OF AGRA, ON LOHA MANDI-MADIYA KATRA ROAD , BELANGANJ ROAD OR BIKANER ROAD	AGRA	REGULAR	150	SC	CFS	16	16	256	0	0	Draw Of Lots	0	3
2	BETWEEN MADAR GATE CHAURAHA & SASNI GATE CHAURAHA ON AGRA ROAD ( WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	150	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
3	ON ROAD CONECTING CENTRAL JAIL TO ITI CHAURAHA VIA SATANPUR MANDI (WITHIN FARRUKHABAD MUNICIPAL LIMITS )	FARRUKHABAD	REGULAR	100	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
4	BETWEEN KM STONE NO. 242 AND KM STONE NO. 252, LHS FROM ETAH TOWARDS BEWAR, ON NH-34 (ETAH- KANPUR ROAD)	MAINPURI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
5	FROM MAHUVAN TOLL PLAZA (FARAH) TOWARDS AGRA, WITHIN MATHURA DISTRICT, RHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
6	BETWEEN KM STONE NO. 62 & KM STONE NO. 58 ON SH 43, FROM BADAUN TOWARDS CHANDAUSI, EITHER SIDE (BADAUN- CHANDAUSI ROAD)	BUDAUN	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
7	WITHIN 3 KMS FROM TANDA BANSHIDHAR CHAURAHA, RAMPUR TOWARDS SIRAULI ON SH 125 (TANDA-SIRAULI ROAD)	RAMPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
8	WITHIN 5 KM FROM BAREILLY MOD CHAURAHA TOWARDS JALALABAD ON SH 29 (SHAHJAHANPUR-JALALABAD ROAD)	SHAHJAHANPU R	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
9	WITHIN RAJESULTANPUR NAGAR PANCHAYAT LIMITS, ON JAHANGIRGANJ - RAJESULTANPUR ROAD	AMBEDKAR NAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
	BETWEEN KM STONE 170 AND KM STONE 177, RHS TOWARDS GORAKHPUR ON NH 27 (LUCKNOW - GORAKHPUR ROAD, OLD NH 28)	BASTI	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
11	WITHIN 8 KM FROM MADAPAR TIRAHA, RHS TOWARDS KUSHINAGAR ON NH-27	GORAKHPUR	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
12	BETWEEN KM STONE 345 AND KM STONE 350, ON EITHERSIDE OF NH 27( GORAKHPUR- TAMKUHI ROAD)	KUSHINAGAR	REGULAR	150	ST	CFS	40	45	1800	0	0	Draw Of Lots	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
13	BETWEEN KM STONE 335 AND KM STONE 345 ON NH-19 FROM ETAWAH TOWARDS KANPUR ON ETAWAH-KANPUR ROAD, LHS	ETAWAH	REGULAR	150	SC	CFS	40	40	1600	0	0	Draw Of Lots	0	3
14	BETWEEN KM STONE 1487 AND KM STONE 1494 ON NH-27 FROM JHANSI TOWARDS ORAI ON JHANSI-KANPUR ROAD, RHS	JALAUN	REGULAR	150	SC	CFS	40	40	1600	0	0	Draw Of Lots	0	3
15	WITHIN MUNICIPAL LIMITS - GURSARAI, ON ANY ROAD WITH WIDTH GREATER THAN 5.5 METRES	JHANSI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
16	BETWEEN KM STONE 408 AND KM STONE 416 ON NH-19, FROM KANPUR TOWARDS ETAWAH ON KANPUR-ETAWAH ROAD, RHS	KANPUR DEHAT	REGULAR	300	ST	CFS	45	45	2025	0	0	Draw Of Lots	0	3
17	BETWEEN KM STONE 80 AND KM STONE 83 ON SH-38, FROM BILGRAM TOWARDS UNNAO ON BILGRAM-UNNAO ROAD, RHS	UNNAO	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
18	BETWEEN KM STONE NO 138 AND KM STONE 151 ON NH731,SHAHJAHANPUR TO HARDOI ROAD, EITHER SIDE	HARDOI	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
19	BETWEEN KM STONE NO 128 AND KM STONE 138 ON NH731,SHAHJAHANPUR TO HARDOI ROAD, EITHER SIDE	HARDOI	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
20	BETWEEN KM STONE NO. 100 TO KM STONE NO. 102 ON NH-730, AT GOLA BYPASS ROAD, EITHER SIDE	LAKHIMPUR KHERI	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
21	BETWEEN KM STONE NO. 174 TO KM STONE NO. 180 ON NH-730, LAKHIMPUR-BAHRAICH ROAD,ON EITHER SIDE	LAKHIMPUR KHERI	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
22	BETWEEN KM STONE NO. 122 AND KM STONE NO. 124 ON SAMBHAL -HASANPUR ROAD,SH51, RHS TOWARDS HASANPUR	AMROHA	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
23	BETWEEN KM STONE NO. 79 AND KM STONE NO. 81 ON BIJNOR- KIRATPUR ROAD, NH34	BIJNOR	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
24	UPTO 3 KMS FROM WHITE BIRD PUBLIC SCHOOL TOWARDS SAHARANPUR, DELHI-SAHARANPUR ROAD, NH-709B, LHS	SAHARANPUR	REGULAR	200	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
25	BETWEEN KM STONE NO. 47 AND KM STONE NO. 52 ON DELHI- SAHARANPUR ROAD, NH709B, RHS TOWARDS SAHARANPUR	SHAMLI	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
26	ON ANY ROAD HAVING WIDTH GREATER THAN 5 METER(WITHIN NAGAR PANCHAYAT LIMITS RAJAPUR).	CHITRAKOOT	REGULAR	100	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
27	BETWEEN KM STONE NO. 78 AND KM STONE NO. 82 ON MURATGANJ-MAHEBA GHAT ROAD(NH-731A)	KAUSHAMBI	REGULAR	230	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
28	WITHIN 10 KM FROM BHOPIYAMAU CHAURAHA ON LHS OF NH31, FROM BHOPIYAMAU CHAURAHA TOWARDS RANIGANJ ON PRATAPGARH -JAUNPUR ROAD	PRATAPGARH	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to I by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
29	WITHIN PRAYAGRAJ DEVELOPMENT AUTHORITY LIMITS- PRAYAGRAJ ON ANY MAJOR ROAD WITH WIDTH OF MORE THAN 5 METERS	PRAYAGRAJ	REGULAR	150	SC	CFS	16	16	256	0	0	Draw Of Lots	0	3
30	WITHIN 5 KM FROM RANIKHEDA CHAURAHA TOWARDS BACHHRAWAN ON BAHRAICH-BANDA ROAD, EITHER SIDE (SH13)	RAEBARELI	REGULAR	230	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
31	WITHIN 3 KM FROM KHANPUR POLICE STATION ON NH 731, ON EITHER SIDE (SAIDPUR - CHANDWAK ROAD)	GHAZIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
32	BETWEEN KM STONE NO 22 AND KM STONE NO 26 ON NH 124C FROM TADIGHAT TOWARDS BARA ON EITHER SIDE (TADIGHAT - BARA ROAD)	GHAZIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
33	ON ANY MAIN ROAD OF WIDTH 5 METERS AND ABOVE (NOT ON NH) WITHIN MUNICIPAL LIMITS JAUNPUR NAGAR PALIKA PARISHAD	JAUNPUR	REGULAR	200	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
34	VILLAGE- BHAMAURI KHURD TEHSIL-ATRAULI ON ALAMPUR- DADON ROAD	ALIGARH	RURAL	70	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
35	VILLAGE- PUNPAL PUR TEHSIL- FARRUKHABAD, ON SANKISA- MOHAMDABAD ROAD	FARRUKHABAD	RURAL	70	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
36	WITHIN 4KM FRIM BHARUDIA MOD TOWARDS KHUDAGANJ ON RANSAYA KHANPOUR ROAD	PILIBHIT	RURAL	70	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
37	VILLAGE THARI BHAR , TEHSIL-TAMKUHI RAJ ON DUDAHI-GURWALIA ROAD	KUSHINAGAR	RURAL	70	ST	CFS	30	30	900	0	0	Draw Of Lots	0	2
38	VILLAGE NARAYANPUR, TEHSIL MAHARAJGANJ, ON SHIKARPUR- SINDURIA ROAD	MAHARAJGANJ	RURAL	70	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
39	VILLAGE DHAURI KUIYAN, TEHSIL NAUGARH ON NAUGARH-SOHAS ROAD	SIDDHARTH NAGAR	RURAL	70	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
40	VILLAGE KESARMAU KALAN ON ITAUNJA - AMANIGANJ - MEHMOODABAD ROAD	LUCKNOW	RURAL	70	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
41	VILLAGE NAHAL, TEHSIL GHAZIABAD	GHAZIABAD	RURAL	80	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
42	WIHIN 5 KM FROM DANDO KISHANPUR BRIDGE TOWARDS KAMASIN ON KISHANPUR-KAMASIN ROAD	BANDA	RURAL	70	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
43	VILLAGE NARA TEHSIL-SIRATHU ON DHATA-MANJHANPUR ROAD	KAUSHAMBI	RURAL	80	SC	CFS	30	30	900	0	0	Draw Of Lots	0	2
44	VILLAGE-HATHEDA,TEHSIL-LALGANJ ON HALIA -SONGARHA ROAD	MIRZAPUR	RURAL	70	ST	CFS	30	30	900	0	0	Draw Of Lots	0	2

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. N		Finance to I by the a	oe arranged pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
45	VILLAGE -SAWARA, TEHSIL- DUDDHI, ON RENUKOOT - BABHANI ROAD	SONBHADRA	RURAL	100	ST	CFS	30	30	900	0	0	Draw Of Lots	0	2
46	ON SERVICE ROAD OF INNER RING ROAD, BETWEEN FATEHABAD ROAD AND SHAMSABAD ROAD ,AGRA	AGRA	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
47	WITHIN 2.5 KMS , FROM INTERSECTION OF AGRA-LUCKNOW EXPRESSWAY WITH FIROZABAD-FATEHABAD ROAD, TOWARDS FATEHABAD, ON SH-143 (FEROZABAD-FATEHABAD ROAD)	AGRA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
48	WITHIN 2 KM OF RAMBAGH CROSSING ON ETMAD- UD- DAULA ROAD IN AGRA CITY	AGRA	REGULAR	200	OPEN	DC	16	18	288	32	75	DRAW OF LOTS	15	5
49	BETWEEN KM STONE NO. 39 AND KM STONE NO. 43, ON LHS FROM AGRA TOWARDS JAIPUR ,ON NH-21( AGRA-JAIPUR HIGHWAY)	AGRA	REGULAR	200	OPEN	СС	40	45	1800	32	12	BIDDING	30	5
50	WITHIN 3 KM FROM MAHI INTERNATIONAL SCHOOL TOWARDS GWALIOR , LHS ON NH-44 (AGRA- GWALIOR HIGHWAY)	AGRA	REGULAR	300	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
51	BETWEEN KM STONE NO.63 AND KM STONE NO. 67 ON SH-62 (AGRA- BAH ROAD)	AGRA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
52	BETWEEN KM STONE NO. 64 AND KM STONE NO. 68 IN UTTAR PRADESH ON RHS FROM DHOLPUR TOWARDS BHARATPUR ON NH- 123 (DHOLPUR -BHARATPUR ROAD)	AGRA	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
53	BETWEEN SHAHADRA CHUNGI AND TEDHI BAGIYA CROSSING ON KALINDI VIHAR ROAD IN AGRA CITY	AGRA	REGULAR	150	OPEN	DC	16	16	256	32	75	DRAW OF LOTS	15	5
54	BETWEEN KM STONE NO. 32 AND KM STONE NO. 35 ON RHS FROM AGRA TOWARDS BAH, ON SH-62 (AGRA-BAH ROAD)	AGRA	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
55	BETWEEN KM STONE NO. 21 AND KM STONE NO. 25 ON SH-143 (FATEHABAD- SHAMSABAD -IRADATNAGAR ROAD)	AGRA	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
56	BETWEEN KM STONE NO.12 AND KM STONE NO. 16 ,ON LHS FROM MATHURA TOWARDS GWALIOR,ON NH-AB (AGRA BYEPASS)	AGRA	REGULAR	300	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
57	BETWEEN KM STONE 15 AND KM STONE 24 ON RHS FROM AGRA TOWARDS JALESAR ON NH-321G (AGRA-JALESAR RAOD)	AGRA	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
58	BETWEEN KM STONE 224 AND KM STONE 227,ON LHS FROM AGRA TOWARDS HATHRAS, ON NH-509 (AGRA-HATHRAS ROAD)	AGRA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M	M.)/Area of 1.). *		pe arranged	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
59	BETWEEN INDIRAPURAM CROSSING AND DOUBLE TREE HILTON HOTEL ON 100 FT ROAD IN AGRA CITY	AGRA	REGULAR	200	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
60	WITHIN 6 KMS OF MADHU NAGAR CHOWK ON DEORI ROAD IN AGRA	AGRA	REGULAR	150	SC	CFS	16	16	256	0	0	DRAW OF LOTS	0	3
61	WITHIN 1.5 KM FROM TORA POLICE CHOWKI TOWARDS EKTA POLICE CHOWKI ,ON 125 FT ROAD, IN AGRA	AGRA	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
62	BETWEEN PANCHKUIYAN CHAURAHA AND MARUTI ESTATE CHAURAHA ON MG ROAD 2 IN AGRA CITY	AGRA	REGULAR	150	OPEN	DC	16	16	256	32	75	DRAW OF LOTS	15	5
63	WITHIN 4 KM OF SAIYAN FLYOVER, ON LHS TOWARDS IRADATNAGAR ON SH-143(SAIYAN -SHAMSABAD ROAD)	AGRA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
64	BETWEEN BHOGIPURA CHAURAHA AND SIKANDRA CROSSING ON SHAHGANJ- BODLA- SIKANDRA ROAD IN AGRA CITY	AGRA	REGULAR	150	OPEN	DC	18	18	324	32	75	DRAW OF LOTS	15	5
65	BETWEEN KM STONE NO. 128UP AND KM STONE NO 131UP, ON RHS FROM AGRA TOWARDS GWALIOR , ON NH-44 (AGRA-GWALIOR ROAD)	AGRA	REGULAR	200	OPEN	CC	40	45	1800	32	12	BIDDING	30	5
66	BETWEEN SIKANDRA CROSSING AND RAMBAGH CROSSING ON DELHI-AGRA-KANPUR HIGHWAY	AGRA	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
67	BETWEEN KM STONE NO. 120 UP AND KM STONE NO.123UP,ON LHS FROM AGRA TOWARDS GWALIOR , ON NH-44 (AGRA-GWALIOR ROAD)	AGRA	REGULAR	200	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
68	WITHIN 2KMS OF BODLA CROSSING ON LHS TOWARDS KALWARI ON BODLA-BICHPURI ROAD IN AGRA	AGRA	REGULAR	150	SC	CFS	18	20	360	0	0	DRAW OF LOTS	0	3
69	BETWEEN KM STONE NO.210 AND KM STONE NO. 213,ON LHS FROM AGRA TOWARDS KANPUR ,ON NH-19 (AGRA-KANPUR HIGHWAY)	AGRA	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
70	WITHIN 3KM OF AJEET NAGAR CROSSING ON JAGNER ROAD	AGRA	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
71	BETWEEN KM STONE NO. 207 AND KUBERPUR BYEPASS ON EITHER SIDE OF NH-19 ( AGRA-KANPUR HIGHWAY)	AGRA	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
72	UPTO 1.5 KMS ON LHS FROM TEDHI BAGIYA TOWARDS HATHRAS ON AGRA-HATHRAS ROAD	AGRA	REGULAR	200	OPEN	CC	30	30	900	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
73	BETWEEN KM STONE NO. 19 AND KM STONE NO. 22 ,ON RHS FROM AGRA TOWARDS JAIPUR ,ON NH-21 (AGRA -JAIPUR HIGHWAY)	AGRA	REGULAR	150	OBC	DC	45	45	2025	32	95	DRAW OF LOTS	15	4
74	BETWEEN KM STONE NO. 269 AND KM STONE NO. 272 ON SH- 39(AGRA-JAGNER-KOT ROAD)	AGRA	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
75	BETWEEN KM STONE NO. 15 AND KM STONE NO.18,ON LHS FROM AGRA TOWARDS BAH, ON SH-62 (AGRA -BAH ROAD)	AGRA	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
76	BETWEEN KM STONE NO.177 AND KM STONE NO.181 ON NH- 19(DELHI-KANPUR HIGHWAY)	AGRA	REGULAR	200	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
77	WITHIN TWO KMS OF KHANDARI CROSSING ON KENDRIYA HINDI SANSTHAN ROAD OR ROAD TO RBS COLLEGE IN AGRA CITY	AGRA	REGULAR	200	OPEN	DC	16	16	256	32	75	DRAW OF LOTS	15	5
78	WITHIN 4 KMS OF PHARAIRA NAAKA ON SH-104 (BAH-BATESHWAR- SHIKOHABAD ROAD),OLD MDR-77	AGRA	REGULAR	150	OPEN PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
79	BETWEEN KM STONE NO 0 AND KM STONE NO. 3 ,ON RHS FROM MATHURA TOWARDS GWALIOR ON NH-AB(AGRA BYEPASS)	AGRA	REGULAR	300	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
80	BETWEEN KM STONE NO.12 AND KM STONE NO. 16 ,ON LHS FROM AGRA TOWARDS JAIPUR,ON NH-21(AGRA-JAIPUR HIGHWAY)	AGRA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
81	WITHIN 3 KMS OF ROHTA CHAURAHA TOWARDS GWALIOR ON AGRA-GWALIOR HIGHWAY	AGRA	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
82	BETWEEN KM STONE NO. 24 AND KM STONE NO. 26,ON LHS FROM MATHURA TOWARDS GWALIOR, ON NH-AB (AGRA BYEPASS)	AGRA	REGULAR	150	OBC	DC	45	45	2025	32	95	DRAW OF LOTS	15	4
83	BETWEEN KM STONE NO.30 AND KM STONE NO. 35 ,ON RHS FROM AGRA TOWARDS JAIPUR ON NH-21( AGRA-JAIPUR HIGHWAY)	AGRA	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
84	BETWEEN KM STONE NO.208 AND KM STONE NO.210 ON SH-39 (AGRA-JAGNER ROAD)	AGRA	REGULAR	100	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
85	WITHIN 3KMS OF VIKAL CHOWK ON MUGHAL ROAD OR PALIWAL PARK ROAD IN AGRA CITY	AGRA	REGULAR	200	OPEN	DC	16	14	224	32	75	DRAW OF LOTS	15	5
86	WITHIN 2KMS FROM KP GROUP OF INSTITUTIONS TOWARDS MATHURA, ON LHS FROM AGRA TOWARDS MATHURA ON NH-19 (KANPUR-AGRA-DELHI HIGHWAY)	AGRA	REGULAR	200	OPEN	CC	45	45	2025	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to I		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
87	BETWEEN KM STONE NO. 6 AND KM STONE NO. 8 ON NH-AB, ON LHS FROM MATHURA TOWARDS GWALIOR (AGRA BYEPASS)	AGRA	REGULAR	200	OBC	DC	45	45	2025	32	95	DRAW OF LOTS	15	4
88	BETWEEN KM STONE NO. 29 AND KM STONE NO. 33 IN UTTAR PRADESH, ON RHS FROM DHOLPUR TOWARDS BHARATPUR ON DHOLPUR -BHARATPUR ROAD(NH-123)	AGRA	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
89	BETWEEN KM STONE 41 UPTO AGRA- BHARATPUR BORDER,ON RHS FROM AGRA TOWARDS JAIPUR , ON NH-21 (AGRA-JAIPUR HIGHWAY )	AGRA	REGULAR	400	OPEN	DC	50	50	2500	32	95	DRAW OF LOTS	15	5
90	BETWEEN VEERANGANA AVANTI BAI LODI CROSSING AND TAJ VIEW CROSSING ON THE MALL ROAD OR SUBRATA ROAD IN AGRA CITY	AGRA	REGULAR	150	OPEN CC 1	DC	16	16	256	32	75	DRAW OF LOTS	15	5
91	BETWEEN KM STONE NO. 217 AND KM STONE NO. 220 ON SH-39 (AGRA-JAGNER ROAD)	AGRA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
92	BETWEEN TAJ VIEW CROSSING AND RAMADA HOTEL ON EITHER SIDE OF FATEHABAD ROAD IN AGRA	AGRA	REGULAR	200	OPEN	СС	18	18	324	32	12	BIDDING	30	5
93	BETWEEN PRATAPPURA MOD AND NAGARCHAND TOLL PLAZA ON SERVICE ROAD OF AGRA-LUCKNOW EXPRESSWAY	AGRA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
94	BETWEEN ST. JOHN'S CROSSING AND GURUDWARA MAITHAN VIA GHATIYA CROSSING IN AGRA CITY	AGRA	REGULAR	200	OPEN	DC	16	14	224	32	75	DRAW OF LOTS	15	5
95	IN AWAS VIKAS ON ANY ROAD HAVING WIDTH > 10 METRES OR ROAD CONNECTING BODLA CROSSING AND LOHA MANDI CROSSING IN AGRA CITY	AGRA	REGULAR	200	OPEN	DC	18	18	324	32	75	DRAW OF LOTS	15	5
96	BETWEEN KM STONE NO. 35 AND KM STONE NO. 39 ON LHS FROM AGRA TOWARDS JAIPUR ON NH-21 (AGRA-JAIPUR HIGHWAY)	AGRA	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
97	BETWEEN BHAGWAN TALKIES CROSSING AND PRATAPPURA CROSSING ON EITHER SIDE OF MG ROAD IN AGRA CITY	AGRA	REGULAR	200	OBC	DC	16	14	224	32	75	DRAW OF LOTS	15	4
98	BETWEEN HARIPARWAT CROSSING AND GURU KA TAAL FLYOVER VIA MADIA KATRA TIRAHA IN AGRA CITY	AGRA	REGULAR	200	OPEN	DC	18	18	324	32	75	DRAW OF LOTS	15	5
99	BETWEEN KARGIL CHAURAHA AND MANGALAM AADHAR SHILA APARTMENTS VIA SHASTRIPURAM GOL CHAKKAR(AVANTI BAI LODHI CROSSING)	AGRA	REGULAR	200	OPEN	DC	18	18	324	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to I	oe arranged pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
100	BETWEEN KM STONE NO.12 AND KM STONE NO. 16,0N RHS FROM MATHURA TOWARDS GWALIOR , ON NH-AB (AGRA BYEPASS)	AGRA	REGULAR	300	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
101	BETWEEN KM STONE NO.27 AND KM STONE NO. 29,0N RHS FROM AGRA TOWARDS JAIPUR ON NH-21(AGRA -JAIPUR HIGHWAY)	AGRA	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
102	BETWEEN KM STONE NO. 186 AND KM STONE NO.191 ON NH- 19(DELHI -MATHURA-AGRA HIGHWAY)	AGRA	REGULAR	200	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
103	WITHIN 2 KM OF DELHI -LUCKNOW INTERCHANGE ON INNER RING ROAD, ON RHS FROM DELHI LUCKNOW INTERCHANGE TOWARDS KUBERPUR	AGRA	REGULAR	200	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
104	WITHIN 1KM OF BALKESHWAR CHOWK ON WATERWORKS CHAURAHA TO BALKESHWAR ROAD IN AGRA CITY	AGRA	REGULAR	200	OBC	DC	18	18	324	32	75	DRAW OF LOTS	15	4
105	WITHIN 2 KM OF DELHI - LUCKNOW INTERCHANGE ON INNER RING ROAD, ON LHS FROM DELHI LUCKNOW INTERCHANGE TOWARDS KUBERPUR	AGRA	REGULAR	200	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
106	BETWEEN KM STONE NO.11 AND KM STONE NO. 15 ,ON LHS FROM AGRA TOWARDS JALESAR,ON NH-321G (AGRA-JALESAR ROAD)	AGRA	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
107	WITHIN 1KM OF BSA FACTORY ON ETMAD-UD-DAULA ROAD OR NUNHAI LINK ROAD IN AGRA CITY	AGRA	REGULAR	200	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
108	WITHIN 2KMS FROM JAHARVEER BABA TEMPLE TOWARDS KIRAOLI ,ON NH-321 ( KIRAOLI -KAGAROL ROAD)	AGRA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
109	UPTO 4 KM OF SAIYAN OVER BRIDGE TOWARDS KHERAGARH ON SAIYAN -KHERAGARH ROAD	AGRA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
110	BETWEEN KM STONE NO. 41 AND KM STONE NO. 46 ON SH-143 (SHAMSABAD -IRADATNAGAR ROAD)	AGRA	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
111	BETWEEN RAM LILA GROUND AND GANDHI PARK CHAURAHA VIA DUBEY KA PARAO CHAURAHA (WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	200	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
112	WITHIN ONE KM ON ANY SIDE OF FM TIRAHA (WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M			applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
113	BETWEEN KM STONE NO. 165 AND KM STONE NO. 170 FROM ALIGARH TOWARDS ETAH, RHS ON NH - 34 (ALIGARH - ETAH ROAD)	ALIGARH	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
114	BETWEEN DELHI GATE CHAURAHA TO BARADWARI CHAURAHA ON UDAY SINGH JAIN ROAD ( WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	200	OPEN	DC	16	20	320	32	75	DRAW OF LOTS	15	5
115	BETWEEN KM STONE NO. 159 AND KM STONE NO. 162 FROM ALIGARH TOWARDS ETAH, RHS ON NH-34 (ALIGARH - ETAH ROAD)	ALIGARH	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
	KHERESHWAR MANDIR CHAURAHA TO IOCL LPG BOTTLING PLANT FROM ALIGARH TOWARDS PALWAL, LHS ON NH-334D (ALIGARH - PALWAL ROAD)	ALIGARH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
117	ON ATRAULI - PALIMUKIMPUR ROAD (WITHIN ATRAULI MUNICIPAL LIMITS)	ALIGARH	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
118	BETWEEN KM STONE NO. 34 AND KM STONE NO. 36 ON NH-334D (ALIGARH- PALWAL ROAD)	ALIGARH	REGULAR	150	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5
119	BETWEEN SOOTMILL CHAURAHA AND NADA CHAURAHA ON KHAIR BYPASS ROAD ( WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	200	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
120	BETWEEN KM STONE NO. 8 AND KM STONE NO. 12 ON SH-105 (ATRAULI - CHHATARI ROAD)	ALIGARH	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
121	BETWEEN KM STONE NO. 155 AND KM STONE NO. 165 FROM ALIGARH TOWARDS ETAH, LHS ON NH-34 (ALIGARH-ETAH ROAD)	ALIGARH	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
122	BETWEEN KM STONE NO. 8 AND KM STONE NO. 10 ON SH-80 (ALIGARH - MATHURA ROAD)	ALIGARH	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
123	BETWEEN KM STONE NO. 172 AND KM STONE NO. 175 FROM ALIGARH TOWARDS ETAH, LHS ON NH-34 (ALIGARH-ETAH ROAD)	ALIGARH	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
124	BETWEEN KM STONE NO. 157 AND KM STONE NO. 165 ON NH-509 (ALIGARH - AGRA ROAD)	ALIGARH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
125	BETWEEN KM STONE NO. 132 AND KM STONE NO. 140 FROM BULANDSAHAR TOWARDS ETAH, RHS ON NH-34 (BULANDSAHAR- ETAH ROAD)	ALIGARH	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
126	BETWEEN KM STONE NO. 64 AND KM STONE NO. 61 FROM ALIGARH TOWRADS PALWAL, LHS ON NH-334D (ALIGARH- PALWAL ROAD)	ALIGARH	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
127	BETWEEN KM STONE NO. 40 AND KM STONE NO. 45 FROM PALWAL TOWARDS ALIGARH, LHS ON NH-334D (ALIGARH - PALWAL ROAD)	ALIGARH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
128	FROM ETAH CHUNGI CHAURAHA TOWARDS ETAH ON OLD G T ROAD (WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	200	OBC CC 1	DC	20	20	400	32	75	DRAW OF LOTS	15	4
129	FROM ETAH CHUNGI CHAURAHA TO KAMALPUR BY PASS ROAD ( WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
130	UP TO 10 KM FROM GABHANA TOLL PLAZA TOWARDS ALIGARH, LHS ON NH-34 (BULANDSAHAR - ALIGARH ROAD)	ALIGARH	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
131	BETWEEN KM STONE NO. 151 AND KM STONE NO. 145 ON NH-509 (ALIGARH - MORADABAD ROAD)	ALIGARH	REGULAR	150	OPEN CC 1	CC	35	35	1225	32	12	BIDDING	30	5
132	BETWEEN KAVERI ROYAL APARTMENT CHAURAHA AND WATER PUMPING STATION ON 100 FT. ROAD, SWARNJAYANTI NAGAR (WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	150	OPEN	СС	20	20	400	32	12	BIDDING	30	5
133	ON SANGWAN CITY ROAD ( WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	150	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
134	BETWEEN BHUJPURA CHAURAHA TO SASNI GATE CHAURAHA ( WITHIN ALIGARH MUNICIPAL LIMITS)	ALIGARH	REGULAR	200	OPEN PH	CC	20	20	400	32	12	BIDDING	30	5
135	UPTO 4 KM FROM POLICE CHOWKI DADRI GATE (SIKANDRABAD) TOWARDS CHOLA, ON SIKANDRABAD-CHOLA ROAD	BULANDSHAHR	REGULAR	100	OBC PH	DC	30	30	900	32	55	DRAW OF LOTS	15	4
136	BETWEEN NEHRUPUR CHUNGI AND NEW ANAAJ MANDI GATE (VIA KDA OFFICE MAIN GATE & NEW TEHSIL KHURJA) IN KHURJA	BULANDSHAHR	REGULAR	150	OPEN	DC	16	25	400	32	55	DRAW OF LOTS	15	5
	UP TO 12 KM FROM ARNIYA POLICE STATION TOWARDS KHURJA, LHS FROM ALIGARH TOWARDS BULANDSHAHR ON NH-34 (ALIGARH- BULANDSHAHR HIGHWAY)	BULANDSHAHR	REGULAR	150	OPEN CC 2	СС	35	35	1225	32	12	BIDDING	30	5
138	ON KHURJA BYPASS, LHS FROM ALIGARH TOWARDS BULANDSHAHR ON NH-34 (ALIGARH- BULANDSHAHR HIGHWAY)	BULANDSHAHR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
139	BETWEEN BULANDSHAHR DISTRICT BORDER AND VARDHMAN MOTORS (TATA MOTOR SERVICE STATION-SIKANDRABAD), LHS FROM GHAZIABAD TOWARDS BULANDSHAHR ON GHAZIABAD- BULANDSHAHR HIGHWAY (OLD NH-91)	BULANDSHAHR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
140	UPTO 3 KM FROM DIBAI POLICE STATION TOWARDS NARORA ON NH- 509 (AGRA-MORADABAD HIGHWAY)	BULANDSHAHR	REGULAR	150	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
141	BETWEEN AMEYASH HOSPITAL BULANDSHAHR AND RANI AVANTIBAI LODHI TIRAHA (CHERDGHAR TIRAHA), VIA BULANDSHAHR BYPASS ROAD	BULANDSHAHR	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
142	BETWEEN KM STONE NO. 7 AND KM STONE NO. 10 ON SH-63 (KHURJA-CHHATARI ROAD)	BULANDSHAHR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
143	BETWEEN KM STONE NO. 8 AND KM STONE NO. 12 ON SH-65 (BULANDSHAHR- SIYANA ROAD)	BULANDSHAHR	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
144	ON SIKANDRABAD BYPASS ROAD, LHS FROM BULANDSHAHR TOWARDS GHAZIABAD ON GHAZIABAD-BULANDSHAHR HIGHWAY (OLD NH-91)	BULANDSHAHR	REGULAR	150	OPEN CC 1	СС	35	35	1225	32	12	BIDDING	30	5
145	UP TO 12 KM FROM ARNIYA POLICE STATION TOWARDS KHURJA, RHS FROM ALIGARH TOWARDS BULANDSHAHR ON NH-34 (ALIGARH- BULANDSHAHR HIGHWAY)	BULANDSHAHR	REGULAR	150	OBC	СС	35	35	1225	32	12	BIDDING	30	4
	WITHIN 2 KM OF BULANDSHAHR DISTRICT JAIL, LHS FROM BULANDSHAHR TOWARDS GHAZIABAD ON BULANDSHAHR- GHAZIABAD HIGHWAY (OLD NH-91)	BULANDSHAHR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
147	BETWEEN KM STONE NO. 22 AND KM STONE NO. 24 ON SH-65 (BULANDSHAHR- SIYANA ROAD)	BULANDSHAHR	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
148	UPTO 3 KM FROM POLICE STATION AURANGABAD TOWARDS BULANDSHAHR ON SH-65 (BULANDSHAHR- SIYANA ROAD)	BULANDSHAHR	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
149	WITHIN 3 KM OF CHANDPUR CHUNGI BUS STAND (SIYANA), ON SH- 65 (BULANDSHAHR- SIYANA ROAD)	BULANDSHAHR	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
150	On Khurja Bypass, Rhs from Aligarh Towards Bulandshahr On Nh-34 (Aligarh- Bulandshahr Highway)	BULANDSHAHR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
151	ON SIKANDRABAD BYPASS ROAD, RHS FROM BULANDSHAHR TOWARDS GHAZIABAD ON GHAZIABAD-BULANDSHAHR HIGHWAY (OLD NH-91)	BULANDSHAHR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
152	BETWEEN KM STONE NO. 53 AND KM STONE NO. 57 ON EITHER SIDE OF NH-321G (JALESAR-NIDHAULI ROAD)	ETAH	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
153	BETWEEN KM STONE NO. 42 AND KM STONE NO. 47 ON EITHER SIDE OF SH-85 (SHIKOHABAD-ETAH ROAD)	ETAH	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
154	BETWEEN KM STONE NO. 36 AND KM STONE NO. 38 ON EITHER SIDE OF SH-31 (ETAH-TUNDLA ROAD)	ETAH	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to I	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
	BETWEEN KM STONE NO. 195 AND KM STONE NO. 197 FROM SIKANDRA RAO TOWARDS ETAH ON RHS OF NH-34 (SIKANDRA RAO - ETAH ROAD)	ETAH	REGULAR	250	OPEN	DC	40	45	1800	32	95	DRAW OF LOTS	15	5
156	BETWEEN KM STONE NO. 56 AND KM STONE NO. 58 ON EITHER SIDE OF SH-121 (ETAH-ALIGANJ-KAYAMGANJ ROAD)	ETAH	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
157	BETWEEN KM STONE NO. 236 AND KM STONE NO. 240 FROM SIKANDRA RAO TOWARDS ETAH ON EITHER SIDE OF NH-34 (SIKANDRA RAO-ETAH ROAD)	ЕТАН	REGULAR	250	OBC	DC	40	45	1800	32	95	DRAW OF LOTS	15	4
158	BETWEEN KM STONE NO. 222 AND KM STONE NO. 226 FROM ETAH TOWARDS MAINPURI ON LHS OF NH-34 (ETAH-MAINPURI ROAD)	ETAH	REGULAR	250	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
159	BETWEEN KM STONE NO. 81 AND KM STONE NO. 85 ON EITHER SIDE OF SH-122 (JALESAR-AWAGARH ROAD)	ETAH	REGULAR	120	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
160	BETWEEN KM STONE NO. 40 AND KM STONE NO. 43 ON EITHER SIDE OF SH-121 (ETAH-ALIGANJ ROAD)	ETAH	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1 161	BETWEEN KM STONE NO. 40 AND KM STONE NO. 42 ON EITHER SIDE OF NH-321G (JALESAR-NIDHAULI KALAN ROAD)	ETAH	REGULAR	150	OBC	СС	35	35	1225	32	12	BIDDING	30	4
162	BETWEEN KM STONE NO. 6 AND KM STONE NO. 9 ON EITHER SIDE OF SH-121 (ETAH-ALIGANJ ROAD)	ETAH	REGULAR	140	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
163	BETWEEN KM STONE NO. 210 AND KM STONE NO. 218 ON EITHER SIDE OF NH-34 (SIKANDRA RAO-ETAH HIGHWAY)	ETAH	REGULAR	250	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
164	BETWEEN KM STONE NO. 60 AND KM STONE NO. 65 ON EITHER SIDE OF SH-122 (SADABAD-JALESAR ROAD)	ETAH	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
165	BETWEEN KM STONE NO. 33 AND KM STONE NO. 36 ON EITHER SIDE OF NH-321G (AGRA-JALESAR ROAD)	ETAH	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
166	BETWEEN KM STONE NO. 13 AND KM STONE NO. 15 ON EITHER SIDE OF SH-29A (FATEHGARH-KHUDAGANJ ROAD)	FARRUKHABAD	REGULAR	100	OPEN CC 2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	BETWEEN KAYAMGANJ TRANSPORT CHAURAHA TO PULGALIB ON KAYAMGANJ-FARUUKHABAD ROAD (WITHIN KAYAMGANJ MUNICIPAL LIMITS)	FARRUKHABAD	REGULAR	120	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
168	BETWEEN KM STONE NO. 190 AND KM STONE NO. 195 ON EITHER SIDE OF SH-43 (AMRITPUR-RAJEPUR ROAD)	FARRUKHABAD	REGULAR	120	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to I		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
169	BETWEEN KM STONE NO. 552 AND KM STONE NO. 556 ON EITHER SIDE OF NH-730C (FARRUKHABAD-MOHAMMADABAD ROAD)	FARRUKHABAD	REGULAR	160	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
170	WITHIN 5KM FROM KAYAMGANJ TRANSPORT CHAURAHA ON ROAD CONNECTING KAYAMGANJ TRANSPORT CHAURAHA TO KAMPIL	FARRUKHABAD	REGULAR	120	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
171	BETWEEN KM STONE NO. 26 AND KM STONE NO. 28 ON EITHER SIDE OF SH-163 (SHAMSABAD-JALALABAD ROAD)	FARRUKHABAD	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
172	BETWEEN KM STONE NO. 83 AND KM STONE NO. 86 ON EITHER SIDE OF SH-121 (KAYAMGANJ-FARRUKHABAD ROAD)	FARRUKHABAD	REGULAR	100	OBC	CC	35	35	1225	32	12	BIDDING	30	4
173	BETWEEN KM STONE NO. 537 AND KM STONE NO. 539 ON EITHER SIDE OF NH-730C (FARRUKHABAD-MOHAMMADBAD ROAD)	FARRUKHABAD	REGULAR	180	OBC	CC	40	45	1800	32	12	BIDDING	30	4
174	ON ROAD CONNECTING ROHILA CHAURAHA TO NAWABGANJ (WITHIN MOHAMMADABAD MUNICIPAL LIMITS)	FARRUKHABAD	REGULAR	150	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
175	BETWEEN KM STONE NO. 68 AND KM STONE NO. 72 ON EITHER SIDE OF SH-163 (MOHAMMADABAD - BAHORIK PUR ROAD)	FARRUKHABAD	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
176	WITHIN 5 KM OF BAMBA CHAURAHA (OR BAMBA CROSSING) EITHER ON BACHCHU BABA BYPASS ROAD OR FIROZABAD KOTLA ROAD WITHIN MUNICIPAL LIMITS OF FIROZABAD	FIROZABAD	REGULAR	150	OPEN	DC	16	14	224	32	75	DRAW OF LOTS	15	5
177	BETWEEN MEERA CHAURAHA AND SAMVIDHAN NIRMATA CHAURAHA (FIROZABAD BYPASS CROSSING) EITHER ON OLD AGRA ROAD OR MAKHANPUR BAZAR ROAD, RHS FROM MEERA CHAURAHA TOWARDS MAKHANPUR VIA DABRAI DISTRICT COLLECTORATE	FIROZABAD	REGULAR	150	OPEN	DC	16	16	256	32	75	DRAW OF LOTS	15	5
178	WITHIN 3 KM OF KISHNI CHAURAHA SIRSAGANJ BYPASS CUT ON SH- 103, LHS FROM SIRSAGANJ TOWARDS KARHAL ( SIRSAGANJ-KARHAL ROAD)	FIROZABAD	REGULAR	180	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
179	WITHIN 10 KM OF ETAH CHAURAHA ON SH-85, RHS FROM SHIKOHABAD TOWARDS ETAH (SHIKOHABAD-ETAH ROAD)	FIROZABAD	REGULAR	140	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
180	BETWEEN TUNDLA CHAURAHA AND TUNDLA RAILWAY STATION ON TUNDLA RAILWAY STATION ROAD (TUNDLA-AWAGARH ROAD)	FIROZABAD	REGULAR	150	OPEN	DC	16	14	224	32	55	DRAW OF LOTS	15	5
181	BETWEEN ARAON CHAURAHA AND APMC MANDI SAMITI ON OLD AGRA-ETAWAH ROAD (WITHIN MUNICIPAL LIMITS OF SIRSAGANJ)	FIROZABAD	REGULAR	180	OPEN	СС	18	30	540	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M			pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
182	WITHIN 10 KM OF SETH M.R. JAIPURIA SCHOOL MAIN GATE (TOWARDS SIRSAGANJ) ON NH-19( AGRA-ETAWAH ROAD), BOTH SIDES	FIROZABAD	REGULAR	150	OBC	СС	40	40	1600	32	12	BIDDING	30	4
183	WITHIN 2 KM OF TUNDLA TOLL PLAZA (TOWARDS AGRA) ON NH-19 , LHS FROM FIROZABAD TOWARDS AGRA (AGRA-ETAWAH ROAD)	FIROZABAD	REGULAR	150	OPEN	CC	45	45	2025	32	12	BIDDING	30	5
	WITHIN 4 KM FROM TUNDLA TOLL PLAZA (TOWARDS FIROZABAD) ON NH-19, LHS FROM AGRA TOWARDS FIROZABAD (AGRA-ETAWAH ROAD)	FIROZABAD	REGULAR	150	OBC	СС	50	50	2500	32	12	BIDDING	30	4
185	WITHIN 3 KM OF TUNDLA TOLL PLAZA (TOWARDS FIROZABAD) ON NH-19 , RHS FROM AGRA TOWARDS FIROZABAD (AGRA-ETAWAH ROAD)	FIROZABAD	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
186	BETWEEN KM STONE NO. 242 AND KM STONE NO. 252 ON NEW FIROZABAD BYPASS SECTION OF NH-19, LHS FROM TUNDLA TOWARDS SHIKOHABAD (AGRA -ETAWAH ROAD)	FIROZABAD	REGULAR	400	OPEN	DC	40	45	1800	32	95	DRAW OF LOTS	15	5
187	BETWEEN KM STONE NO. 14 AND KM STONE NO. 17 ON SH-84, RHS FROM SHIKOHABAD TO MAINPURI (SHIKOHABAD-MAINPURI ROAD)	FIROZABAD	REGULAR	220	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
188	BETWEEN GUNJAN CHOWK AND GURAU TOLL PLAZA ON NH-19, RHS FROM SIRSAGANJ TOWARDS ETAWAH (AGRA-ETAWAH ROAD)	FIROZABAD	REGULAR	160	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
189	WITHIN 5 KM OF SIRSAGANJ PUBLIC SCHOOL, ON EITHER SIDE OF SIRSAGANJ PUBLIC SCHOOL, ON NH-19, LHS FROM AGRA TOWARDS ETAWAH (SHIKOHABAD-ETAWAH ROAD)	FIROZABAD	REGULAR	260	OPEN	DC	35	40	1400	32	95	DRAW OF LOTS	15	5
190	WITHIN 10 KM OF EITHER SIDE OF DEVBHUMI PUBLIC SCHOOL ON NH-19, LHS FROM FIROZABAD TOWARDS ETAWAH (ETAWAH-AGRA ROAD)	FIROZABAD	REGULAR	180	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
191	BETWEEN KM STONE NO. 236 AND KM STONE NO. 242 ON NEW FIROZABAD BYPASS SECTION OF NH-19, LHS FROM TUNDLA TOWARDS SHIKOHABAD (AGRA -ETAWAH ROAD)	FIROZABAD	REGULAR	150	OPEN	СС	40	40	1600	32	12	BIDDING	30	5
	BETWEEN KM STONE NO. 17 AND KM STONE NO. 19 ON SH-104, LHS FROM SHIKOHABAD TOWARDS BATESHWAR (SHIKOHABAD- BATESHWAR-BAH ROAD)	FIROZABAD	REGULAR	180	OPEN CC 1	DC	40	40	1600	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M	M.)/Area of 1.). *	Finance to I		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
193	BETWEEN KM STONE NO. 228 AND KM STONE NO. 236 ON NH-19, LHS FROM TUNDLA TOWARDS SHIKOHABAD (TUNDLA-SHIKOHABAD ROAD)	FIROZABAD	REGULAR	150	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO. 230 TO KM STONE NO. 240 ON NEW FIROZABAD BYPASS SECTION OF NH-19 (AGRA -ETAWAH ROAD), RHS FROM TUNDLA TOWARDS SHIKOHABAD	FIROZABAD	REGULAR	220	OPEN	CC	40	45	1800	32	12	BIDDING	30	5
	BETWEEN KM STONE NO. 240 TO KM STONE NO. 250 ON NEW FIROZABAD BYPASS SECTION OF NH-19 (AGRA -ETAWAH ROAD), RHS FROM TUNDLA TOWARDS SHIKOHABAD	FIROZABAD	REGULAR	220	OBC CC 1	DC	35	40	1400	32	95	DRAW OF LOTS	15	4
196	WITHIN MUNICIPAL LIMITS ON AGRA-HATHRAS-ALIGARH ROAD (OLD NH-509)	HATHRAS	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
197	WITHIN 4 KM FROM LPG BOTLING PLANT ( SALEMPUR) TOWARDS SIKANDRA RAO ON NH-530B (HATHRAS JUNCTION - SIKANDRA RAO ROAD)	HATHRAS	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
198	FROM RAILWAY CROSSING TOWRADS IGLAS ON IGLAS ROAD (WITHIN HATHRAS MUNICIPAL LIMITS)	HATHRAS	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
199	FROM AGSAULI POLICE CHOWKI TO HATHRAS BORDER TOWARDS KASGANJ ON NH-530B (SIKANDRARAO - KASGANJ ROAD)	HATHRAS	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
200	BETWEEN KM STONE NO. 185 AND KM STONE NO. 195 FROM ALIGARH TOWARDS ETAH, LHS ON NH-34 (ALIGARH-ETAH ROAD)	HATHRAS	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
201	HATHRAS BYPASS ON NH-509 (AGRA-ALIGARH ROAD)	HATHRAS	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
202	BETWEEN KM STONE NO. 168 AND KM STONE NO. 171 ON NH-509 ( AGRA- ALIGARH ROAD)	HATHRAS	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
203	BETWEEN KM STONE NO. 54 AND KM STONE NO. 56 ON SH-122 (SADABAD- JALESAR ROAD)	HATHRAS	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
204	BETWEEN KM STONE NO. 52 AND KM STONE NO. 59 ON NH-530B (MATHURA-BAREILLY ROAD)	HATHRAS	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
205	WITHIN 4 KM OF KISHNI TEHSIL MAIN GATE ON NH-234(OLD NH- 92),LHS FROM BEWAR TOWARDS ETAWAH (BEWAR-ETAWAH ROAD)	MAINPURI	REGULAR	200	OBC	CC	40	50	2000	32	12	BIDDING	30	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
206	BETWEEN MAINPURI-BHOGAON RAILWAY CROSSING AND BHOGAON CHC HOSPITAL ON SH-84, RHS FROM MAINPURI TOWARDS BHOGAON (BHOGAON-MAINPURI ROAD)	MAINPURI	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
207	BETWEEN KM STONE NO. 22 AND KM STONE NO. 24 ON SH-84, LHS FROM SHIKOHABAD TOWARDS MAINPURI (SHIKOHABAD-MAINPURI ROAD)	MAINPURI	REGULAR	180	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
208	BETWEEN KM STONE NO. 280 AND KM STONE NO. 290 ON NH-34, LHS FROM ETAH TOWARDS KANPUR (ETAH-KANPUR ROAD)	MAINPURI	REGULAR	220	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
209	WITHIN 3 KM OF KARHAL CHAURAHA ON SH-83, LHS FROM MAINPURI TO ETAWAH (MAINPURI-ETAWAH ROAD)	MAINPURI	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
210	WITHIN 4 KM OF NAVIGANJ NATIONAL HIGHWAY TOLL PLAZA (TOWARDS BEWAR) ON NH-34 , LHS FROM NAVIGANJ TOWARDS BEWAR (KANPUR-BEWAR ROAD)	MAINPURI	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
211	WITHIN 1 KM OF MAHARAJA TEJ SINGH CHAURAHA EITHER ON KACHERI ROAD OR SHIKOHABAD- MAINPURI-BHOGAON ROAD	MAINPURI	REGULAR	180	OBC	DC	25	20	500	32	55	DRAW OF LOTS	15	4
212	WITHIN 3 KM OF YADAV NAGAR CHAURAHA ON NH-234(OLD NH-92) , RHS FROM BEWAR TOWARDS ETAWAH ( BEWAR-ETAWAH ROAD)	MAINPURI	REGULAR	220	OBC	DC	35	40	1400	32	95	DRAW OF LOTS	15	4
213	WITHIN 1 KM OF GHIROR POLICE CHOWKI ON GHIROR-KARHAL ROAD WITHIN MUNICIPAL LIMITS OF GHIROR , LHS FROM GHIROR TOWARDS KARHAL	MAINPURI	REGULAR	100	OBC	CC	30	40	1200	32	12	BIDDING	30	4
214	BETWEEN KM STONE NO. 271 AND KM STONE NO. 280 ON NH-34, RHS FROM ETAH TOWARDS KANPUR (ETAH-KANPUR ROAD)	MAINPURI	REGULAR	190	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO. 289 AND KM STONE NO. 291 ON NH-19, LHS FROM SIRSAGANJ TOWARDS ETAWAH ( SIRSAGANJ-ETAWAH ROAD)	MAINPURI	REGULAR	220	OBC	DC	50	50	2500	32	95	DRAW OF LOTS	15	4
216	BETWEEN KISHNI CHAURAHA AND BIDHUNA ON SH-103(KISHNI- BIDHUNA ROAD), BOTH SIDES (WITHIN MAINPURI DISTRICT)	MAINPURI	REGULAR	120	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
217	BETWEEN KM STONE NO. 255 AND KM STONE NO. 265 ON NH-34 (ETAH-KANPUR ROAD), LHS FROM ETAH TOWARDS KANPUR	MAINPURI	REGULAR	180	OBC	DC	40	45	1800	32	95	DRAW OF LOTS	15	4
218	BETWEEN FARDPUR CHAURAHA AND KAYAM SINGH MAHAVIDAYALA ON SH-141 (MAINPURI-ALIGANJ-KUSMARA- SHAURIKH ROAD)	MAINPURI	REGULAR	220	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to I by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
219	BETWEEN SHAURIKH AND KUSMARA ON SH-141( SHAURIKH- KUSMARA-MAINPURI ROAD), BOTH SIDES( WITHIN MAINPURI DISTRICT)	MAINPURI	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
220	BETWEEN KM STONE NO. 243 AND KM STONE NO. 253 ON NH-34( ETAH-KANPUR ROAD), RHS FROM ETAH TOWARDS BEWAR	MAINPURI	REGULAR	180	OPEN CC 1	DC	40	45	1800	32	95	DRAW OF LOTS	15	5
221	BETWEEN KM STONE NO. 112 AND KD MEDICAL COLLEGE, LHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
222	BETWEEN KM STONE NO. 135 AND KM STONE NO. 142, LHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
223	FROM MAHUVAN TOLL PLAZA (FARAH) TOWARDS AGRA WITHIN MATHURA DISTRICT, ON LHS FROM DELHI TOWARDS AGRA ON NH- 19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
224	BETWEEN KM STONE NO. 107 AND KD MEDICAL COLLEGE, RHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
225	BETWEEN KM STONE NO. 76 AND KM STONE NO. 78 ON SH - 142 (JAJANPATTI-OL-FARAH ROAD)	MATHURA	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
226	BETWEEN MATHURA-HARYANA BORDER AND KM STONE NO. 97, LHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI- AGRA HIGHWAY	MATHURA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
227	BETWEEN KM STONE NO. 95 AND KM STONE NO. 105, RHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
228	BETWEEN KM STONE NO. 133 AND KM STONE NO. 142, RHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
229	WITHIN 3 KM OF BARSANA BUS STAND (BARSANA), ON NANDGAO- BARSANA-PALSON ROAD	MATHURA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
230	BETWEEN RAMTAL KUND AND HOTEL ANAND KRISHNA VAN, ON JAITH-SUNRAKH ROAD, VRINDAVAN	MATHURA	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. IV	M.)/Area of 1.). *	Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
231	UPTO 4 KM FROM GOVERDHAN CHAURAHA TOWARDS GOVERDHAN ON MATHURA-GOVERDHAN ROAD	MATHURA	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
232	BETWEEN KM STONE NO. 125 AND KM STONE NO. 134, LHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
233	FROM MASANI CHAURAHA (AGRASEN CHAURAHA) TO ATALLA CHUNGI, ON MATHURA-VRINDAVAN ROAD	MATHURA	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
	BETWEEN KM STONE NO. 152 TO MAHUVAN TOLL PLAZA (FARAH), LHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI- AGRA HIGHWAY	MATHURA	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
235	VRINDAVAN CITY WITHIN MUNICIPAL LIMITS, FROM PAGALBABA MANDIR TIRAHA TO CHHATIKARA CHAURAHA (VIA 100 FT ROAD)	MATHURA	REGULAR	100	OPEN	DC	18	18	324	32	55	DRAW OF LOTS	15	5
236	WITHIN 6 KM ON LINK ROAD FROM YAMUNA EXPRESSWAY VRINDAVAN CUT TOWARDS VRINDAVAN	MATHURA	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
237	UPTO 6 KM FROM MATHURA-BHARATPUR BORDER TOWARDS MATHURA, ON SH-33 (MATHURA-BHARATPUR ROAD)	MATHURA	REGULAR	150	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
238	BETWEEN GOVERDHAN CHAURAHA AND BHARATPUR GATE CHAURAHA (VIA BHUTESHWAR TIRAHA, STATEBANK CHAURAHA), MATHURA WITHIN MUNICIPAL LIMITS	MATHURA	REGULAR	100	OPEN	DC	16	16	256	32	55	DRAW OF LOTS	15	5
239	UP TO 5 KM FROM YAMUNA EXPRESSWAY CUT TOWARDS RAYA ON NH-530B (MATHURA-RAYA HIGHWAY)	MATHURA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
240	FROM KM STONE NO. 143 TO REFINERY TOWNSHIP TIRAHA, RHS FROM DELHI TOWARDS AGRA ON NH-19 (OLD NH-2) DELHI-AGRA HIGHWAY	MATHURA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
241	BETWEEN TANK CHAURAHA AND LAXMINAGAR TIRAHA, WITHIN MATHURA MUNICIPAL LIMITS	MATHURA	REGULAR	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
242	BETWEEN KM STONE NO. 62 AND KM STONE NO. 69 ON SH - 142 (JAJANPATTI-OL-FARAH ROAD)	MATHURA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
243	FROM MASANI CHAURAHA (AGRASEN CHAURAHA) TO GOKUL RESTAURANT MODE, ON MASANI ROAD (WITHIN MUNICIPAL LIMITS MATHURA)	MATHURA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. N	M.)/Area of l.). *	Finance to I		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
244	BETWEEN GOVERDHAN PLAZA (NEAR GIRIRAJ JI DANGHATI TEMPLE) AND MATHURA DISTRICT BORDER, ON GOVERDHAN-DEEG ROAD	MATHURA	REGULAR	100	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
245	UPTO 1 KM FROM RUKMANI VIHAR CHOWK, VRINDAVAN ( WITHIN MUNICIPAL LIMITS)	MATHURA	REGULAR	100	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
246	FROM BL INTERNATIONAL SCHOOL TOWARDS SKODA SHOWROOM, LHS, BAREILLY-RAMPUR ROAD (WITHIN MUNICIPAL LIMITS BAREILLY)	BAREILLY	REGULAR	150	OPEN	DC	18	18	324	32	75	DRAW OF LOTS	15	5
247	ON MAIN ROAD FATEHGANJ PASCHIM ( WITHIN NAGAR PANCHAYAT LIMITS FATEHGANJ PASCHIM)	BAREILLY	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
248	BETWEEN KM STONE NO. 311 AND KM STONE NO. 306 ON NH 30, FROM BAREILLY TOWARDS PILIBHIT, EITHER SIDE (BAREILLY-PILIBHIT ROAD)	BAREILLY	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
249	WITHIN 4 KM FROM NAVADIYA JHADA CHAURAHA TOWARDS LUCKNOW ON NH-30, LHS ON BAREILLY BADA BYEPASS	BAREILLY	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
250	BETWEEN KM STONE NO. 255 AND KM STONE NO. 260 ON NH 30, FROM BAREILLY TOWARDS SHAHJAHANPUR, LHS (BAREILLY-SHAHJAHANPUR ROAD)	BAREILLY	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
251	BETWEEN KM STONE NO. 240 AND KM STONE NO. 243 ON NH 530, FROM RAMPUR TOWARDS BAREILLY, LHS (RAMPUR-BAREILLY ROAD)	BAREILLY	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
252	BETWEEN POLICE KOTWALI FARIDPUR AND GOKUL DHAM RESIDENCY (ON OLD NH 24 ) (WITHIN MUNICIPAL LIMITS FARIDPUR)	BAREILLY	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
253	WITHIN 5 KM TO 9 KM FROM MAIN GATE OF SHRI RAM MURTI SMARAK COLLEGE OF ENGINEERING AND TECHNOLOGY TOWARDS NAINITAL ON SH-37 (BAREILLY-NAINITAL ROAD)	BAREILLY	REGULAR	100	OBC	CC	35	35	1225	32	12	BIDDING	30	4
254	ON MINI BYEPASS ROAD (WITHIN MUNICIPAL LIMITS BAREILLY)	BAREILLY	REGULAR	150	OPEN	DC	18	18	324	32	75	DRAW OF LOTS	15	5
255	BETWEEN LAL FATAK FLY OVER AND RAMGANGA BRIDGE ON NH 530B, EITHER SIDE (BAREILLY- BADAUN ROAD)	BAREILLY	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to I by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
	BETWEEN PUNJAB NATIONAL BANK AND ABDUL KAREEM DHARAM KANTA ON FARIDPUR-BISALPUR ROAD (WITHIN MUNICIPAL LIMITS FARIDPUR)	BAREILLY	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
257	BETWEEN BISALPUR CHOWK (ON PILIBHIT BYEPASS ROAD) AND BADA BYEPASS ON BISALPUR ROAD (WITHIN MUNICIPAL LIMITS BAREILLY)	BAREILLY	REGULAR	150	OBC	DC	18	18	324	32	75	DRAW OF LOTS	15	4
	WITHIN 2 KM FROM COMPETENT INDUSTRIAL PARK ON NH-30, FROM SHAHJAHANPUR TOWARDS BAREILLY, LHS (SHAHJAHANPUR- BAREILLY ROAD)	BAREILLY	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
259	WITHIN 3 KM FROM CHOWKI CHAURAHA ON ANY ROAD (WITHIN MUNICIPAL LIMITS BAREILLY)	BAREILLY	REGULAR	150	OPEN CC 2	DC	18	18	324	32	75	DRAW OF LOTS	15	5
260	ON SHERGARH-BAHERI ROAD (WITHIN NAGAR PANCHAYAT LIMITS SHERGARH)	BAREILLY	REGULAR	100	OBC CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	4
	BETWEEN SATELLITE BUS STAND AND CHOUPALA FLY OVER ON AYUB KHAN-CHOUPALA ROAD (WITHIN MUNICIPAL LIMITS BAREILLY)	BAREILLY	REGULAR	150	SC CC 1	CFS	18	18	324	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO. 283 AND KM STONE NO. 286 ON NH 530, FROM SHAHJAHANPUR TOWARDS BAREILLY, LHS (SHAHJAHANPUR-BAREILLY ROAD)	BAREILLY	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
	WITHIN 2 KM OF PREM PRAKASH INSTITUTE OF ENGINEERING AND MANAGEMENT ON NH30, FROM BAREILLY TOWARDS SHAHJAHANPUR, LHS (BAREILLY SHAHJAHANPUR ROAD)	BAREILLY	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
264	FROM DELHI PUBLIC SCHOOL TOWARDS C.B GANJ POLICE STATION, LHS, RAMPUR ROAD (WITHIN MUNICIPAL LIMITS BAREILLY)	BAREILLY	REGULAR	150	OBC	DC	18	18	324	32	75	DRAW OF LOTS	15	4
265	WITHIN NAGAR PANCHAYAT LIMITS RITHORA ON RITHORA- BHOJIPURA ROAD	BAREILLY	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
266	WITHIN 3 KM FROM SAMUDAYIK KENDRA CHHATUIA TOWARDS KACHHLA ON NH 530 B, RHS (UJHANI-KACHHLA ROAD)	BUDAUN	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
267	BETWEEN DISTRICT MAGISTRATE OFFICE GATE AND LAL PUL CHAURAHA ON KUTCHERY ROAD (WITHIN MUNICIPAL LIMITS BADAUN)	BUDAUN	REGULAR	100	OPEN	DC	18	18	324	32	55	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
268	ON UJHANI TO KACHHLA ROAD (WITHIN MUNICIPAL LIMITS UJHANI) (EXCLUDING NH)	BUDAUN	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
269	WITHIN 3 KM FROM CHANDRAPAL SINGH MEMORIAL SCHOOL SARKI TOWARDS KADARCHOWK ON SH 141, EITHER SIDE (BADAUN- KADARCHOWK ROAD)	BUDAUN	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
270	BETWEEN DATAGANJ TIRAHA AND NAWADA CHAURAHA ON PURANI CHUNGI BAREILLY ROAD (WITHIN MUNICIPAL LIMITS BADAUN)	BUDAUN	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
271	BETWEEN KM STONE NO. 167 AND KM STONE NO. 164 ON SH 18, FROM SAHASWAN TOWARDS GUNNAUR, EITHER SIDE ( SAHASWANGUNNAUR ROAD)	BUDAUN	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
272	BETWEEN KM STONE NO. 71 AND KM STONE NO. 67 ON SH 43, FROM BADAUN TOWARDS CHANDAUSI, EITHER SIDE (BADAUN- CHANDAUSI ROAD)	BUDAUN	REGULAR	100	OPEN CC 1	CC	35	35	1225	32	12	BIDDING	30	5
273	WITHIN 4 KM FROM PANCHAYAT BHAVAN RASOOLPUR PUTHI TOWARDS BADAUN ON NH 530 B, LHS (BAREILLY-BADAUN ROAD)	BUDAUN	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN ACE PG INSTITUTE OF MANAGEMENT AND TECHNOLOGY AND SANTOSH KUMARI JUNIOR HIGH SCHOOL ON NH 530B, FROM BADAUN TOWARDS UJHANI, LHS ( BADAUN-UJHANI ROAD)	BUDAUN	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
275	BETWEEN PRAMOD INTER COLLEGE AND BISAULI BUS STAND, SAHASWAN ON DARLING ROAD (WITHIN MUNICIPAL LIMITS SAHASWAN)	BUDAUN	REGULAR	100	OPEN	DC	18	18	324	32	55	DRAW OF LOTS	15	5
276	BETWEEN THAKUR RAVINDRA KALPANA SINGH INTER COLLEGE AND MALGAON RAILWAY CROSSING ON NH 530 B, FROM BAREILLY TOWARDS BADAUN, LHS (BAREILLY-BADAUN ROAD)	BUDAUN	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
277	BETWEEN KM STONE NO. 94 AND KM STONE NO. 87 ON SH 43, FROM BADAUN TOWARDS CHANDAUSI, EITHER SIDE ( BADAUN- CHANDAUSI ROAD)	BUDAUN	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO.185 AND KM STONE NO. 177 ON SH 18, FROM UJHANI TOWARDS GUNNAUR, EITHER SIDE ( UJHANI- GUNNAUR ROAD)	BUDAUN	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to I		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
279	ON DATAGANJ TO ANDHRAU ROAD (WITHIN MUNICIPAL LIMITS DATAGANJ)	BUDAUN	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
280	BETWEEN SANT PATHIK VIDYALAYA AND SAEL GODOWN ON SH 43, FROM BADAUN TOWARDS CHANDAUSI, EITHER SIDE (BADAUN- CHANDAUSI ROAD)	BUDAUN	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
281	BETWEEN KM STONE NO. 55 AND KM STONE NO. 58 ON SH 105, FROM KASGANJ TOWARDS ATARAULI, EITHER SIDE (KASGANJ- ATARAULI ROAD)	KASGANJ	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
282	ON SAHAWAR TO SORON ROAD (WITHIN NAGAR PANCHAYAT LIMITS SAHAWAR)	KASGANJ	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
283	BETWEEN BHITAUNA BIJLI GHAR (SUBSTATION) AND KAMLA HOSPITAL ON NH 530 B, FROM KASGANJ TOWARDS SORON, LHS (KASGANJ-SORON ROAD)	KASGANJ	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
284	BETWEEN TOLL GATE MUNDA PANDEY AND ZERO POINT (RAJKIRAN GROUP OF COLLEGE),ON NH 9 FROM RAMPUR TOWSRDS MORADABAD , LHS ( MORADABAD- RAMPUR ROAD)	MORADABAD	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
285	BETWEEN KM STONE NO. 151 AND KM STONE NO. 156 ON NH-9, FROM MORADABAD TOWARDS RAMPUR, LHS (MORADABAD- RAMPUR ROAD)	MORADABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
286	WITHIN MUNICIPAL LIMITS MORADABAD ON EITHER DELHI ROAD OR KANTH ROAD OR STATION ROAD	MORADABAD	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
287	BETWEEN KANTH RLY CROSSING AND UMRI CHAURAHA ON KANTH AMROHA ROAD (SH 145)	MORADABAD	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
288	WITHIN 5 KMS FROM SIRSWAN DORAHA TOWARDS THAKURDWARA ON NH 734, EITHER SIDE (ON MORADABAD- THAKURDWARA ROAD)	MORADABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
289	BETWEEN QUILA CHOURAHA AND DELHI ROAD ON KASHIRAM YOJANA ROAD (WITHIN MUNICIPAL LIMITS MORADABAD)	MORADABAD	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
290	BETWEEN KM STONE NO. 6 AND KM STONE NO. 9 ON NH 509, EITHER SIDE (MORADABAD-BABRALA ROAD)	MORADABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
291	BETWEEN RAMPUR TIRAHA AND HANUMAN MURTY WITHIN MORADABAD MUNICIPAL LIMITS	MORADABAD	REGULAR	150	OPEN	СС	20	20	400	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
292	BETWEEN KM STONE NO. 11 AND KM STONE NO. 14 ON SH 49, FROM MORADABAD TOWARDS CHHAJLET, LHS (MORADABAD- CHHAJLET ROAD)	MORADABAD	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
293	WITHIN 3 KM FROM ZERO POINT (RAJKIRAN GROUP OF COLLEGE) TOWARDS RAMPUR, LHS ON MORADABAD RAMPUR ROAD ( NH 9)	MORADABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
294	WITHIN 6 KMS FROM RAM MANOHAR LOHIYA PARK( THAKURDWARA) TOWARDS MORADABAD ON THAKURDWARA- MORADABAD ROAD (NH 734)	MORADABAD	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
295	VILLAGE GINDORA , ON PAGWARA- AGWANPUR ROAD ON SH 78	MORADABAD	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
296	WITHIN 4 KMS FROM MAHARANA PRATAP CHOWK BILARI TOWARDS SHAHABAD , EITHER SIDE ON BILARI - SAHABAD ROAD( SH 125)	MORADABAD	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
297	BETWEEN KM STONE NO. 13 AND KM STONE NO. 16 ON NH 730, FROM PILIBHIT TOWARDS POORANPUR, EITHER SIDE (PILIBHIT - POORANPUR ROAD)	PILIBHIT	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
298	BETWEEN KM STONE NO. 296 AND KM STONE NO. 300 ON NH-30, FROM BAREILLY TOWARDS PILIBHIT, LHS (BAREILLY - PILIBHIT ROAD)	PILIBHIT	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
299	WITHIN 4KM FROM THANA NEURIYA TOWARDS PILIBHIT ON NH 731K, EITHER SIDE (MAJHOLA-PILIBHIT ROAD)	PILIBHIT	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
300	WITHIN 4 KM OF ASSAM CHAURAHA (BANSURI CHAURAHA) TOWARDS SHAHJAHANPUR ON NH 731K , EITHER SIDE ( PILIBHIT- SHAHJAHANPUR ROAD)	PILIBHIT	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
301	ON ANY ROAD EXCLUDING NH AND SH, WITHIN MUNICIPAL LIMITS OF PURANPUR MUNICIPAL BOARD	PILIBHIT	REGULAR	100	OPEN	DC	18	18	324	32	55	DRAW OF LOTS	15	5
302	BETWEEN KM STONE NO. 33 AND KM STONE NO. 39 ON NH 730, EITHER SIDE ( PILIBHIT- POORANPUR ROAD)	PILIBHIT	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
303	BETWEEN KM STONE NO. 6 AND KM STONE NO. 9 ON SH162, EITHER SIDE (BEESALPUR-BILSANDA ROAD)	PILIBHIT	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
304	BETWEEN KM STONE NO. 55 AND KM STONE NO. 46 ON NH 730, EITHER SIDE (POORANPUR- KHUTAR ROAD )	PILIBHIT	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
305	BETWEEN RESERVE POLICE LINES AND NAVIN MANDI STHAL ON RAMPUR-SWAR- BAJPUR ROAD WITHIN MUNICIPAL LIMITS OF RAMPUR	RAMPUR	REGULAR	100	OPEN	CC	20	20	400	32	12	BIDDING	30	5
306	WITHIN 8 KM FROM SWAR CHAURAHA TOWARDS BAJPUR ON SH 144(SWAR - BAJPUR ROAD)	RAMPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
307	WITHIN 2 KM FROM CHAKU CHAURAHA TOWARDS BILASPUR, LHS ON NH 9 ( RAMPUR- BILASPUR ROAD)	RAMPUR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
308	BETWEEN KM STONE NO. 22 AND KM STONE NO.25 ON NH 9 FROM RUDRAPUR TOWARDS RAMPUR, LHS (RAMPUR -RUDRAPUR ROAD )	RAMPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
309	BETWEEN KM STONE NO. 21 AND KM STONE NO.25 ON NH 9 FROM RUDRAPUR TOWARDS RAMPUR, RHS (RAMPUR -RUDRAPUR ROAD )	RAMPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
310	BETWEEN KM STONE NO 8 AND KM STONE NO 11 ON SH 144, EITHER SIDE ( RAMPUR- SHAHABAD ROAD)	RAMPUR	REGULAR	100	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
311	WITHIN 3 KM FROM BLOOMING DEALS PUBLIC SCHOOL ,DIBDIBA ON LHS FROM RUDRAPUR TOWARDS KASHIPUR ON NH 74 ( RUDRAPUR - KASHIPUR ROAD)	RAMPUR	REGULAR	150	OPEN PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
312	BETWEEN THANA GANJ RAMPUR AND MASJID HAJI GULAM HAIDAR ON DOMEHLA ROAD WITHIN MUNICIPAL LIMITS OF RAMPUR	RAMPUR	REGULAR	100	OBC	CC	20	20	400	32	12	BIDDING	30	4
313	BETWEEN POLICE CHAUKI MURSENA AND BANI MARRIAGE HALL, KHOD ON SH 144, EITHER SIDE ( RAMPUR- SWAR- BAZPUR ROAD)	RAMPUR	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
314	WITHIN 3 KMS FROM TANDA BANSHIDHAR CHAURAHA, RAMPUR TOWARDS SHAHABAD ON SHAHABAD AONLA ROAD ON SH 125	RAMPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
315	BETWEEN KM STONE NO 202 AND KM STONE NO 206,ON NH 530 FROM RAMPUR TOARDS BAREILLY, LHS (RAMPUR-BAREILLY ROAD)	RAMPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
316	WITHIN RAMPUR MUNICIPAL LIMITS ON ANY ROAD WITH WIDTH NOT LESS THAN 7 MTR	RAMPUR	REGULAR	100	OBC	CC	20	20	400	32	12	BIDDING	30	4
317	BETWEEN KM STONE NO 183 AND KM STONE NO 187,ON NH 530 FROM RAMPUR TOWARDS BAREILLY, RHS (RAMPUR -BAREILLY ROAD)	RAMPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
318	WITHIN 6 KM FROM POLICE CHOWKI CHAUDHARY SARAI TOWARDS GAWAN ON SH 148 (SAMBHAL GAWAN ROAD)	SAMBHAL	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
319	BETWEEN KM STONE NO 158 AND KM STONE NO 162 ON SH 18, EITHER SIDE (GUNNOUR- BADAUN ROAD)	SAMBHAL	REGULAR	100	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
320	BETWEEN KM STONE NO 66 AND KM STONE NO 69 ON NH 509 FROM MORADABAD TOWARDS BABRALA, LHS ( CHANDAUSI- BABRALA ROAD)	SAMBHAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1 371	BETWEEN KM STONE NO 91 AND KM STONE NO 95 ON NH 509 , EITHER SIDE (MORADABAD- ALIGARH ROAD)	SAMBHAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
322	BETWEEN KM STONE NO 86 AND KM STONE NO 89 ON SH 51, EITHER SIDE (SAMBHAL - BAHJOI ROAD)	SAMBHAL	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO 52 AND KM STONE NO 55 ON NH 509 FROM MORADABAD TOWARDS BABRALA, LHS ( CHANDAUSI- BABRALA ROAD)	SAMBHAL	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
324	BETWEEN KM STONE NO 19 AND KM STONE NO 22 ON SH 148, EITHER SIDE ( MORADABAD- SAMBHAL ROAD )	SAMBHAL	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
325	WITHIN SAMBHAL MUNICIPAL LIMITS ON ANY ROAD WITH WIDTH NOT LESS THAN 7 MTR	SAMBHAL	REGULAR	100	OPEN	СС	20	20	400	32	12	BIDDING	30	5
	WITHIN 3 KM FROM VILLAGE LIMITS OF VILLAGE THARIA ON SH 43, FROM FARRUKHABAD TOWARDS BADAUN, LHS (FARRUKHABAD-BADAUN ROAD)	SHAHJAHANPU R	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
327	WITHIN 6 KM FROM BLOCK SIKHSHA SANSADHAN KENDRA JALALABAD TOWARDS SHAHJAHANPUR ON SH 29 , EITHER SIDE (JALALABAD -SHAHJAHANPUR ROAD )	Shahjahanpu R	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
328	BETWEEN BARKHERA JAIPAL CHAURAHA AND KHAIRPUR CHAURAHA ON NH730C, EITHER SIDE (BAREILLY-JALALABAD ROAD)	Shahjahanpu R	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
329	ON MAIN ROAD FROM ANTA CHAURAHA TOWARDS KERUGANJ WITHIN MUNICIPAL LIMITS OF SHAHJAHANPUR	SHAHJAHANPU R	REGULAR	100	OPEN	DC	17	17	289	32	55	DRAW OF LOTS	15	5
330	WITHIN 6 KM FROM KATRA CHAURAHA TOWARDS SHAHJAHANPUR ON NH 30 , EITHER SIDE (BAREILLY -SHAHJAHANPUR ROAD)	Shahjahanpu R	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		,	pplicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
331	WITHIN 2KM OF VILLAGE LIMITS OF VILLAGE PIPARIYA, ON SH 93, EITHER SIDE (SHAHJAHANPUR- MOHAMMADI ROAD)	Shahjahanpu R	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
332	BETWEEN KM STONE NO. 3 AND KM STONE NO. 9 ON NH 731K , FROM SHAHJAHANPUR TOWARDS NIGOHI, EITHER SIDE (SHAHJAHANPUR-NIGOHI ROAD)	Shahjahanpu R	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
333	WITHIN 2 KM FROM PRATHMIK VIDYALAYA RAJAU, VIKAS KSHTERA SINDHAULI TOWARDS POWAYAN ON NH 731, EITHER SIDE (SHAHJAHANPUR - POWAYAN ROAD )	Shahjahanpu R	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
334	BETWEEN KM STONE NO. 307 AND KM STONE NO. 314 ON NH 30, FROM BAREILLY TOWARDS SHAHJAHANPUR, EITHER SIDE (BAREILLY SHAHJAHANPUR ROAD)	Shahjahanpu R	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
335	BETWEEN VILLAGE LIMITS OF VILLAGE JAMUHI AND VILLAGE ATSALIYA ON NH 30, EITHER SIDE (SITAPUR-BAREILLY ROAD)	Shahjahanpu R	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
336	BETWEEN BAREILLY MOD CHAURAHA AND SUMITRA DS MOTORS(MARUTI SUZUKI ARENA) ON NH 30, EITHER SIDE (BAREILLY SITAPUR ROAD)	Shahjahanpu R	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
337	BETWEEN ALLAGANJ TIRAHA AND HULLAPUR CHAURAHA ON NH 730C, EITHER SIDE (BAREILLY-FARRUKHABAD ROAD)	Shahjahanpu R	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
338	BETWEEN KM STONE 152 AND KM STONE 160, RHS TOWARDS TANDA ON NH 28 (AZAMGARH - TANDA ROAD, OLD NH 233)	AMBEDKAR NAGAR	REGULAR	150	OBC	СС	35	35	1225	32	12	BIDDING	30	4
339	WITHIN AKBARPUR NAGAR PALIKA PARISHAD LIMITS, FROM SANGHATIYA TIRAHA TO DISTRICT JAIL ON AKBARPUR - SHAHGANJ ROAD	AMBEDKAR NAGAR	REGULAR	150	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5
340	WITHIN NAGAR PALIKA PARISHAD LIMITS JALALPUR, ON JALALPUR - MALIPUR ROAD	AMBEDKAR NAGAR	REGULAR	100	SC	CFS	16	14	224	0	0	DRAW OF LOTS	0	3
341	BETWEEN KM STONE 130 AND KM STONE 135, LHS FROM LUCKNOW TOWARDS GORAKHPUR, ON NH-27 (OLD NH-28)	AYODHYA	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
342	BETWEEN KM STONE 132 AND KM STONE 120, LHS FROM AYODHYA TOWARDS SULTANPUR ON NH 330	AYODHYA	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
343	WITHIN MUNICIPAL LIMITS OF AYODHYA ON DEOKALI - BHEEKHAPUR ROAD	AYODHYA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
344	BETWEEN KM STONE 70 AND KM STONE 78, LHS FROM LUCKNOW TOWARDS GORAKHPUR ON NH-27 (OLD NH-28)	AYODHYA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a	•	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
345	BETWEEN KM STONE NO 93 AND KM STONE NO 98, RHS,FROM LUCKNOW TOWARDS GORAKHPUR ON NH-27 (OLD NH 28)	AYODHYA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
346	BETWEEN KM STONE NO 89 AND KM STONE NO 92,LHS, FROM LUCKNOW TOWARDS GORAKHPUR ON NH 27 (OLD NH 28)	AYODHYA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
347	VILLAGE- KATROULI ON AYODHYA RING ROAD	AYODHYA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
348	BETWEEN KM STONE NO 96 AND KM STONE NO 98, LHS FROM LUCKNOW TOWARDS GORAKHPUR ON NH 27 (OLD NH 28)	AYODHYA	REGULAR	150	OPEN	DC	40	50	2000	32	95	DRAW OF LOTS	15	5
349	WITHIN MUNICIPAL LIMITS OF AYODHYA ON MODAHA CHAURAHA- MAUSHIVALA ROAD	AYODHYA	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
350	WITHIN MUNICIPAL LIMITS OF AYODHYA ON NAKA- MAQBARA ROAD	AYODHYA	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
351	BETWEEN KM STONE NO 112 AND KM STONE NO 116, LHS, FROM LUCKNOW TOWARDS GORAKHPUR ON NH-27 (OLD NH 28),	AYODHYA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
352	BETWEEN KM STONE NO 78 AND KM STONE NO 83, RHS FROM LUCKNOW TOWARDS GORAKHPUR ON NH-27 (OLD NH-28)	AYODHYA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
353	BETWEEN KM STONE 98 & KM STONE 102, LHS, FROM AYODHYA TOWARDS RAE BARELI ON NH 330A	AYODHYA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
354	BETWEEN KM STONE 85 & KM STONE 88, LHS, FROM LUCKNOW TOWARDS GORAKHPUR ON NH-27(OLD NH-28)	AYODHYA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
355	BETWEEN KM STONE 31 & KM STONE 33 , LHS FROM COLONELGANJ TOWARDS HUZOORPUR ON SH 155	BAHRAICH	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
356	BETWEEN KM STONE 222 AND KM STONE 220 , LHS FROM BAHRAICH TOWARDS LAKHIMPUR ON NH 730	BAHRAICH	REGULAR	150	OPEN PH	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
357	WITHIN 2 KMS FROM DONAKKA-TIRAHA BAHRAICH TOWARDS GILAULA ON NH 730	BAHRAICH	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
358	BETWEEN KM STONE 140 & KM STONE 145, LHS, FROM NANPARATOWARDS RUPAIDIHA ON NH 927	BAHRAICH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
359	BETWEEN KM STONE 19 AND KM STONE 21, LHS FROM GONDA TOWARDS BAHRAICH ON SH30	BAHRAICH	REGULAR	100	OPEN	DC	40	45	1800	32	75	DRAW OF LOTS	15	5
360	BETWEEN KM STONE 25 AND KM STONE 23 , LHS FROM GONDA TOWARDS BAHRAICH ON SH30	BAHRAICH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
361	BETWEEN KM STONE 222 & KM STONE 220, RHS FROM BAHRAICH TOWARDS LAKHIMPUR ON NH 730	BAHRAICH	REGULAR	150	OPEN	DC	50	40	2000	32	95	DRAW OF LOTS	15	5
362	BETWEEN KM STONE 206 & KM STONE 203, LHS FROM BAHRAICH TOWARDS LAKHIMPUR ON NH 730	BAHRAICH	REGULAR	150	OPEN	DC	50	40	2000	32	95	DRAW OF LOTS	15	5
363	BETWEEN KM STONE 101 & KM STONE 103, LHS, FROM BAHRAICH TOWARDS NANPARA ON NH 927	BAHRAICH	REGULAR	150	OPEN	DC	55	40	2200	32	95	DRAW OF LOTS	15	5
364	WITHIN 4 KM FROM BHARAULI TIRAHA TOWARDS GAZIPUR ON EITHER SIDE OF NH 31(BALLIA- GAZIPUR ROAD)	BALLIA	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
365	BETWEEN KM STONE 360 AND KM STONE 363 ON EITHER SIDE OF NH 128B ( RASRA- BALLIA ROAD)	BALLIA	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
	WITHIN 4 KM FROM SUKHPURA CHAURAHA TOWARDS BALLIA ON NH-727B (BALLIA -SIKANDARPUR ROAD)	BALLIA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
2/7	BETWEEN KM STONE 515 AND KM STONE 520 ON EITHER SIDE OF NH 31 (BALLIA-MANJHI GHAT ROAD)	BALLIA	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
368	BETWEEN KM STONE 8 AND KM STONE 10 ON EITHER SIDE OF SH 108(NAGRA-RASRA ROAD)	BALLIA	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
369	WITHIN BALLIA MUNICIPAL LIMITS ON ANY ROAD WIDTH MORE THAN 7 METER	BALLIA	REGULAR	100	OBC	СС	20	20	400	32	12	BIDDING	30	4
370	VILLAGE MIDDHA ON EITHER SIDE OF SH107(BALLIA- GARWAR ROAD )	BALLIA	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
3/1	WITHIN NAGAR PANCHAYAT CHITBARAGAON ON ANY ROAD WIDTH MORE THAN 7 METER	BALLIA	REGULAR	100	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
	BETWEEN KM STONE 70 & KM STONE 74, LHS FROM BELAHA TOWARDS GAURA CHAURAHA ON SH 159	BALRAMPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
272	BETWEEN KM STONE NO 312 AND KM STONE NO 314, LHS FROM SHRAVASTI TOWARDS BALRAMPUR ON NH 730	BALRAMPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
374	BETWEEN PHULWARIA BYPASS CHAURAHA AND MAIN GATE OF BALRAMPUR CHINI MILLS LIMITED, ON NH330 (BALRAMPUR- GONDA ROAD, OLD SH1A )	BALRAMPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
375	WITHIN GAIGHAT NAGAR PANCHAYAT LIMITS, ON RAM JANKI ROAD	BASTI	REGULAR	150	OBC	DC	30	30	900	32	95	DRAW OF LOTS	15	4
376	BETWEEN KM STONE 18 AND KM STONE 23 ON SH 160 (RUDHAULI - BAKHIRA ROAD)	BASTI	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M			applicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
377	BETWEEN KM STONE 143 AND KM STONE 151, WITHIN BASTI DISTRICT ON NH 27 (BASTI- LUCKNOW ROAD, OLD NH 28)	BASTI	REGULAR	180	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
378	BETWEEN FUBBARA TIRAHA AND BASTI DISTRICT HOSPITAL VIA MALVIYA ROAD OR GANDHI NAGAR ROAD, WITHIN BASTI NAGAR PALIKA PARISHAD LIMITS	BASTI	REGULAR	100	OPEN	DC	16	14	224	32	55	DRAW OF LOTS	15	5
379	BETWEEN KM STONE 110 AND KM STONE 114, LHS TOWARDS TANDA ON NH 28 (BASTI -TANDA ROAD)	BASTI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
380	BETWEEN KM STONE 185 AND KM STONE 187, RHS TOWARDS GORAKHPUR ON NH 27 (LUCKNOW - GORAKHPUR ROAD, OLD NH 28)	BASTI	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
381	BETWEEN KM STONE 5 AND KM STONE 12 ON NH 227A (RAM-JANKI ROAD)	BASTI	REGULAR	150	OPEN CC 1	СС	35	35	1225	32	12	BIDDING	30	5
382	BETWEEN KATRA POLICE CHOWKI, BADEBAN AND MANAURI CHAURAHA ON NH 28 (BASTI - BANSI ROAD, OLD NH 233)	BASTI	REGULAR	160	OBC CC 1	CC	35	35	1225	32	12	BIDDING	30	4
383	WITHIN 4 KM FROM BHARTHUA CHOWK TOWARDS SALEMPUR ON NH 727A (DEORIA- SALEMPUR ROAD)	DEORIA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
384	WITHIN 3KMS FROM BARHAJ TEHSIL OFFICE TOWARDS KAPARWAR ON EITHER SIDE OF NH 227A( RAMJANKI ROAD)	DEORIA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
385	WITHIN 4 KM FROM GOURI BAZAR CHOWK TOWARDS GORAKHPUR ON EITHER SIDE OF NH 727A(GORAKHPUR-DEORIA ROAD)	DEORIA	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
386	WITHIN MADANPUR NAGAR PANCHAYAT ON SH111(RUDARPUR- BARHAJ ROAD)	DEORIA	REGULAR	100	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
387	WITHIN BHALUWANI NAGAR PANCHAYAT LIMITS ON ANY ROAD WIDTH MORE THAN 6 METER	DEORIA	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
388	WITHIN DEORIA MUNICIPAL LIMITS ON ANY ROAD WIDTH MORE THAN 6 METER	DEORIA	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
389	WITHIN BHATNI NAGAR PANCHAYAT ON BHARTHUHA-BHATNI- MUSAHRI ROAD (BHATNI BY PASS)	DEORIA	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
390	BETWEEN KM STONE 34 AND KM STONE 36 ON EITHER SIDE OF SH111 (GAURI BAZAR- HATA ROAD)	DEORIA	REGULAR	100	OPEN CC 1	CC	35	35	1225	32	12	BIDDING	30	5
391	WITHIN 2 KM FROM MAIL BAZAR CHAURAHA TOWARDS BARHAJ, LHS ON NH 227A(RAM JANKI MARG )	DEORIA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a	•	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
392	BETWEEN KM STONE 162 AND KM STONE 158, LHS, FROM GONDA TOWARDS AYODHYA ON NH 330	GONDA	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
393	BETWEEN KM STONE NO 208 AND KM STONE NO 211, ON SH1A (NEW NH330B), RHS, FROM GONDA TOWARDS LUCKNOW	GONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
394	BETWEEN KM STONE NO 168 AND KM STONE NO 166 ON SH1A (NEW NH330) ,FROM GONDA TO BALRAMPUR, EITHER SIDE	GONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
395	VILLAGE DUTTNAGAR TEHSIL COLONELGANJ ON SH 155, (COLONELGANJ - HUZOORPUR ROAD)	GONDA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
396	BETWEEN KM STONE 210 AND 214 ON SH1A (NEW NH330B), LHS, FROM GONDA TOWARDS LUCKNOW	GONDA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
397	BETWEEN KM STONE 180 & KM STONE 184, ON EITHERSIDE OF NH 330 (GONDA- AYODHYA ROAD)	GONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
398	BETWEEN NAUSAD TIRAHA AND BAGHAGADA CROSSING, ON LHS TOWARDS VARANASI ON GORAKHPUR VARANASI ROAD	GORAKHPUR	REGULAR	200	OBC	СС	30	35	1050	32	12	BIDDING	30	4
399	WITHIN 8 KM FROM MADAPAR TIRAHA, LHS TOWARDS KUSHINAGAR ON NH-27	GORAKHPUR	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
400	WITHIN 5 KM FROM BAGHAGADA CROSSING, RHS TOWARDS VARANASI, ON NH-24 (GORAKHPUR - VARANASI ROAD)	GORAKHPUR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
401	WITHIN 7 KM FROM MADAPAR TIRAHA, RHS TOWARDS LUCKNOW ON NH-27 (GORAKHPUR BYPASS ROAD)	GORAKHPUR	REGULAR	200	OBC	СС	35	35	1225	32	12	BIDDING	30	4
402	BETWEEN PADRI BAZAAR CHOWK AND KAUWA BAGH POLICE CHOWKI, ON JAIL BYPASS ROAD, GORAKHPUR	GORAKHPUR	REGULAR	150	OPEN	DC	16	14	224	32	75	DRAW OF LOTS	15	5
403	BETWEEN MOHADDIPUR CHOWK AND GAUTAM GURUNG TIRAHA, ON MOHADDIPUR- GORAKHPUR AIRPORT ROAD	GORAKHPUR	REGULAR	150	OPEN	DC	16	14	224	32	75	DRAW OF LOTS	15	5
404	WITHIN 5 KM FROM BAGHAGADA CROSSING, LHS TOWARDS VARANASI, ON NH-24 (GORAKHPUR - VARANASI ROAD)	GORAKHPUR	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
405	BETWEEN BARGADWA POLICE CHOWKI AND JUNGLE KAUDIA BYPASS JUNCTION CIRCLE ON GORAKHPUR-SONAULI ROAD	GORAKHPUR	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
406	BETWEEN HOTEL SAVVY GANGES AND JATASHANKAR CHOWK ON HOTEL BOBINA ROAD, GORAKHPUR	GORAKHPUR	REGULAR	150	OPEN	DC	16	14	224	32	75	DRAW OF LOTS	15	5
407	WITHIN 2 KM ON EITHER SIDE OF "PRIMARY SCHOOL, CHAUTISA, BADHALGANJ AREA", ON NH-24 (GORAKHPUR-VARANASI ROAD)	GORAKHPUR	REGULAR	150	OBC	СС	35	35	1225	32	12	BIDDING	30	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
408	WITHIN 3 KM FROM MOTIRAM ADDA CHAURAHA TOWARDS DEORIA ON EITHER SIDE OF NH727A(GORAKHPUR- DEORIA ROAD)	GORAKHPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
409	WITHIN 2 KM FROM GORAKHNATH THANA ON GORAKHNATH- NAKAHA-SPORTS COLLEGE ROAD	GORAKHPUR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
410	FROM MAHARANA PRATAP CHOWK (NEAR GORAKHPUR RAILWAY STATION) TO KAUWABAGH UNDERPASS, GORAKHPUR	GORAKHPUR	REGULAR	150	OPEN	DC	16	14	224	32	75	DRAW OF LOTS	15	5
411	WITHIN 5 KM FROM PATNA CHAURAHA, BADHALGANJ TOWARDS DEORIA ON NH-227A (BADHALGANJ-DEORIA ROAD)	GORAKHPUR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
412	WITHIN 7 KM FROM MADAPAR TIRAHA, LHS TOWARDS LUCKNOW ON NH-27 (GORAKHPUR BYPASS ROAD)	GORAKHPUR	REGULAR	200	OBC CC 1	CC	35	35	1225	32	12	BIDDING	30	4
413	VILLAGE-BADGO, TEHSIL- SADAR ON GORAKHPUR TRANSPORT NAGAR CHAURAHA- MALAUNI BANDH ROAD	GORAKHPUR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
414	WITHIN 4 KM ON EITHER SIDE OF "PURV MADHYAMIK VIDYALAYA, GAGAHA",ON NH-24 (GORAKHPUR-VARANASI ROAD)	GORAKHPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
415	BETWEEN MOHADDIPUR CHOWK AND NAUSAD TIRAHA, GORAKHPUR	GORAKHPUR	REGULAR	150	OBC	DC	16	14	224	32	75	DRAW OF LOTS	15	4
416	FROM SHAHID ASHFAQ ULLAH KHAN PRANI UDYAN TO SUBABAZAR TIRAHA ON DEORIA BYPASS ROAD, GORAKHPUR	GORAKHPUR	REGULAR	150	OBC	DC	16	14	224	32	75	DRAW OF LOTS	15	4
417	BETWEEN KM STONE NO 570 & KM STONE NO 575 ON NH 730(PADRAUNA-DUDHI-TAMKUHI ROAD)	KUSHINAGAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
418	WITHIN 3 KM FROM SUBHASH CHOWK PADRAUNA TOWARDS DUDAHI ON PADRAUN-DUDAHI ROAD	KUSHINAGAR	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
419	BETWEEN KM STONE 311 AND KM STONE 316 , RHS, FROM GORAKHPUR TOWARDS KUSHINAGAR ON NH 27	KUSHINAGAR	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
420	BETWEEN KM STONE 3 AND KM STONE 6 ON EITHERISDE OF SH111 (KAPTANGANJ- NAURANGIA ROAD)	KUSHINAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
421	BETWEEN KM STONE 319 AND KM STONE 324,LHS FROM GORAKHPUR TOWARDS TAMKUHI RAJ ON NH 27	KUSHINAGAR	REGULAR	150	OPEN	CC	40	45	1800	32	12	BIDDING	30	5
422	WITHIN 2 KM FROM GANDHI CHOWK KASYA TOWARDS PADRAUNA ON KASYA-PADRAUNA ROAD	KUSHINAGAR	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
423	WITHIN 2 KM FROM VILLAGE RAKBA RAJA TOWARDS TAMKUHI RAJ ON NH-727 B (PANCHDEORI -TAMKUHIRAJ ROAD)	KUSHINAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		by the a	pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
424	BETWEEN KM STONE 293 AND KM STONE 297,LHS FROM GORAKHPUR TOWARDS TAMKUHI RAJ ON NH 27.(KUSHINAGAR DISTRICT ONLY)	KUSHINAGAR	REGULAR	150	OPEN	DC	40	45	1800	32	95	DRAW OF LOTS	15	5
425	WITHIN SEWRAHI NAGAR PANCHAYAT ON SEWRAHI -TAMKUHI RAJ ROAD	KUSHINAGAR	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
426	BETWEEN KM STONE NO. 304 AND KM STONE 307, LHS, FROM GORAKHPUR TOWARDS TAMKUHI RAJ ON NH27	KUSHINAGAR	REGULAR	150	OBC	CC	40	45	1800	32	12	BIDDING	30	4
427	WITHIN MATHAULI NAGAR PANCHAYAT ON ANY ROAD WIDTH MORE THAN 7 METER	KUSHINAGAR	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
428	BETWEEN KM STONE 361 AND KM STONE 365 ON EITHER SIDE OF NH 27( KUSHINAGAR- GOPALGANJ ROAD)	KUSHINAGAR	REGULAR	150	OPEN	DC	40	45	1800	32	95	DRAW OF LOTS	15	5
429	WITHIN 3 KM ON EITHER SIDE OF "SBI S.M.E BRANCH, MAHARAJGANJ" ON NH-730 (MAHARAJGANJ-PARTAWAL ROAD)	MAHARAJGANJ	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
430	BETWEEN KM STONE 480 & 482, EITHER SIDE OF NH-730 (PHARENDA MAHARAJGANJ ROAD)	MAHARAJGANJ	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
431	ON PANIYARA-KHUTAHA ROAD, WITHIN NAGAR PANCHAYAT LIMITS OF PANIYARA	MAHARAJGANJ	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
432	BETWEEN KM STONE 23 AND KM STONE 25, ON NEW KOLHUI BYPASS, PHARENDA TO SONAULI ROAD	MAHARAJGANJ	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
433	WITHIN 2 KM FROM PARTAWAL MAIN CHOWK TOWARDS KAPTANGANJ, ON PARTAWAL-KAPTANGANJ ROAD	MAHARAJGANJ	REGULAR	150	OBC	CC	30	30	900	32	12	BIDDING	30	4
434	WITHIN 2 KM FROM DISTRICT HOSPITAL-MAHARAJGANJ, RHS TOWARDS PHARENDA ON NH-730 (MAHARAJGANJ- PHARENDA ROAD)	MAHARAJGANJ	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
435	BETWEEN SOUTH PHARENDA BYPASS JUNCTION AND NORTH PHARENDA BYPASS JUNCTION, ON PHARENDA BYPASS ROAD (NH- 24)	MAHARAJGANJ	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
436	WITHIN 2 KM FROM MAUPAKAD CHAURAHA, MAHARAJGANJ, TOWARDS CHOWK ON MAHARAJGANJ-CHOWK ROAD	MAHARAJGANJ	REGULAR	100	OPEN PH	DC	20	20	400	32	55	DRAW OF LOTS	15	5
437	BETWEEN KM STONE 15 AND KM STONE 21, LHS TOWARDS MEHDAWAL ON NH 328 (BASTI - MEHDAWAL ROAD)	SANT KABIR NAGAR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
438	WITHIN KHALILABAD NAGAR PALIKA PARISHAD LIMITS, ON MEHDAWAL - KHALILABAD-DHANGHATA ROAD	SANT KABIR NAGAR	REGULAR	150	OBC	DC	30	30	900	32	95	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M			be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
439	BETWEEN KM STONE 28 AND KM STONE 32 ON NH 328A (KHALILABAD - DHANGHATA ROAD)	SANT KABIR NAGAR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
440	WITHIN MEHDAWAL NAGAR PANCHAYAT LIMITS, ON ANY MOTORABLE ROAD MORE THAN 7 METER WIDTH	SANT KABIR NAGAR	REGULAR	100	OBC	DC	16	14	224	32	55	DRAW OF LOTS	15	4
441	BETWEEN KM STONE 236 AND KM STONE 242, RHS TOWARDS GORAKHPUR, ON NH-27 (LUCKNOW-GORAKHPUR ROAD)	SANT KABIR NAGAR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
442	BETWEEN KM STONE 18 AND KM STONE 20, RHS FROM BAHRAICH TOWARDS BHINGA ON SH 96	SHRAVASTI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
443	BETWEEN KM STONE NO 35 AND KM STONE NO 37, ON EITHER SIDE OF SH 156, (BAHRAICH - KAKARDARI ROAD)	SHRAVASTI	REGULAR	150	OBC	СС	35	35	1225	32	12	BIDDING	30	4
444	BETWEEN KM STONE 395 AND 399, RHS TOWARDS BARHNI ON NH 730 (SHOHRATGARH - BARHNI ROAD)	SIDDHARTH NAGAR	REGULAR	160	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
445	BETWEEN KM STONE 56 AND KM STONE 66 WITHIN SIDDHARTH NAGAR DISTRICT ON NH 28 (BASTI-KAKRAHWA ROAD)	SIDDHARTH NAGAR	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
446	WITHIN DUMARIYAGANJ NAGAR PANCHAYAT, ON DUMARIYAGANJ TIRAHA-BHADARIA ROAD OR DUMARIYAGANJ TIRAHA - BEWA CHAURAHA ROAD	SIDDHARTH NAGAR	REGULAR	100	OBC	DC	16	14	224	32	55	DRAW OF LOTS	15	4
447	BETWEEN KM STONE 25 AND KM STONE 40 ON NH 28 (BASTI - BANSI ROAD)	SIDDHARTH NAGAR	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
448	WITHIN BARHNI NAGAR PANCHAYAT, ON NH 730 (DHEBARUA - BALRAMPUR HIGHWAY)	SIDDHARTH NAGAR	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
449	WITHIN 1 KM FROM JESEEJ CHAURAHA ON MINIMUM 5.5 METRE WIDE ROAD (WITHIN MUNICIPAL LIMITS OF AURAIYA)	AURAIYA	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
450	WITHIN 5 KILOMETRES FROM BIDHUNA CHAURAHA TOWARDS BELA ON NH-234, LHS	AURAIYA	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
451	BETWEEN KM STONE NO. 380 AND KM STONE NO. 390 ON NH-19 FROM ETAWAH TOWARDS KANPUR, ON RHS	AURAIYA	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
452	BETWEEN KM STONE NO. 359 AND KM STONE NO. 364 ON NH-19 FROM ETAWAH TOWARDS KANPUR ON ETAWAH-KANPUR ROAD, LHS	AURAIYA	REGULAR	250	OPEN	СС	40	40	1600	32	12	BIDDING	30	5
453	WITHIN 5 KILOMETRES ON EITHER SIDE OF JANTA INTER COLLEGE, KAKOR ON DIBIYAPUR-AURAIYA ROAD, SH-21	AURAIYA	REGULAR	150	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
454	BETWEEN KM STONE NO. 45 AND KM STONE NO. 35 ON NH-234 FROM ETAWAH TOWARDS KISHNI ON ETAWAH-KISHNI ROAD.	ETAWAH	REGULAR	250	OBC CC 1	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
455	WITHIN 5 KILOMETRES FROM MANIKPUR MOD TOWARDS UDI ON SUNWARA BYPASS, LHS	ETAWAH	REGULAR	250	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
456	BETWEEN KM STONE NO. 15 AND KM STONE NO. 22 ON SH-83, ETAWAH-MAINPURI ROAD.	ETAWAH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
457	BETWEEN KM STONE NO. 345 AND KM STONE NO. 350 ON NH-19 FROM ETAWAH TOWARDS KANPUR ON ETAWAH-KANPUR ROAD, RHS	ETAWAH	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
458	BETWEEN KM STONE NO. 294 AND KM STONE NO. 309 ON NH-19 FROM ETAWAH TOWARDS KANPUR ON ETAWAH-KANPUR ROAD, RHS	ETAWAH	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
459	BETWEEN KM STONE NO. 325 AND KM STONE NO. 335 ON NH-19 FROM ETAWAH TOWARDS KANPUR ON ETAWAH-KANPUR ROAD, LHS	ETAWAH	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
460	WITHIN 5 KILOMETRES FROM PARASANI CHAURAHA, ETAWAH ON SH-62,ETAWAH-BAH ROAD.	ETAWAH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
461	BETWEEN KM STONE NO. 306 AND KM STONE NO. 311 ON NH-19 FROM ETAWAH TOWARDS KANPUR ON ETAWAH-KANPUR ROAD,LHS	ETAWAH	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
462	FROM OLD YAMUNA BRIDGE TOWARDS MANIKPUR MOD ON SUNWARA BYPASS, LHS	ETAWAH	REGULAR	250	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
463	BETWEEN KM STONE NO. 7 AND KM STONE NO. 10 ON SH-83, ETAWAH-MAINPURI ROAD.	ETAWAH	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
464	WITHIN 2 KILOMETRES OF ETAWAH SADAR TEHSIL OFFICE (WITHIN MUNICIPAL LIMITS ETAWAH)	ETAWAH	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
465	WITHIN 2 KILOMETRES FROM ITI CHAURAHA ETAWAH TOWARDS MAINPURI ON SH-83 ETAWAH-MAINPURI ROAD, RHS	ETAWAH	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
466	BETWEEN YAMUNA BRIDGE AND CHAMBAL BRIDGE ON NH-719 (OLD NH-92), ETAWAH - BHIND ROAD.	ETAWAH	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
467	FROM BETWA BRIDGE TO JUNIOR HIGH SCHOOL KUNDAURA, ON NH- 34 (OLD NH-86) ON KANPUR-KABRAI HIGHWAY	HAMIRPUR	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to I by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
468	WITHIN MUNICIPAL LIMITS RATH, HAMIRPUR ON MINIMUM 5.5 METRE WIDE ROAD	HAMIRPUR	REGULAR	100	OPEN	СС	20	20	400	32	12	BIDDING	30	5
469	BETWEEN KM STONE NO. 22 AND KM STONE NO. 32 ON SH-42, JHANSI-MIRJAPUR HIGHWAY	HAMIRPUR	REGULAR	150	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
470	FROM JUNIOR HIGH SCHOOL KUNDAURA TO VILLAGE NARAYANPUR, ON NH-34 (OLD NH-86) ON KANPUR-KABRAI HIGHWAY	HAMIRPUR	REGULAR	250	OPEN	CC	40	40	1600	32	12	BIDDING	30	5
471	BETWEEN KM STONE NO. 60 AND KM STONE NO. 63 ON SH-42 (JHANSI-MIRJAPUR HIGHWAY)	HAMIRPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
472	WITHIN MUNICIPAL LIMITS HAMIRPUR, ON MINIMUM 5.5 METRE WIDE ROAD	HAMIRPUR	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
473	BETWEEN KM STONE NO. 1534 AND KM STONE NO. 1525 ON NH-27 FROM KANPUR TOWARDS ORAI ON KANPUR-ORAI ROAD, LHS	JALAUN	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
474	BETWEEN KM STONE NO. 17 AND KM STONE NO. 22 ON SH-70 FROM JALAUN TOWARDS MIHONA ON JALAUN-MAHOI ROAD, LHS	JALAUN	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
475	BETWEEN KM STONE NO. 1470 AND KM STONE NO. 1480 ON NH-27 FROM JHANSI TOWARDS KALPI ON JHANSI-KANPUR ROAD, RHS	JALAUN	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
476	FROM KM STONE NO. 29 UPTO VILLAGE- MAHOI ON SH-70, GOPALPURA - MIHONA ROAD, EITHER SIDE (ONLY IN U.P.)	JALAUN	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
477	BETWEEN SUJANPUR TIRAHA AND JUNIOR HIGH SCHOOL, BARKHERA ON SH-91	JALAUN	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
478	WITHIN 3 KILOMETRES FROM ORAI POLYTECHNIC TOWARDS NH-27 ON ORAI BYPASS, LHS	JALAUN	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
479	BETWEEN KM STONE NO. 1 AND KM STONE NO. 3 ON SH-70 FROM JALAUN TOWARDS BANGRA ON JALAUN-BANGRA ROAD.	JALAUN	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
480	BETWEEN KM STONE NO. 339 AND KM STONE NO. 341 ON SH-21 FROM AURAIYA TOWARDS JALAUN ON JALAUN-AURAIYA ROAD.	JALAUN	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
481	BETWEEN KM STONE NO. 1515 AND KM STONE NO. 1505 ON NH-27 FROM JHANSI TOWARDS KALPI ON JHANSI-KANPUR ROAD.	JALAUN	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
482	WITHIN MUNICIPAL LIMITS, SAMTHAR - ON ANY ROAD WITH WIDTH GREATER THAN 5.5 METRES	JHANSI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
483	WITHIN 12 KILOMETRES FROM MOON INTERNATIONAL PUBLIC SCHOOL, JHANSI TOWARDS KANPUR ON NH-27, JHANSI-KANPUR ROAD, RHS	JHANSI	REGULAR	200	OPEN CC 1	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
484	WITHIN MUNICIPAL LIMITS- JHANSI, UPTO 7 KILOMETRES FROM NATRAJ SAROVAR PORTICO HOTEL JHANSI TOWARDS NANDANPURA ON ELITE CHAURAHA-NANDANPURA ROAD	JHANSI	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
485	WITHIN MUNICIPAL LIMITS- JHANSI CITY,FROM HOTEL SHEELA SHREE PLAZA TO SUN INTERNATIONAL SCHOOL, LHS	JHANSI	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
486	WITHIN MUNICIPAL LIMITS- JHANSI CITY, UPTO 15 KILOMETRES FROM JAIL CHAURAHA TOWARDS BIJAULI (IN UP STATE ONLY)	JHANSI	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
487	FROM POLICE THANA BADAGAON TO SEMRI TOLL PLAZA ON NH-27 (EXCLUDING LAND UNDER OVERBRIDGE), JHANSI-KANPUR ROAD, LHS	JHANSI	REGULAR	250	OPEN CC 1	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
488	WITHIN 6 KILOMETRES FROM MAHATMA JYOTIRAO PHULE TIRAHA TOWARDS AMBABAI ON NH-44, JHANSI-AMBABAI ROAD, LHS	JHANSI	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
489	WITHIN 15 KILOMETRES FROM LUHARI TOLL PLAZA TOWARDS MAURANIPUR ON NH-39, JHANSI - MAURANIPUR ROAD, LHS	JHANSI	REGULAR	250	OBC CC 1	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
490	WITHIN 8 KILOMETRES FROM RAKSHA TOLL PLAZA TOWARDS KANPUR, ON NH-27 SHIVPURI-KANPUR ROAD, RHS	JHANSI	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
491	WITHIN 6 KILOMETRES FROM CHIRULA-AMBABAI BORDER TOWARDS JHANSI ON NH-44, AMBABAI-JHANSI ROAD, RHS	JHANSI	REGULAR	250	OPEN	CC	40	40	1600	32	12	BIDDING	30	5
492	WITHIN MUNICIPAL LIMITS, MAURANIPUR - ON ANY ROAD WITH WIDTH GREATER THAN 7 METRES	JHANSI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
493	WITHIN 8 KILOMETRES FROM RAKSHA TOLL PLAZA TOWARDS KANPUR, ON NH-27 SHIVPURI-KANPUR ROAD, LHS	JHANSI	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
494	WITHIN 5 KILOMETRES FROM RAKSHA TOLL PLAZA TOWARDS SHIVPURI ON NH-27, JHANSI-SHIVPURI ROAD, LHS	JHANSI	REGULAR	250	OPEN	CC	40	40	1600	32	12	BIDDING	30	5
495	WITHIN 12 KILOMETRES FROM MOON INTERNATIONAL PUBLIC SCHOOL, JHANSI TOWARDS JHANSI ON NH-27, KANPUR-JHANSI ROAD	JHANSI	REGULAR	250	OBC	CC	40	40	1600	32	12	BIDDING	30	4
496	WITHIN 15 KILOMETRES FROM DEORI DAM TOWARDS MAURANIPUR ON NH-39, NOWGONG-JHANSI ROAD, LHS	JHANSI	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
497	WITHIN 9 KILOMETRES FROM BETWA RIVER BRIDGE TOWARDS JHANSI ON NH-39, MAURANIPUR-JHANSI ROAD (IN UP STATE ONLY)	JHANSI	REGULAR	250	OPEN CC 1	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
498	WITHIN 12 KILOMETRES FROM MOON INTERNATIONAL PUBLIC SCHOOL, JHANSI TOWARDS KANPUR ON NH-27, JHANSI-KANPUR ROAD	JHANSI	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
499	FROM POLICE THANA BADAGAON TO SEMRI TOLL PLAZA ON NH-27 (EXCLUDING LAND UNDER OVERBRIDGE), JHANSI-KANPUR ROAD, RHS	JHANSI	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
500	ON ANY ROAD WITH WIDTH GREATER THAN 5.5 METRES (WITHIN MUNICIPAL LIMITS - BARUASAGAR)	JHANSI	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
	WITHIN 10 KILOMETRES FROM MAHATMA JYOTIRAO PHULE TIRAHA TOWARDS KANPUR ON NH-27(EXCLUDING LAND UNDER OVERBRIDGE), JHANSI-KANPUR ROAD	JHANSI	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
502	BETWEEN KM STONE NO. 104 AND KM STONE NO. 106 ON SH-131, MAURANIPUR-JATARA ROAD	JHANSI	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
503	WITHIN 15 KILOMETRES FROM BABINA TOLL PLAZA TOWARDS JHANSI ON NH-44, LALITPUR-JHANSI ROAD, RHS	JHANSI	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
504	WITHIN 15 KILOMETRES FROM LUHARI TOLL PLAZA TOWARDS MAURANIPUR ON NH-39, JHANSI - MAURANIPUR ROAD, RHS	JHANSI	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
505	BETWEEN KM STONE NO. 5 AND KM STONE NO. 10 ON NH-44, JHANSI - LALITPUR ROAD	JHANSI	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
506	WITHIN 10 KILOMETRES FROM LUHARI TOLL PLAZA TOWARDS JHANSI ON NH-39, JHANSI - MAURANIPUR ROAD, RHS	JHANSI	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
507	WITHIN 12 KILOMETRES FROM SEMRI TOLL PLAZA TOWARDS KANPUR ON NH-27, JHANSI-KANPUR ROAD, RHS	JHANSI	REGULAR	250	OBC	CC	40	40	1600	32	12	BIDDING	30	4
508	WITHIN 10 KILOMETRES FROM LUHARI TOLL PLAZA TOWARDS JHANSI ON NH-39, JHANSI - MAURANIPUR ROAD, LHS	JHANSI	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
509	WITHIN 12 KILOMETRES FROM SEMRI TOLL PLAZA TOWARDS KANPUR ON NH-27, JHANSI-KANPUR ROAD, LHS	JHANSI	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
510	WITHIN 15 KILOMETRES FROM BABINA TOLL PLAZA TOWARDS JHANSI ON NH-44, LALITPUR-JHANSI ROAD, LHS	JHANSI	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		,	pplicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
511	WITHIN 5 KILOMETRES OF RAJKIYA ENGINEERING COLLEGE, KANNAUJ ON NH-234.	KANNAUJ	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
512	BETWEEN KM STONE NO. 339 AND KM STONE NO. 344 ON NH-34, CHHIBRAMAU TO KANNAUJ ROAD.	KANNAUJ	REGULAR	250	OBC	CC	40	40	1600	32	12	BIDDING	30	4
513	BETWEEN KM STONE 123 AND KM STONE 120 TOWARDS BILGRAM ON NH-330D, KANNAUJ-HARDOI ROAD	KANNAUJ	REGULAR	150	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
514	FROM MANIMAU POLICE CHOWKI, MANIMAU UPTO KM STONE NO. 373 ON NH-34 TOWARDS KANPUR, LHS	KANNAUJ	REGULAR	250	SC PH	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
515	WITHIN 5 KILOMETRES FROM PAL CHAURAHA TOWARDS CHHIBRAMAU ON NH-34, LHS	KANNAUJ	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
516	BETWEEN KM STONE NO. 315 AND KM STONE NO. 320 ON NH-34, CHHIBRAMAU TO KANNAUJ ROAD.	KANNAUJ	REGULAR	150	OPEN	CC	40	40	1600	32	12	BIDDING	30	5
517	BETWEEN KM STONE NO. 390 AND KM STONE NO. 400 ON NH-19 (OLD NH-2), FROM AURAIYA TOWARDS BARAJOD ON AURAIYA BARAJOD ROAD, LHS	Kanpur Dehat	REGULAR	250	OPEN CC 1	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
1 518	WITHIN 3 KM FROM BARAJOD TOLL PLAZA TOWARDS RANIA ON NH- 19, LHS	Kanpur Dehat	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
1 510	BETWEEN KM STONE NO. 5 AND KM STONE NO. 7 ON SH-68, CHAUBEPUR -SHIVLI ROAD, RHS	Kanpur Dehat	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
520	BETWEEN KM STONE NO. 29 AND KM STONE NO. 26 ON SH-68, SHIVLI - RASOOLABAD ROAD	Kanpur Dehat	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1 521	BETWEEN KM STONE NO. 1565 AND KM STONE NO. 1570 ON NH-27, FROM KANPUR TOWARDS JHANSI ON KANPUR-JHANSI ROAD.	Kanpur Dehat	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
1 577	BETWEEN MATI CHAURAHA AND DISTRICT MAGISTRATE RESIDENCE ON MATI AKBARPUR ROAD	KANPUR DEHAT	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
523	WITHIN MUNICIPAL LIMITS- KANPUR NAGAR, ON ANY ROAD WITH WIDTH GREATER THAN 5.5 METRES	KANPUR NAGAR	REGULAR	200	OPEN CC 2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
524	BETWEEN KM STONE NO. 507 AND KM STONE NO. 499 ON NH-19, FROM PRAYAGRAJ TOWARDS KANPUR ON PRAYAGRAJ-KANPUR ROAD, LHS	KANPUR NAGAR	REGULAR	250	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
525	BETWEEN KM STONE NO. 398 AND KM STONE NO. 394 ON NH-34, FROM KANNAUJ TOWARDS KANPUR ON KANNAUJ-KANPUR ROAD, RHS	KANPUR NAGAR	REGULAR	200	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to I		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
526	FROM GURUDEV PALACE CHAURAHA (GT ROAD) TO GANGA BARRAGE ON ZOO ROAD, WITHIN MUNICIPAL CORPORATION, KANPUR NAGAR	KANPUR NAGAR	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
527	BETWEEN KM STONE NO. 398 AND KM STONE NO. 394 ON NH-34, FROM KANNAUJ TOWARDS KANPUR ON KANNAUJ-KANPUR ROAD, LHS	KANPUR NAGAR	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
528	BETWEEN KM STONE NO. 404 AND KM STONE NO. 410 ON NH-34, ON KANNAUJ-KANPUR ROAD	KANPUR NAGAR	REGULAR	250	OPEN CC 1	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
529	BETWEEN KM STONE NO. 386 AND KM STONE NO. 388 ON NH-34, FROM KANNAUJ TOWARDS KANPUR ON KANNAUJ-KANPUR ROAD,LHS	KANPUR NAGAR	REGULAR	250	OBC	CC	40	40	1600	32	12	BIDDING	30	4
530	BETWEEN KM STONE NO. 386 AND KM STONE NO. 388 ON NH-34, FROM KANNAUJ TOWARDS KANPUR ON KANNAUJ-KANPUR ROAD, RHS	KANPUR NAGAR	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
531	BETWEEN RAJ MAHAL GUEST HOUSE, KATHERUA AND PATARA ON NH-34 (OLD NH-86) ON KANPUR-HAMIRPUR HIGHWAY	KANPUR NAGAR	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
532	WITHIN 2 KILOMETRES OF DPS BARRA SCHOOL, KANPUR NAGAR, ON MINIMUM 5 METRE WIDE ROAD	KANPUR NAGAR	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
533	FROM SUNNY TOYOTA SHOWROOM, ROOMA TO AXIS COLLEGE, ROOMA ON NH-19 FROM KANPUR TOWARDS PRAYAGRAJ ON KANPUR-PRAYAGRAJ ROAD,LHS	KANPUR NAGAR	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
534	BETWEEN KM STONE NO. 503 AND KM STONE NO. 506 ON NH-19, FROM PRAYAGRAJ TOWARDS KANPUR ON PRAYAGRAJ-KANPUR ROAD, LHS	KANPUR NAGAR	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
535	WITHIN 1 KILOMETRE OF ESCORT WORLD SCHOOL, KESHAVPURAM, KANPUR NAGAR, ON MINIMUM 7 METRE WIDE ROAD	KANPUR NAGAR	REGULAR	150	OBC	CC	18	18	324	32	12	BIDDING	30	4
536	BETWEEN KM STONE NO. 453 AND KM STONE NO. 449 ON NH-19, FROM ETAWAH TOWARDS KANPUR ON ETAWAH-KANPUR ROAD, LHS	KANPUR NAGAR	REGULAR	250	OPEN	CC	40	40	1600	32	12	BIDDING	30	5
537	JAJMAU, KANPUR NAGAR, ON MINIMUM 5 METRE WIDE ROAD (WITHIN MUNICIPAL LIMITS- KANPUR NAGAR)	KANPUR NAGAR	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to I by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
538	BETWEEN KM STONE NO. 500 AND KM STONE NO. 510 ON NH-19, FROM KANPUR TOWARDS PRAYAGRAJ ON KANPUR-PRAYAGRAJ ROAD, LHS	KANPUR NAGAR	REGULAR	250	OPEN CC 2	CC	35	35	1225	32	12	BIDDING	30	5
539	NEW TRANSPORT NAGAR PHASE II, WITHIN MUNICIPAL LIMITS KANPUR CITY ON MINIMUM 5.5 METRE WIDE ROAD	KANPUR NAGAR	REGULAR	150	OPEN	СС	18	18	324	32	12	BIDDING	30	5
540	WITHIN 10 KM FROM NAUBASTA CHAURAHA ON NH-34 ON KANPUR HAMIRPUR ROAD	KANPUR NAGAR	REGULAR	250	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
541	WITHIN MUNICIPAL LIMITS KANPUR NAGAR, JARAULI PHASE 2, ON MINIMUM 5.5 METRES WIDE ROAD	KANPUR NAGAR	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
542	WITHIN MUNICIPAL LIMITS KANPUR NAGAR, NEW TRANSPORT NAGAR PHASE III, ON MINIMUM 5.5 METRE WIDE ROAD	KANPUR NAGAR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
543	BETWEEN BIDHNU THANA AND RAJ MAHAL GUEST HOUSE, KATHERUA ON NH-34 (OLD NH-86) ON KANPUR-HAMIRPUR HIGHWAY	KANPUR NAGAR	REGULAR	250	OBC	СС	40	40	1600	32	12	BIDDING	30	4
544	WITHIN MUNICIPAL LIMITS KANPUR NAGAR, ON ANY ROAD WITH WIDTH GREATER THAN 5.5 METRES IN SHYAM NAGAR.	KANPUR NAGAR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
545	WITHIN MUNICIPAL LIMITS KANPUR NAGAR, ON ANY ROAD WITH WIDTH GREATER THAN 5.5 METRE IN YASHODA NAGAR	KANPUR NAGAR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
546	WITHIN MUNICIPAL LIMITS KANPUR NAGAR, ON ANY ROAD WITH WIDTH GREATER THAN 5.5 METRES IN INDIRA NAGAR.	KANPUR NAGAR	REGULAR	150	OBC	СС	20	20	400	32	12	BIDDING	30	4
547	WITHIN MUNICIPAL LIMITS KANPUR NAGAR, ON ANY ROAD WITH WIDTH GREATER THAN 5.5 METRES IN DAHELI SUJANPUR, KANPUR	KANPUR NAGAR	REGULAR	150	SC	CFS	18	18	324	0	0	DRAW OF LOTS	0	3
548	WITHIN 2 KM OF GHANTAGHAR CHAURAHA, KANPUR NAGAR, ON MINIMUM 5 METRE WIDE ROAD	KANPUR NAGAR	REGULAR	150	OPEN	DC	16	16	256	32	75	DRAW OF LOTS	15	5
549	WITHIN MUNICIPAL LIMITS- KANPUR NAGAR, ON ANY ROAD WITH WIDTH GREATER THAN 7 METRES	KANPUR NAGAR	REGULAR	150	OPEN CC 1	DC	16	16	256	32	75	DRAW OF LOTS	15	5
550	WITHIN MUNICIPAL LIMITS KANPUR NAGAR, BETWEEN HARI MASJID AND BARRA BYPASS CHAURAHA, ON MINIMUM 5.5 METRE WIDE ROAD	KANPUR NAGAR	REGULAR	150	OBC	CC	20	20	400	32	12	BIDDING	30	4
551	WITHIN MUNICIPAL LIMITS- KANPUR NAGAR, ON MINIMUM 5.5 METRES WIDE ROAD	KANPUR NAGAR	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M			be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
552	WITHIN 1 KM ON EITHER SIDE OF CHAKARPUR MANDI, KANPUR NAGAR ON NH-19	KANPUR NAGAR	REGULAR	250	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5
553	BETWEEN RAMA DEVI CHAURAHA AND JAJMAU POLICE CHOWKI THANA, KANPUR NAGAR	KANPUR NAGAR	REGULAR	200	OPEN	CC	20	20	400	32	12	BIDDING	30	5
554	BETWEEN JUGUL PALACE CINEMA, KRISHNA NAGAR, KANPUR AND CHAKERI AIRPORT, KANPUR NAGAR (WITHIN MUNICIPAL LIMITS KANPUR)	KANPUR NAGAR	REGULAR	150	OPEN	DC	18	18	324	32	75	DRAW OF LOTS	15	5
555	BETWEEN CHAKERI TO NARVAL MOD ON NH-19, KANPUR - PRAYAGRAJ ROAD, KANPUR NAGAR	KANPUR NAGAR	REGULAR	250	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
556	WITHIN MUNICIPAL LIMITS KANPUR NAGAR, FROM KASHIRAM CHAURAHA TO SAZARI TIRAHA ON SAZARI-CHAKERI ROAD	KANPUR NAGAR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
557	WITHIN 7 KILOMETRES FROM KM STONE NO. 131 TOWARDS SAGAR ON NH-44, LALITPUR-SAGAR ROAD, RHS	LALITPUR	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
558	WITHIN 7 KILOMETRES FROM KM STONE NO. 131 TOWARDS SAGAR ON NH-44, LALITPUR-SAGAR ROAD, LHS	LALITPUR	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
559	WITHIN 15 KILOMETRES FROM VIGHAKHET TOLL PLAZA TOWARDS JHANSI ON NH-44, LALITPUR-SAGAR ROAD	LALITPUR	REGULAR	250	OPEN PH	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
560	WITHIN 19 KILOMETRES FROM KM STONE NO. 110 TOWARDS MALTHONE ON NH-44, LALITPUR-SAGAR ROAD, RHS	LALITPUR	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
561	WITHIN 15 KILOMETRES FROM VIGHAKHET TOLL PLAZA TOWARDS MALTHONE ON NH-44, LALITPUR-SAGAR ROAD, RHS	LALITPUR	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
562	WITHIN 19 KILOMETRES FROM KM STONE NO. 110 TOWARDS MALTHONE ON NH-44, LALITPUR-SAGAR ROAD, LHS	LALITPUR	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
563	WITHIN 15 KILOMETRES FROM BETWA RIVER BRIDGE TOWARDS LALITPUR ON NH-44, JHANSI-LALITPUR ROAD	LALITPUR	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
564	WITHIN MUNICIPAL LIMITS - MAHOBA, ON ANY ROAD WITH WIDTH GREATER THAN 7 METRES	МАНОВА	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
565	WITHIN 10 KILOMETRES FROM SHIRSHIKALAN TOLL PLAZA(MAHOBA) TOWARDS KABRAI ON NH-35, BANDA-MAHOBA ROAD, LHS	МАНОВА	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
566	FROM POLICE STATION SRINAGAR(MAHOBA) TO HOTEL HUNDRED PALMS ON NH-34, CHHATARPUR-MAHOBA ROAD, RHS	МАНОВА	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
567	FROM POLICE STATION KHANNA(MAHOBA) TO POLICE STATION KABRAI(MAHOBA) ON NH-34, MAHOBA - KANPUR ROAD	МАНОВА	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
568	BETWEEN KM STONE NO 108 AND KM STONE NO 115, ON NH-34 (KANPUR SAGAR HIGHWAY)	МАНОВА	REGULAR	250	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
	FROM POLICE STATION SRINAGAR(MAHOBA) TO URMIL RIVER BRIDGE ON NH-34 , MAHOBA - CHATARPUR ROAD	МАНОВА	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
570	WITHIN 10 KILOMETRES FROM TOLL PLAZA MAHOBKANTH (MAHOBA) TOWARDS HARPALPUR ON NH-339, HARPALPUR - MAHOBA ROAD, LHS	МАНОВА	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
571	WITHIN MUNCIPAL LIMITS - UNNAO, WITHIN 2 KM FROM CHOTA CHAURAHA RAILWAY CROSSING TOWARDS KABBA KHERA TIRAHA ON LOK NAGAR ROAD	UNNAO	REGULAR	100	OPEN	CC	20	20	400	32	12	BIDDING	30	5
572	BETWEEN KM STONE NO. 44 AND KM STONE NO. 46 ON NH-27(OLD NH-25) FROM LUCKNOW TOWARDS KANPUR ON LUCKNOW KANPUR ROAD, LHS	UNNAO	REGULAR	250	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
573	BETWEEN KM STONE NO. 61 AND KM STONE NO. 69 ON SH-40, FROM MOHAN TOWARDS BANGERMAU ON MOHAN-BANGERMAU ROAD, LHS	UNNAO	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
574	WITHIN NAGAR PANCHAYAT LIMITS PURWA, MOHANLALGANJ MAURAWAN PURWA UNNAO ROAD	UNNAO	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
575	TRANS GANGA CITY ON SH 58, SHANKARPUR SARAI ON KANPUR UNNAO ROAD	UNNAO	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
576	BETWEEN KM STONE NO. 2 AND KM STONE NO. 5 ON SH 165, FROM PURWA TO PATAN ON PURWA PATAN ROAD, RHS	UNNAO	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
577	BETWEEN KM STONE NO. 35 AND KM STONE NO. 43 ON NH 232 (OLD NH-31), FROM UNNAO TOWARDS RAEBARELI ON UNNAO- RAEBARELI ROAD, LHS	UNNAO	REGULAR	250	OBC	СС	40	40	1600	32	12	BIDDING	30	4
578	LUCKNOW BYPASS TIRAHA IN AVAS VIKAS COLONY TO IBP CHOURAHA, FROM KANPUR TOWARDS LUCKNOW ON KANPUR- LUCKNOW ROAD, RHS	UNNAO	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
579	BETWEEN KM STONE NO. 7 AND KM STONE NO. 10 ON SH-58 FROM UNNAO TOWARDS SHUKLAGANJ ON UNNAO-SHUKLAGANJ ROAD, LHS	UNNAO	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
580	BETWEEN KM STONE NO. 54 AND KM STONE NO. 57 ON SH-38, FROM UNNAO TOWARDS BANGERMAU ON UNNAO-BANGERMAU ROAD, RHS	UNNAO	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
581	WITHIN 2 KM FROM AKWABAD CHOURAHA ON NH 232 (OLD NH- 31), UNNAO-RAEBARELI ROAD, LHS	UNNAO	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
582	BETWEEN KM STONE NO. 61 AND KM STONE NO. 63 ON SH-40, FROM MOHAN TOWARDS BANGERMAU ON MOHAN-BANGERMAU ROAD, RHS	UNNAO	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
583	FROM MG COLLEGE OF ARTS AND SCIENCE, UNNAO TOWARDS SUMERPUR TIRAHA ON NH 232 (OLD NH-31)	UNNAO	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
584	BETWEEN KM STONE NO. 8 AND KM STONE NO. 10 ON SH 165, FROM PURWA TO PATAN, ON PURWA PATAN ROAD, RHS	UNNAO	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
585	BETWEEN KM STONE NO. 30 AND KM STONE NO. 40 ON NH-27(OLD NH-25), FROM LUCKNOW TOWARDS KANPUR ON LUCKNOW KANPUR ROAD	UNNAO	REGULAR	250	SC PH	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
586	BETWEEN KM STONE NO. 71 AND KM STONE NO. 75 ON SH-38, FROM BANGERMAU TOWARDS UNNAO ON BANGERMAU-UNNAO ROAD, LHS	UNNAO	REGULAR	150	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
587	WITHIN MUNICIPAL LIMITS - UNNAO, WITHIN 5 KM FROM MARAHLA CHOURAHA TO AZAD MARG CHAURAHA, UNNAO	UNNAO	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
588	WITHIN HAIDERGARH MUNICIPALITY AREA ON NH 731, HAIDERGARH,BARABANKI	BARABANKI	REGULAR	150	OPEN	CC	30	30	900	32	12	BIDDING	30	5
589	WITHIN HAIDERGARH MUNICIPALITY AREA (OTHER THAN NH 731) , HAIDERGARH,BARABANKI	BARABANKI	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
590	BETWEEN KM STONE NO. 1 AND KM STONE NO. 6 ON NH 927 BARABANKI - RAMNAGAR - BAHRAICH ROAD, FROM BARABANKI TOWARDS BAHRAICH, ON EITHER SIDE	BARABANKI	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
591	BETWEEN KM STONE NO. 20 AND KM STONE NO. 22, ON SH 172 LUCKNOW - KURSI ROAD, FROM LUCKNOW TOWARDS KURSI, RHS	BARABANKI	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
592	BETWEEN KM STONE NO. 33 AND KM STONE NO. 38 ON NH 727 H FATEHPUR - MAHMOODABAD ROAD, ON EITHER SIDE	BARABANKI	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
593	WITHIN MUNICIPAL LIMITS OF BARABANKI	BARABANKI	REGULAR	150	OBC	CC	20	20	400	32	12	BIDDING	30	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
594	BETWEEN KM STONE NO. 20 AND KM STONE NO. 24 ON NH 27 LUCKNOW - FAIZABAD ROAD, FROM LUCKNOW TOWARDS FAIZABAD LHS	BARABANKI	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
595	BETWEEN KM STONE NO. 28 AND KM STONE NO. 40, ON NH 27 LUCKNOW - FAIZABAD ROAD, FROM LUCKNOW TOWARDS FAIZABAD LHS	BARABANKI	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
596	BETWEEN KM STONE NO. 42 AND KM STONE NO. 47, ON NH 27 LUCKNOW - FAIZABAD ROAD, FROM LUCKNOW TOWARDS FAIZABAD LHS	BARABANKI	REGULAR	150	OPEN	CC	40	45	1800	32	12	BIDDING	30	5
597	BETWEEN KM STONE NO. 54 AND KM STONE NO. 56 ON NH 27 LUCKNOW - FAIZABAD ROAD, FROM LUCKNOW TOWARDS FAIZABAD LHS	BARABANKI	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
598	BETWEEN KM STONE NO 178 AND KM STONE NO. 188 ON NH 731 LUCKNOW - SULTANPUR ROAD, FROM LUCKNOW TOWARDS SULTANPUR LHS	BARABANKI	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
599	BETWEEN KM STONE NO. 30 AND KM STONE NO. 40 ON NH 27 LUCKNOW - FAIZABAD ROAD, FROM LUCKNOW TOWARDS FAIZABAD RHS	BARABANKI	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
600	BETWEEN KM STONE NO 170 AND KM STONE NO. 186 ON NH 731 LUCKNOW - SULTANPUR ROAD, FROM LUCKNOW TOWARDS SULTANPUR, RHS	BARABANKI	REGULAR	150	OPEN CC 1	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
601	BETWEEN KM STONE NO 186 AND KM STONE NO. 194 ON NH 731 LUCKNOW - SULTANPUR ROAD, FROM LUCKNOW TOWARDS SULTANPUR, RHS	BARABANKI	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
602	BETWEEN KM STONE NO. 56 AND KM STONE NO. 66 ON NH 27 LUCKNOW - FAIZABAD ROAD, FROM LUCKNOW TOWARDS FAIZABAD LHS	BARABANKI	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
603	BETWEEN KM STONE NO. 46 AND KM STONE NO. 54 ON NH 27 LUCKNOW - FAIZABAD, FROM LUCKNOW TOWARDS FAIZABAD, RHS	BARABANKI	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
604	BETWEEN KM STONE NO. 22 AND KM STONE NO. 26 ON NH 27 LUCKNOW - FAIZABAD ROAD, FROM LUCKNOW TOWARDS FAIZABAD, RHS	BARABANKI	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
605	BETWEEN KM STONE NO. 8 AND KM STONE NO. 20 ON NH 927 BARABANKI - RAMNAGAR - BAHRAICH ROAD, FROM BARABANKI TOWARDS BAHRAICH, RHS	BARABANKI	REGULAR	150	OBC	СС	35	45	1575	32	12	BIDDING	30	4
606	BETWEEN KM STONE NO. 40 AND KM STONE NO. 46 ON NH 27 LUCKNOW - FAIZABAD, FROM LUCKNOW TOWARDS FAIZABAD, RHS	BARABANKI	REGULAR	150	OBC	CC	35	45	1575	32	12	BIDDING	30	4
607	BETWEEN KM STONE NO. 20 AND KM STONE NO. 32 ON NH 927 BARABANKI - RAMNAGAR - BAHRAICH ROAD, FROM BARABANKI TOWARDS BAHRAICH, RHS	BARABANKI	REGULAR	150	OBC	СС	35	45	1575	32	12	BIDDING	30	4
608	WITHIN MUNICIPAL LIMITS OF SIDDHAUR	BARABANKI	REGULAR	120	SC	CFS	18	18	324	0	0	DRAW OF LOTS	0	3
609	BETWEEN KM STONE NO. 79 AND LKM STONE NO. 81 ON SERVICE ROAD OF KISAN PATH (LUCKNOW OUTER RING ROAD), FROM AYODHYA TOWARDS LUCKNOW, LHS	BARABANKI	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
610	BETWEEN KM STONE NO.141 AND KM STONE NO.143 ON NH-731, SHAHABAD-HARDOI ROAD, FROM SHAHABAD TOWARDS HARDOI, LHS	HARDOI	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
611	BETWEEN KM STONE NO.200 AND KM STONE NO.203 ON NH-330D, BILGRAM-KANNAUJ ROAD, FROM BILGRAM TOWARDS KANNAUJ, RHS	HARDOI	REGULAR	160	OPEN	DC	50	50	2500	32	95	DRAW OF LOTS	15	5
612	BETWEEN KM STONE NO.176 AND KM STONE NO.178 ON NH-731, HARDOI-LUCKNOW ROAD, FROM HARDOI TO LUCKNOW, LHS	HARDOI	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
613	BETWEEN KM STONE NO.134 AND KM STONE NO.137 ON NH-731, SHAHABAD-HARDOI ROAD, EITHER SIDE	HARDOI	REGULAR	150	OBC CC 1	DC	40	45	1800	32	95	DRAW OF LOTS	15	4
614	BETWEEN KM STONE NO.202 AND KM STONE NO.206 ON NH-731, HARDOI-SANDILA ROAD, EITHER SIDE	HARDOI	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
615	BETWEEN KM STONE NO.10 AND KM STONE NO.14 ON SH-29A, HARDOI-SAWAYAJPUR ROAD, EITHER SIDE	HARDOI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
616	INSIDE THE UPSIDC/UPSIDA AREA(UP STATE INDUSTRIAL DEVELOPMENT AUTHORITY AREA SANDILA) SANDILA HARDOI	HARDOI	REGULAR	160	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
617	BETWEEN KM STONE NO. 194 AND KM STONE NO. 198, ON NH 330- D, HARDOI-BILGRAM ROAD, FROM HARDOI TOWARDS BILGRAM, EITHER SIDE	HARDOI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M			be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	<b>A</b> rea	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
618	WITHIN 4KM FROM MALLAWAN CHAURAHA TOWARDS SANDILA ON SH137, MALLAWAN-SANDILA ROAD, FROM MALLAWAN TOWARDS SANDILA ROAD, EITHER SIDE	HARDOI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
619	VILL-CHAUDHARIYAPUR,FROM BILGRAM TO HULLAPUR ON SH-138, BILGRAM-HULLAPUR ROAD, RHS	HARDOI	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
620	BETWEEN KM STONE NO.192 AND KM STONE NO.194 ON NH-330D, HARDOI-BILGRAM ROAD, FROM HARDOI TOWARDS BILGRAM, RHS	HARDOI	REGULAR	150	OPEN CC 1	CC	40	45	1800	32	12	BIDDING	30	5
621	BETWEEN KM STONE NO 147 AND KM STONE 149 ON NH731,SHAHJAHANPUR TO HARDOI ROAD,RHS	HARDOI	REGULAR	150	OBC	DC	40	45	1800	32	95	DRAW OF LOTS	15	4
	WITHIN 4KM FROM MALLAWAN CHAURAHA TOWARDS MEHADIGHAT ON SH-137, SANDILA-MEHADIGHAT ROAD, FROM MALLAWAN TOWARDS MEHADIGHAT, LHS	HARDOI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
623	BETWEEN KM STONE NO.51 AND KM STONE NO.54 ON SH-138, FROM BILGRAM TOWARDS HULLAPUR ROAD, EITHER SIDE	HARDOI	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
624	WITHIN 5KM FROM PIHANI CHUNGI TOWARDS SHAHABAD ON NH- 731, HARDOI-SHAHABAD ROAD, FROM HARDOI TOWARDS SHAHABAD, LHS	HARDOI	REGULAR	160	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
625	WITHIN 4 KM FROM MALLAWAN CHAURAHA TOWARDS UNNAO ON SH-38, MALLAWAN-UNNAO ROAD, FROM MALLAWAN TOWARDS UNNAO, LHS	HARDOI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
626	BETWEEN KM STONE NO.207 AND KM STONE NO.210 ON NH-330D, FROM BILGRAM TOWARDS KANNAUJ ROAD,LHS	HARDOI	REGULAR	150	OPEN CC 1	СС	40	45	1800	32	12	BIDDING	30	5
627	IN VILL-BHATPUR ,TEH SANDILA, ON SH-137, BHATPUR- MEHANDIGHAT ROAD, EITHER SIDE	HARDOI	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
628	WITHIN 4KM FROM SITAPUR BORDER TOWARDS HARDOI ON NH- 330D, NEMIS -PRATAP NAGAR CHAURAHA, EITHER SIDE	HARDOI	REGULAR	150	SC PH	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
629	BETWEEN KM STONE NO.174 AND KM STONE NO.180 ON NH- 731,HARDOI-SANDILA ROAD,EITHER SIDE	HARDOI	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
	BETWEEN KM STONE NO.187 AND KM STONE NO.190 ON NH- 330D,HARDOI-BILGRAM ROAD, FROM HARDOI TOWARDS BILGRAM, RHS	HARDOI	REGULAR	150	OPEN	DC	40	45	1800	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
631	WITHIN 2 KMS OF SIKANDARABAD CHAURAHA TOWARDS GOLA ON SH135 (OLD MDR 76C), SIKANDARABAD-GOLA ROAD, EITHER SIDE	Lakhimpur Kheri	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
632	WITH IN MUNICIPAL LIMITS OF LAKHIMPUR CITY, TEHSIL LAKHIMPUR	Lakhimpur Kheri	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
633	WITHIN MUNICIPAL LIMITS OF PALIA TOWN, TEHSIL, PALIA	Lakhimpur Kheri	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
634	WITHIN 3 KMS OF VILLAGE SAMPOORNANAGAR LIMITS ON SH-101, SAMPOORNANAGAR-PALIA ROAD, EITHER SIDE	Lakhimpur Kheri	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
635	BETWEEN KM STONE NO. 184 AND KM STONE NO. 189 ON NH-730, LAKHIMPUR-BAHRAICH ROAD, EITHER SIDE	Lakhimpur Kheri	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
636	BETWEEN KM STONE NO. 23 AND 25 ON SH-93, GOLA- MOHAMMADI ROAD, FROM GOLA TOWARDS MOHAMMADI, ON RHS	LAKHIMPUR KHERI	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
637	BETWEEN KM STONE NO. 33 AND KM STONE NO. 38 ON NH-730A, MOHAMADI - POWAYAN ROAD, FROM MOHAMMADI TOWARDS POWAYAN, RHS	Lakhimpur Kheri	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
638	WITHIN 2 KMS OF VILLAGE KOTRA LIMITS (TEHSIL MOHAMMADI) ON NH-30, SHAHJAHANPUR - SITAPUR ROAD, FROM SHAHJAHANPUR TOWARDS SITAPUR, LHS	Lakhimpur Kheri	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
639	BETWEEN KM STONE NO. 138 AND KM STONE NO. 148 ON NH-730, LAKHIMPUR - BAHRAICH ROAD, EITHER SIDE	Lakhimpur Kheri	REGULAR	150	OPEN	СС	35	45	1575	32	12	BIDDING	30	5
640	BETWEEN ONE BEAT HOSPITAL AND SHARDA RIVER BRIDGE ON NH- 731, BHIRA - PALIA ROAD, EITHER SIDE	LAKHIMPUR KHERI	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
641	BETWEEN KM STONE NO. 56 AND KM STONE NO. 60 ON SH-21, LAKHIMPUR - SITAPUR ROAD, FROM LAKHIMPUR TOWARDS SITAPUR, LHS	LAKHIMPUR KHERI	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
642	BETWEEN KM STONE 21 AND KM STONE NO. 23 ON NH-730A, BARBAR-MOHAMMADI ROAD, FROM BARBAR TOWARDS MOHAMMADI, LHS	LAKHIMPUR KHERI	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
643	BETWEEN KM STONE NO. 123 AND KM STONE NO. 128 ON NH-730, ON GOLA-LAKHIMPUR ROAD, EITHER SIDE.	LAKHIMPUR KH	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M			be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
644	BETWEEN KM STONE NO. 31 AND KM STONE NO. 35 ON SH-90, LAKHIMPUR-BIJUA ROAD, EITHER SIDE	Lakhimpur Kheri	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
645	BETWEEN KM STONE NO. 33 AND KM STONE NO. 38 ON NH-730A, MOHAMADI - POWAYAN ROAD, FROM MOHAMMADI TOWARDS POWAYAN, LHS	Lakhimpur Kheri	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
646	WITHIN 2 KMS OF VILLAGE UMARPUR LIMITS ON SH135 (OLD MDR 76C), SIKANDRABAD - KASTA ROAD, EITHER SIDE	Lakhimpur Kheri	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
647	WITHIN 2 KM OF VILLAGE CHAUKHARIA LIMITS (TEHSIL MITAULI) ON NH-30, ON MAIGALGANJ BYPASS ROAD, FROM SITAPUR TOWARDS SHAHJAHANPUR, LHS.	Lakhimpur Kheri	REGULAR	150	OBC	CC	50	50	2500	32	12	BIDDING	30	4
648	BETWEEN BAJAJ HINDUSTAN SUGAR MILL KHAMBARKHEDA TO MAHEBAGANJ POLICE CHOWKI ON SH-21, LAKHIMPUR-NIGHASAN ROAD, EITHER SIDE	Lakhimpur Kheri	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
649	BETWEEN KM STONE NO. 55 AND KM STONE NO. 59 ON SH-101, PALIA-NIGHASAN ROAD, EITHER SIDE	Lakhimpur Kheri	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
650	BETWEEN KM STONE NO. 107 AND KM STONE NO. 109 ON NH-730, GOLA-LAKHIMPUR ROAD, FROM GOLA TOWARDS LAKHIMPUR, LHS	Lakhimpur Kheri	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
651	BETWEEN KM STONE 166 AND KM STONE NO. 168 ON NH730, ON LAKHIMPUR- BAHRAICH ROAD, EITHER SIDE	LAKHIMPUR KHERI	REGULAR	150	OBC CC 1	CC	35	45	1575	32	12	BIDDING	30	4
652	WITHIN 2 KM OF VILLAGE MAGHARA PASCHIM LIMITS ON SH-101, SAMPOORNANAGAR-MAGHARA PASCHIM ROAD, EITHER SIDE	LAKHIMPUR KHERI	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
653	WITHIN 2 KM OF VILLAGE GOGAWAN LIMITS ON SH-135, BIJWA - ALIGANJ ROAD, EITHER SIDE	LAKHIMPUR KHERI	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
654	BETWEEN KM STONE NO. 236 AND KM STONE NO. 248 ON OLD SH 25 (BETWEEN KM STONE NO. 241 AND KM STONE NO. 253 ON NEW NH 731), ON LUCKNOW-HARDOI-PALIYA ROAD FROM LUCKNOW TOWARDS HARDOI, RHS	LUCKNOW	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
655	WITHIN 4 KMS FROM AVADH BUS STAND ON SERVICE ROAD OF LUCKNOW AYODHYA ROAD NH 27, EITHER SIDE	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
656	VARDAN KHAND, GOMTI NAGAR EXTENSION, LUCKNOW - ON MAJOR ROADS WITH WIDTH 12 METRES OR MORE	LUCKNOW	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		,	pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
657	KHARGAPUR, GOMTI NAGAR, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
658	ON SERVICE ROAD OF AMAR SHAHEED PATH, FROM EKANA STADIUM MAIN GATE TO SHAHEED PATH TIRAHA, LHS	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
659	ASHIYANA, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
660	JANKIPURAM, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
661	ON SERVICE ROAD OF AMAR SHAHEED PATH, FROM EKANA STADIUM MAIN GATE TO SHAHEED PATH TIRAHA, RHS	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
662	RAJAJIPURAM, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
663	INDIRA NAGAR, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
664	ALIGANJ, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	OBC	CC	18	18	324	32	12	BIDDING	30	4
665	IBRAHIMPUR, LUCKNOW - ON NILMATHA - NAGRAM ROAD	LUCKNOW	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
666	VRINDAVAN YOJNA, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
	TRANSPORT NAGAR, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
668	BETWEEN NAHARIYA CHAURAHA, ALAMBAGH TO BUDDHESWAR CHAURAHA ON HARDOI RING ROAD, ON EITHER SIDE	LUCKNOW	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
669	BETWEEN KM STONE NO. 15 AND KM STONE NO. 18 ON NH 30 LUCKNOW-RAEBAREILY ROAD, ON EITHER SIDE	LUCKNOW	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
670	BETWEEN IIM LUCKNOW TIRAHA TO DUBAGGA, ON EITHER SIDE OF DUBAGGA - IIM LUCKNOW TIRAHA ROAD	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
671	ON SIGNATURE BUILDING (POLICE HEADQUARTERS) TO MGF EMMAR ESS POWERHOUSE ROAD, SARSAWAN ARJUNGANJ, LUCKNOW	LUCKNOW	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
672	FROM BUDHHESHWAR CHAURAHA TO KHINNI CHAURAHA ON BUDHHESHWAR CHAURAHA - ALAMNAGAR MOHAN ROAD, ON EITHER SIDE	LUCKNOW	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
673	ANYWHERE IN MUNICIPAL LIMITS OF LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
674	BADSHAHNAGAR, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 9 METRES OR MORE	LUCKNOW	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
675	ON MUNSHIPULIA TO TAKROHI ROAD, LUCKNOW, ON EITHER SIDE	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
676	FAIZULLAGANJ, LUCKNOW CITY, ON GHAILA ROAD	LUCKNOW	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
677	BETWEEN KM STONE NO. 476 AND KM STONE NO. 485 ON NH 30 LUCKNOW - SITAPUR ROAD, FROM LUCKNOW TOWARDS SITAPUR LHS	LUCKNOW	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
678	BETWEEN KM STONE NO. 200 AND KM STONE NO. 212 ON NH 731 LUCKNOW - SULTANPUR ROAD, FROM LUCKNOW TOWARDS VARANASI LHS	LUCKNOW	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
679	FROM SCOOTER INDIA CIRCLE TO BIJNORE CIRCLE ON SAROJNINAGAR - BIJNORE ROAD	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
680	DULARMAU, ON SERVICE ROAD OF KISAN PATH (LUCKNOW OUTER RING ROAD) FROM ANOURA TO LAXMANPUR BAKKAS	LUCKNOW	REGULAR	150	OPEN	СС	35	45	1575	32	12	BIDDING	30	5
681	BETWEEN KM STONE NO. 196 AND KM STONE NO. 206 ON NH 731 LUCKNOW - SULTANPUR ROAD, FROM LUCKNOW TOWARDS VARANASI, RHS	LUCKNOW	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
682	BETWEEN KM STONE NO. 20 AND KM STONE NO. 26 ON NH 30 LUCKNOW - RAEBAREILY ROAD, FROM LUCKNOW TOWARDS RAEBAREILY, RHS	LUCKNOW	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
683	BETWEEN KM STONE NO. 18 AND KM STONE NO. 30 ON NH 30 LUCKNOW - RAEBAREILY ROAD, FROM LUCKNOW TOWARDS RAEBAREILY LHS	LUCKNOW	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
684	BETWEEN KM STONE NO. 29 AND KM STONE NO. 38 ON NH 30 LUCKNOW - RAEBAREILY ROAD, FROM LUCKNOW TOWARDS RAEBAREILY, RHS	LUCKNOW	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
685	BETWEEN KM STONE NO. 30 AND KM STONE NO. 42 ON NH 30 LUCKNOW - RAEBAREILY ROAD, FROM LUCKNOW TOWARDS RAEBAREILY LHS	LUCKNOW	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
686	BETWEEN KM STONE NO. 225 AND KM STONE NO. 235 ON OLD SH 25 (BETWEEN KM STONE NO. 230 AND KM STONE NO. 240 ON NEW NH 731), ON LUCKNOW-HARDOI-PALIYA ROAD FROM LUCKNOW TOWARDS HARDOI LHS	LUCKNOW	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
687	BETWEEN KM STONE NO. 224 AND KM STONE NO. 236 ON OLD SH 25 (BETWEEN KM STONE NO. 229 AND KM STONE NO. 241 ON NEW NH 731), ON LUCKNOW-HARDOI-PALIYA ROAD FROM LUCKNOW TOWARDS HARDOI, RHS	LUCKNOW	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
688	BETWEEN KM STONE NO. 469 AND KM STONE NO. 476 ON NH 30 LUCKNOW - SITAPUR ROAD, FROM LUCKNOW TOWARDS SITAPUR LHS	LUCKNOW	REGULAR	150	OBC PH	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
689	BETWEEN KM STONE NO. 20 AND KM STONE NO. 24 ON KISSAN PATH (LUCKNOW OUTER RING ROAD)	LUCKNOW	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
690	BETWEEN KM STONE NO. 9 AND KM STONE NO. 12 ON KISSAN PATH (LUCKNOW OUTER RING ROAD)	LUCKNOW	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
691	BETWEEN KM STONE NO. 235 AND KM STONE NO. 250 ON OLD SH 25 (BETWEEN KM STONE NO. 240 AND KM STONE NO. 255 ON NEW NH 731), ON LUCKNOW-HARDOI-PALIYA ROAD FROM LUCKNOW TOWARDS HARDOI LHS	LUCKNOW	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
692	WITHIN 4 KMS FROM MADIYAHO THANA ON MADIYAHO THANA - CHOWK ROAD, LUCKNOW, ON EITHER SIDE	LUCKNOW	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
693	BETWEEN KM STONE NO. 16 AND KM STONE NO. 20 ON KISSAN PATH (LUCKNOW OUTER RING ROAD)	LUCKNOW	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
694	ON KONESHWAR CHAURAHA TO DUBAGGA SABJI MANDI ROAD, ON EITHER SIDE	LUCKNOW	REGULAR	150	OPEN	DC	16	14	224	32	75	DRAW OF LOTS	15	5
695	BETWEEN KM STONE NO. 12 AND KM STONE NO. 16 ON KISSAN PATH (LUCKNOW OUTER RING ROAD)	LUCKNOW	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
696	BETWEEN KM STONE NO. 20 AND KM STONE NO. 29 ON SH 40 LUCKNOW - MOHAN - BELA - ETAWA ROAD, FROM LUCKNOW TOWARDS MOHAN LHS	LUCKNOW	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
697	BETWEEN KM STONE NO. 4 AND KM STONE NO. 12 ON OLD MDR 89 C (NEW SH 136), BANI - MOHANLALGANJ ROAD, EITHER SIDE	LUCKNOW	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
698	GOMTI NAGAR, LUCKNOW - ON MAJOR ROADS HAVING WIDTH 12 METRES OR MORE	LUCKNOW	REGULAR	150	OPEN CC 1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
699	WITHIN MUNICIPAL LIMITS OF KHAIRABAD, TEHSIL - SITAPUR	SITAPUR	REGULAR	100	OPEN PH	DC	20	20	400	32	55	DRAW OF LOTS	15	5
700	BETWEEN KILOMETER STONE NUMBER 416 AND 419 ON NH 30 FROM SITAPUR TO LUCKNOW	SITAPUR	REGULAR	150	OPEN CC 2	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
701	BETWEEN KM STONE 93 TO 97 ON LAKHIMPUR TO SITAPUR ROAD, ON SH-21	SITAPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
702	BETWEEN KM STONE NO. 435 AND KM STONE NO. 450 ON NH-30, KAMLAPUR- SIDHAULI ROAD, EITHER SIDE	SITAPUR	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
703	BETWEEN VILLAGE KHAGASIYA MAU AND MAHOLI ON NH-30, FROM KHAGASIYA MAU TOWARDS MAHOLI, RHS	SITAPUR	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
704	BETWEEN KM STONE NO. 13 AND KM STONE NO. 16 ON NH-330D, SITAPUR-HARDOI ROAD, EITHER SIDE	SITAPUR	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
	BETWEEN KM STONE NO. 420 AND 435 ON NH-30, KHAIRABAD- KAMLAPUR ROAD, FROM KHAIRABAD TOWARDS KAMLAPUR, EITHER SIDE	SITAPUR	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
706	BETWEEN KM STONE NO. 02 AND KM STONE NO. 07 ON NH-330D, SITAPUR-HARDOI ROAD, EITHER SIDE	SITAPUR	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
	BETWEEN KM STONE NO. 93 AND KM STONE NO. 95 ON NH-727H, BISWAN- LAHARPUR ROAD, FROM BISWAN TOWARDS LAHARPUR, LHS	SITAPUR	REGULAR	150	OBC	CC	35	45	1575	32	12	BIDDING	30	4
	BETWEEN KM STONE NO. 450 AND KM STONE NO. 465 ON NH-30, SIDHAULI - ITAUNJA ROAD, FROM SIDHAULI TOWARDS ITAUNJA, RHS	SITAPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
709	BETWEEN KM STONE NO. 26 AND KM STONE NO. 30 ON NH-330D, SITAPUR-HARDOI ROAD, EITHER SIDE	SITAPUR	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
710	BETWEEN KM STONE NO. 90 AND KM STONE NO. 93 ON SH-30B, ON BISWAN - SITAPUR ROAD, EITHER SIDE	SITAPUR	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
711	BETWEEM KM STONE NO. 86 AND KM STONE NO.88 ON SH-21, HARGAON-SITAPUR ROAD, FROM HARGAON TOWARDS SITAPUR, LHS	SITAPUR	REGULAR	100	OPEN	CC	35	35	1225	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
712	BETWEEN KM STONE NO. 22 AND KM STONE NO. 25 ON SH-139, NERI TO MISHRIKH ROAD, EITHER SIDE	SITAPUR	REGULAR	150	OBC CC 1	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
713	BETWEEN KM STONE NO. 52 AND KM STONE NO.57 ON NH-727H, MEHMODABAD - BISWAN ROAD, EITHER SIDE	SITAPUR	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
714	BETWEEN KM STONE NO. 75 AND KM STONE NO. 80 ON SH-30B, ON BISWAN - SITAPUR ROAD, EITHER SIDE	SITAPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
715	BETWEEM KM STONE NO. 90 AND KM STONE NO.92 ON SH-21, HARGAON-SITAPUR ROAD, FROM HARGAON TOWARDS SITAPUR, RHS (SH-21)	SITAPUR	REGULAR	100	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
716	BETWEEN KM STONE NO. 01 AND KM STONE NO. 05 ON SH-139, NERI TO MISHRIKH ROAD, EITHER SIDE	SITAPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
717	WITHIN MUNICIPAL LIMITS OF SITAPUR, TEHSIL SITAPUR	SITAPUR	REGULAR	100	OPEN	CC	20	20	400	32	12	BIDDING	30	5
718	WITHIN MUNICIPAL LIMITS OF BISWAN, TEHSIL BISWAN	SITAPUR	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
719	BETWEEN KM STONE NO. 74 AND KM STONE NO. 76 ON SH-139, SIDHAULI - MEHMODABAD ROAD, EITHER SIDE	SITAPUR	REGULAR	100	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
720	WITHIN 2 KMS OF VILLAGE NAUVAPUR LIMITS (TEHSIL LAHARPUR) ON NH-727H, LAHARPUR-BHADFAR ROAD, EITHER SIDE	SITAPUR	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
721	BETWEEN KM STONE NO. 67 AND KM STONE NO. 70 ON SH-30B, ON BISWAN - SITAPUR ROAD, EITHER SIDE	SITAPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
722	WITHIN 2 KMS OF VILLAGE ISLAMNAGAR LIMITS (TEHSIL MISRIKH) ON SH-139, MISRIKH-PISAVA ROAD, EITHER SIDE	SITAPUR	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
723	VILLAGE- AKBARPUR PATTI ON AMROHA RING ROAD ( WITHIN MUNICIPAL LIMITS AMROHA )	AMROHA	REGULAR	150	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
724	BETWEEN KM STONE NO. 135 AND KM STONE NO. 140 ON GAJRAULA - MORADABAD ROAD, NH-9, RHS TOWARDS MORADABAD	AMROHA	REGULAR	170	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
725	BETWEEN KM STONE NO. 129 AND KM STONE NO. 132 ON GAJRAULA-MORADABAD ROAD, NH 9, LHS TOWARDS MORADABAD	AMROHA	REGULAR	200	OPEN	СС	35	45	1575	32	12	BIDDING	30	5
726	BETWEEN KM STONE NO. 120 AND KM STONE NO. 125 ON GAJRAULA-MORADABAD ROAD NH 9, RHS TOWARDS MORADABAD	AMROHA	REGULAR	180	OBC	CC	35	45	1575	32	12	BIDDING	30	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a	•	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
	VILLAGE-MAKHDOOMPUR, TEHSIL NAUGAWAN SADAT ON NAUGAWAN-AMROHA ROAD, SH77	AMROHA	REGULAR	110	OBC	СС	35	35	1225	32	12	BIDDING	30	4
1.08	BETWEEN KM STONE NO. 96 AND KM STONE NO. 104 ON DELHI- MORADABAD ROAD,NH9, LHS TOWARDS MORADABAD	AMROHA	REGULAR	210	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
729	ON UJHARI-DHABHARSI ROAD WITHIN NAGAR PANCHAYAT LIMITS OF UJHARI	AMROHA	REGULAR	130	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
730	BETWEEN KM STONE NO. 114 AND KM STONE NO. 116 ON SAMBHAL - HASANPUR ROAD, SH-51	AMROHA	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
731	BETWEEN KM STONE NO. 144 AND KM STONE NO. 146 ON GAJRAULA-DHANAURA ROAD,SH51,RHS TOWARDS DHANAURA	AMROHA	REGULAR	120	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
732	BETWEEN KM STONE NO. 135 AND KM STONE NO. 137 ON HASANPUR-GAJRAULA ROAD, SH51, RHS TOWARDS GAJRAULA	AMROHA	REGULAR	140	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
733	BETWEEN KM STONE NO. 2 AND KM STONE NO. 7 ON DELHI- SAHARANPUR ROAD, NH-709B, RHS TOWARDS SAHARANPUR	BAGHPAT	REGULAR	150	OBC	СС	35	45	1575	32	12	BIDDING	30	4
734	UPTO 3 KMS FROM CONTINENTAL HOME FURNISHINGS FACTORY ON DELHI-SAHARANPUR ROAD, NH-709B, LHS TOWARDS BAGHPAT	BAGHPAT	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
735	BETWEEN KM STONE NO. 40 AND KM STONE NO. 44 ON DELHI- SAHARANPUR ROAD, NH-709B, RHS TOWARDS SAHARANPUR	BAGHPAT	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
/36	BETWEEN KM STONE NO. 23 AND KM STONE NO. 28 ON MEERUT- BAGHPAT ROAD, NH-334B, RHS TOWARDS BAGHPAT	BAGHPAT	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
737	BETWEEN KM STONE NO. 39 AND KM STONE NO. 44 ON DELHI- SAHARANPUR ROAD, NH-709B, LHS TOWARDS SAHARANPUR	BAGHPAT	REGULAR	150	OPEN CC 1	СС	35	45	1575	32	12	BIDDING	30	5
/38	BETWEEN KM STONE NO. 20 AND KM STONE NO. 24 ON DELHI- SAHARANPUR ROAD, NH-709B, RHS TOWARDS SAHARANPUR	BAGHPAT	REGULAR	150	OBC CC 1	СС	35	45	1575	32	12	BIDDING	30	4
739	UPTO 3 KM FROM MERITTA PUBLIC SCHOOL TOWARDS MEERUT ON MEERUT-BIJNOR ROAD,NH34,LHS	BIJNOR	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
740	BETWEEN KM STONE NO. 74 AND KM STONE NO. 80 ON DHAMPUR- KASHIPUR ROAD, NH-734	BIJNOR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	BETWEEN BIJNOR NAGAR PALIKA CHAURAHA AND KUNDAN HOSPITAL VIA UPSRTC BUS STAND ROAD( WITHIN MUNICIPAL LIMITS BIJNOR)	BIJNOR	REGULAR	150	OPEN	DC	18	20	360	32	55	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to I by the a	oe arranged pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	ı	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
742	VILLAGE IBRAHIMPUR RAJU ON NAJIBABAD-KOTDWAR ROAD (WITHIN MUNICIPAL LIMITS OF NAJIBABAD)	BIJNOR	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
743	ON NAJIBABAD-HARIDWAR ROAD (WITHIN NAGAR PALIKA LIMITS OF SAHANPUR)	BIJNOR	REGULAR	190	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
744	VILLAGE-HALDAUR, HALDAUR-NEHTAUR ROAD,SH12, EITHER SIDE	BIJNOR	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
745	ON NAJIBABAD BYPASS (NAJIBABAD - KOTDWAR ROAD) NH-534	BIJNOR	REGULAR	180	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
746	VILLAGE-BEHDA, TEHSIL BIJNOR, BIJNOR-KOTWALI ROAD, NH-709AD	BIJNOR	REGULAR	160	OBC	СС	35	45	1575	32	12	BIDDING	30	4
747	BETWEEN VILLAGE-RAJARAMPUR TULSHI AND VILLAGE HASANPUR, TEHSIL NAJIBABAD ON NAJIBABAD-HARIDWAR ROAD, NH34, LHS TOWARDS HARIDWAR	BIJNOR	REGULAR	160	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
748	BETWEEN KM STONE NO. 29 AND KM STONE NO. 33 ON HASTINAPUR- CHANDPUR ROAD ,SH147	BIJNOR	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
749	WITHIN MUNICIPAL LIMITS OF BIJNOR ON ANY MAJOR ROAD EXCEPT ON CHAKKAR ROAD	BIJNOR	REGULAR	160	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
750	UPTO 6 KMS FROM BHANEDA POLICE CHOWKI TOWARDS NAJIBABAD , ON KIRATPUR-NAJIBABAD ROAD, NH34	BIJNOR	REGULAR	180	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
751	BETWEEN KM STONE NO. 7 AND KM STONE NO. 9, ON NEHTAUR- NOORPUR ROAD,SH77	BIJNOR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
752	BETWEEN KM STONE NO. 40 AND KM STONE NO. 45 ON NAJIBABAD- DHAMPUR ROAD,NH734	BIJNOR	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
753	FROM NOORPUR BUS STAND TOWARDS MORADABAD ,ON NOORPUR-MORADABAD ROAD, SH76 (WITHIN NOORPUR MUNICIPAL LIMITS)	BIJNOR	REGULAR	140	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
754	BETWEEN KM STONE NO. 165 AND KM STONE NO. 170, ON BIJNOR- KOTWALI ROAD, NH-709AD, RHS TOWARDS KOTWALI	BIJNOR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
755	UPTO 5 KM FROM AKBARABAD POLICE CHOWKI TOWARDS NAJIBABAD ON KOTWALI-NAJIBABAD ROAD,NH734, LHS	BIJNOR	REGULAR	160	OBC	CC	35	45	1575	32	12	BIDDING	30	4
756	VILLAGE NIJABATPURA B.A. TEHSIL BIJNOR ON CHANDPUR-BIJNOR ROAD, SH-51	BIJNOR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		,	pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
757	VILLAGE- RAGHUNATHPUR,TEHSIL-DHAMPUR ON NEHTAUR- HALDAUR ROAD,SH12	BIJNOR	REGULAR	110	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
758	KIRATPUR (WITHIN MUNICIPAL LIMITS) ON KIRATPUR AKBARABAD ROAD,LHS TOWARDS AKBARABAD	BIJNOR	REGULAR	100	OPEN PH	DC	20	20	400	32	55	DRAW OF LOTS	15	5
759	ANY WHERE IN SECTOR 47, 50, 69, 72 OF NOIDA (ON MINIMUM 15 METER WIDE ROAD)	GAUTAM BUDH NAGAR	REGULAR	350	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
760	ANYWHERE IN SECTOR 105, 108, 122, 137, 168 OF NOIDA (ON MINIMUM 15 METER WIDE ROAD)	GAUTAM BUDH NAGAR	REGULAR	300	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
761	ANYWHERE IN SECTOR 62, 77, 78,79,80, 115 AND 116 OF NOIDA (ON MINIMUM 15 METER WIDE ROAD)	GAUTAM BUDH NAGAR	REGULAR	300	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
762	ANY WHERE IN SECTOR 28, SECTOR 22D, SECTOR 20, SECTOR 18 OF YEIDA (ON MINIMUM 15 METER WIDE ROAD)	GAUTAM BUDH NAGAR	REGULAR	250	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	ON GHAZIABAD -BULANDSHAHAR ROAD( GT ROAD) ,BETWEEN BISRAKH MOD POLICE CHOWKI AND AIR FORCE STATION, DADRI, RHS TOWARDS BULANDSHAHR	GAUTAM BUDH NAGAR	REGULAR	250	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
764	BETWEEN NE3 (DELHI MEERUT EXPRESSWAY) AND RAJ NAGAR EXTENSION ELEVATED ROAD, ON VASUNDHRA -INDIRAPURAM ROAD	GHAZIABAD	REGULAR	400	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
765	BETWEEN SHAHEED STHAL METRO STATION AND LAL KUAN, GT ROAD, GHAZIABAD, LHS TOWARDS LAL KUAN	GHAZIABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
766	ON SAUR URJA MARG OR LINK ROAD BETWEEN GOVIND BALLABH PANT MARG AND MADAN MOHAN MALVIYA MARG, GHAZIABAD	GHAZIABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
767	ON IDEAL COLLEGE ROAD BETWEEN NE3 (DELHI MEERUT EXPRESSWAY) AND INTERSECTION OF IDEAL COLLEGE ROAD AND MAIN GOVINDPURAM ROAD, GHAZIABAD	GHAZIABAD	REGULAR	250	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
768	BETWEEN DELHI UP BORDER AND ARTHALA METRO STATION, G T ROAD, GHAZIABAD, LHS TOWARDS ARTHALA METRO STATION	GHAZIABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
769	BETWEEN APEX QUEBEC (SIDDHARTH VIHAR) AND ST ANDREW WORLD SCHOOL ON GYH MARG , SIDDHARTH VIHAR, GHAZIABAD	GHAZIABAD	REGULAR	300	OBC	CC	20	20	400	32	12	BIDDING	30	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	pplicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
770	BETWEEN DUHAI TOLL AND SRM INSTITUTE OF SCIENCE AND TECHNOLOGY ON OLD DELHI-MEERUT ROAD, RHS TOWARDS MEERUT	GHAZIABAD	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
771	ON BN TRIPATHI MARG OR PADMANA NAIDU MARG BETWEEN JAIPURIA INSTITUTE AND SUBHDHRA JOSHI MARG	GHAZIABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
772	BETWEEN EASTERN PERIPHERAL EXPRESSWAY AND AROGYAM HOSPITAL, GHAZIABAD, OLD GHAZIABAD MEERUT ROAD, LHS TOWARDS AROGYAM HOSPITAL	GHAZIABAD	REGULAR	250	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
773	ON DR SHYAM PRASAD MUKHERJI MARG OR AMBEDKAR MARG BETWEEN MEERUT ROAD AND GT ROAD, GHAZIABAD	GHAZIABAD	REGULAR	250	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
774	BETWEEN IMS ENGINEERING COLLEGE AND LAL KUAN, ON DELHI- HAPUR ROAD, NH9, LHS TOWARDS DELHI	GHAZIABAD	REGULAR	250	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
775	BETWEEN JAAT CHOWK AND MAHARAJA AGARSAIN CHOWK ON MAHARAJA AGARSAIN MARG, GHAZIABAD	GHAZIABAD	REGULAR	250	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
776	BETWEEN GOLDEN VIEW RESORT AND HINDON ELEVATED ROAD GOL CHAKKAR, ON RAJ NAGAR EXTENSION ROAD, LHS	GHAZIABAD	REGULAR	300	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
777	BETWEEN MANIPAL HOSPITAL AND IMS ENGINEERING COLLEGE, ON DELHI - HAPUR ROAD, NH9, LHS TOWARDS HAPUR	GHAZIABAD	REGULAR	250	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
778	BETWEEN DELHI UP BORDER AND ARTHALA METRO STATION, ON GT ROAD ROAD, GHAZIABAD, RHS TOWARDS ARTHALA METRO STATION	GHAZIABAD	REGULAR	250	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
779	BETWEEN SHAHEED STHAL METRO STATION AND LAL KUAN,ON GT ROAD, GHAZIABAD, RHS TOWARDS LAL KUAN	GHAZIABAD	REGULAR	250	OPEN	DC	18	20	360	32	75	DRAW OF LOTS	15	5
780	BETWEEN UP GATE CROSSING AND POLICE CHOWKI MOHAN NAGAR ON MADAN MOHAN MALWIYA MARG, GHAZIABAD	GHAZIABAD	REGULAR	250	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
781	ON WAZIRABAD ROAD (BETWEEN DELHI- UP BORDER AND MAJOR MOHIT SHARMA MARG ),GHAZIABAD, TOWARDS RAJ NAGAR EXTENSION	GHAZIABAD	REGULAR	250	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
782	ON LONI- BHOPURA ROAD BETWEEN DIAMOND PUBLIC SCHOOL AND WAZIRABAD ROAD	GHAZIABAD	REGULAR	250	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		,	pplicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
783	ON SHAHEED NAYAK KRISHAN KUMAR MARG BETWEEN NE3 (DELHI MEERUT EXPRESSWAY) AND SURDAS MARG , GHAZIABAD	GHAZIABAD	REGULAR	250	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
784	ON RANI JHANSI MARG OR SURDAS MARG,BETWEEN INSTITUTE OF MANAGEMENT TECHNOLOGY (IMT CDL) AND INTERSECTION OF MAHARANA PRATAP MARG AND SURDAS MARG, GHAZIABAD	GHAZIABAD	REGULAR	250	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
785	BETWEEN DUHAI TOLL AND INTERSECTION OF RAWLI ROAD WITH OLD GHAZIABAD- MEERUT ROAD, ON OLD GHAZIABAD-MEERUT ROAD, LHS TOWARDS MEERUT	GHAZIABAD	REGULAR	200	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
786	ON SUCHETA KRIPALANI MARG OR KAVERI MARG, BETWEEN INTERSECTION OF SUCHETA KRIPLANI MARG AND VASUNDHRA INDIRAPURAM ROAD AND INTERSECTION OF KAVERI MARG AND AMRITA KAUR MARG GHAZIABAD	GHAZIABAD	REGULAR	225	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
787	BETWEEN KM STONE NO. 23 & KM STONE NO. 25 ON DELHI- BAGHPAT ROAD, NH709B, LHS TOWARDS BAGHPAT	GHAZIABAD	REGULAR	350	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
788	RHS ON RAJ NAGAR EXTENSION ROAD FROM MEERUT ROAD TOWARDS HINDON ELEVATED ROAD GOL CHAKKAR, GHAZIABAD	GHAZIABAD	REGULAR	300	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
789	BETWEEN DAYANAND CHOWK AND NIDHI ITI ON HAPUR ROAD, GHZIABAD	GHAZIABAD	REGULAR	300	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	BETWEEN INSTITUTE OF MANAGEMENT TECHNOLOGY (IMT CDL) AND MEERUT MOD GOL CHAKKAR, OLD MEERUT- GHAZIABAD ROAD, GHAZIABAD	GHAZIABAD	REGULAR	300	OBC	CC	20	20	400	32	12	BIDDING	30	4
791	BETWEEN SUDHA CRICKET GROUND AND HOTEL SHINE, ON HAPUR BYPASS (NH 334)	HAPUR	REGULAR	250	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
792	ON HAPUR-BULANDSHAHR ROAD FROM REGIONAL TRANSPORT OFFICE HAPUR UPTO MUNICIPAL LIMITS OF HAPUR TOWARDS BULANDSHAHR	HAPUR	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
793	ON HAPUR-BULANDSHAHR ROAD, NH 334 (WITH IN 5 KM FROM NH 9 INTERSECTION), LHS TOWARDS BULANDSHAHR	HAPUR	REGULAR	200	OPEN CC 1	СС	35	45	1575	32	12	BIDDING	30	5
794	BETWEEN KM STONE NO. 40 AND KM STONE NO. 60 ON DELHI- MORADABAD ROAD (NH 9),LHS TOWARDS MORADABAD	HAPUR	REGULAR	250	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
795	BETWEEN KM STONE NO. 40 AND KM STONE NO. 60, DELHI - MORADABAD ROAD, NH9, RHS	HAPUR	REGULAR	250	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a	•	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
796	ON HAPUR-BULANDSHAHR ROAD, NH 334 (WITH IN 10 KM FROM NH 9 INTERSECTION), RHS TOWARDS BULANDSHAHR	HAPUR	REGULAR	250	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
797	VILLAGE RASOOLABAD NANPUR, TEHSIL GARH MUKTESHWAR, KITHAUR-GARH MUKTESHWAR ROAD, NH709A	HAPUR	REGULAR	150	OBC CC 1	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
798	BETWEEN KM STONE NO. 65 AND KM STONE NO. 85 , DELHI- MORADABAD ROAD, NH9, LHS TOWARDS MORADABAD	HAPUR	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
799	BETWEEN KM STONE NO. 9 AND KM STONE NO. 12 ON MEERUT- HAPUR ROAD, NH334, RHS TOWARDS HAPUR	MEERUT	REGULAR	150	OBC	СС	35	45	1575	32	12	BIDDING	30	4
800	ON JAGRITI VIHAR RING ROAD BETWEEN GARH MUKTESHWAR ROAD AND HAPUR ROAD, MEERUT	MEERUT	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1 801	EITHER ON RTO ROAD, MEERUT OR ON MEERUT-GARH MUKTESHAWAR ROAD BETWEEN SOHRAB GATE BUS STAND AND RADHA GOVIND ENGINEERING COLLEGE , (WITHIN MUNICIPAL LIMITS OF MEERUT)	MEERUT	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
802	BETWEEN KM STONE NO. 17 AND KM STONE NO. 19 ON MEERUT- BIJNOR ROAD, NH34, RHS TOWARDS BIJNOR	MEERUT	REGULAR	150	OBC	CC	35	45	1575	32	12	BIDDING	30	4
803	UPTO 5 KM FROM VOLGA RESORT ON MEERUT-GARH MUKTESHWAR ROAD, NH709A, LHS TOWARDS GARH MUKTESHWAR	MEERUT	REGULAR	150	OPEN	СС	35	45	1575	32	12	BIDDING	30	5
804	ON MEERUT-MAWANA ROAD UPTO 1.5 KM FROM NEW LIFE SPECIALITY HOSPITAL TOWARDS MAWANA OR ON RAJPUTANA ROAD CONNECTING KILA ROAD AND MAWANA ROAD (WITHIN MUNICIPAL LIMITS OF MEERUT)	MEERUT	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
	ON TRANSPORT NAGAR MAIN ROAD OR ON BAGHPAT ROAD BETWEEN FOOTBALL CHOWK AND MEERUT BYEPASS ROAD (WITHIN MUNICIPAL LIMITS OF MEERUT)	MEERUT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
	BETWEEN DME( DELHI-MEERUT EXPRESSWAY) AND MOHIUDDINPUR SUGAR MILL, ON OLD MEERUT-GHAZIABAD ROAD, RHS TOWARDS GHAZIABAD	MEERUT	REGULAR	200	OBC	CC	35	35	1225	32	12	BIDDING	30	4
	ON BOUNDARY ROAD, MEERUT OR ON MAWANA ROAD BETWEEN SHIVAJI CHOWK AND COMMISSIONARY CHAURAHA (WITHIN MUNICIPAL LIMITS OF MEERUT)	MEERUT	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to I		Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
808	BETWEEN KM STONE NO. 2 AND KM STONE NO. 7 ON MEERUT- BAGHPAT ROAD, NH-334B, LHS TOWARDS BAGHPAT	MEERUT	REGULAR	150	OBC	СС	35	45	1575	32	12	BIDDING	30	4
809	BETWEEN DELHI MEERUT EXPRESSWAY INTERSECTION AND SWAMI VIVEKANAND SUBHARTI UNIVERSITY ON MEERUT BYPASS ROAD (OLD NH-58), LHS TOWARDS MUZZAFARNAGAR	MEERUT	REGULAR	150	OPEN	DC	35	45	1575	32	75	DRAW OF LOTS	15	5
810	BETWEEN DELHI MEERUT EXPRESSWAY INTERSECTION AND SWAMI VIVEKANAND SUBHARTI UNIVERSITY ON MEERUT BYPASS ROAD(OLD NH-58), RHS TOWARDS MUZZAFARNAGAR	MEERUT	REGULAR	150	OPEN	DC	35	45	1575	32	75	DRAW OF LOTS	15	5
811	BETWEEN MIET COLLEGE AND KAILASHI SUPER SPECIALITY HOSPITAL ON MEERUT BYEPASS ROAD (OLD NH-58) , LHS TOWARDS MUZZAFARNAGAR	MEERUT	REGULAR	250	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
812	UPTO 3 KM FROM SHARDA GROUP OF INSTITUTIONS ON MEERUT- GARH MUKTESHWAR ROAD, NH709A, RHS TOWARDS GARH MUKTESHWAR	MEERUT	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
813	BETWEEN TEJGARHI CHAURAHA AND COMMISSIONARY CHOWK, MEERUT ON CHAUDHARY CHARAN SINGH UNIVERSITY ROAD, MEERUT	MEERUT	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
	BETWEEN MIET COLLEGE AND KAILASHI SUPER SPECIALITY HOSPITAL ON MEERUT BYEPASS ROAD (OLD NH58), RHS TOWARDS MUZZAFARNAGAR	MEERUT	REGULAR	150	OPEN CC 1	DC	35	45	1575	32	75	DRAW OF LOTS	15	5
815	BETWEEN KM STONE NO. 25 AND KM STONE NO. 27 ON MEERUT- BIJNOR ROAD, NH34, LHS TOWARDS BIJNOR	MEERUT	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	BETWEEN TIVOLI IMPERIAL RESORT AND SARDAR VALLABH BHAI PATEL UNIVERSITY OF AGRICULTURE ON MEERUT BYEPASS ROAD (OLD NH58), EITHER SIDE	MEERUT	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
817	UPTO 4 KM FROM SHOPRIX MALL TOWARDS DELHI ON OLD MEERUT DELHI ROAD, EITHER SIDE	MEERUT	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
818	BETWEEN KM STONE NO. 21 AND KM STONE NO. 24 ON MEERUT- KARNAL ROAD, NH709A, LHS TOWARDS KARNAL	MEERUT	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
819	BETWEEN IHM COLLEGE, MEERUT AND SAKOTI TANDA RAILWAY STATION ON MEERUT-MUZAFFARNAGAR ROAD, NH334 (OLD NH- 58) , RHS TOWARDS MUZAFFARNAGAR	MEERUT	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
820	BETWEEN KM STONE NO. 1 AND KM STONE NO. 4, MEERUT- KARNAL ROAD NH709A, LHS TOWARDS KARNAL	MEERUT	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
821	BETWEEN KM STONE NO. 37 AND KM STONE NO. 40 , MEERUT- KARNAL ROAD, NH-709A (OLD SH-82), RHS TOWARDS KARNAL	MUZAFFARNA GAR	REGULAR	180	OPEN CC 2	CC	35	45	1575	32	12	BIDDING	30	5
822	BETWEEN KM STONE NO. 8 TO KM STONE NO. 11, MUZAFFARNAGAR-GAGALHERI ROAD, SH-59, RHS TOWARDS GAGALHERI	MUZAFFARNA GAR	REGULAR	130	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
823	WITHIN MUNICIPAL LIMITS OF KHATAULI (ON ANY MAJOR ROAD OF MINIMUM 12 METER WIDTH)	MUZAFFARNA GAR	REGULAR	170	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
824	WITHIN 4 KM FROM PRATHMIK VIDAYALYA IBRAHIMPUR TOWARDS MEERAPUR, MEERUT-BIJNOR ROAD, NH-34	MUZAFFARNA GAR	REGULAR	170	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
825	BETWEEN KM STONE NO. 144 TO KM STONE NO. 146, MEERUT- HARIDWAR ROAD, NH-334 (OLD NH-58), LHS TOWARDS HARIDWAR	MUZAFFARNA GAR	REGULAR	180	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
826	BETWEEN KM STONE NO. 76 AND KM STONE NO. 82 , PANIPAT- KHATIMA MARG, NH-709AD, LHS TOWARDS KHATIMA	MUZAFFARNA GAR	REGULAR	180	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
827	BETWEEN KM STONE NO. 116 AND KM STONE NO. 119 ,PANIPAT- KHATIMA MARG, NH-709AD, RHS TOWARDS KHATIMA	MUZAFFARNA GAR	REGULAR	180	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
828	BETWEEN KM STONE NO. 103 AND KM STONE NO. 106, MEERUT- HARIDWAR ROAD, NH-334 (OLD NH-58) LHS TOWARDS HARIDWAR	MUZAFFARNA GAR	REGULAR	200	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
829	BETWEEN KM STONE NO. 88 AND KM STONE NO. 90, KHATAULI- MORNA ROAD, SH-116, LHS TOWARDS MORNA	MUZAFFARNA GAR	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
830	BETWEEN KM STONE NO 42 & KM STONE NO 45, MEERUT-KARNAL ROAD, NH 709A (OLD SH-82), LHS TOWARDS KARNAL	MUZAFFARNA GAR	REGULAR	160	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
831	UPTO 1.5KM FROM RANA PUBLIC SCHOOL TOWARDS OLD MEERUT ROAD ON RAILWAY CROSSING BYPASS ROAD, (WITHIN MUNICIPAL LIMITS OF MUZAFFARNAGAR)	MUZAFFARNA GAR	REGULAR	200	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
832	UPTO 3 KM FROM MALVIYA CHOWK ON BHOPA ROAD; OR UPTO 2 KM FROM BHOPA ROAD TOWARDS GANDHI COLONY VIA MOUNT LITERA ZEE SCHOOL ROAD OR ANY WHERE ON MANDI SAMITI ROAD	MUZAFFARNA GAR	REGULAR	200	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M		Finance to I		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
833	WITHIN 2 KM FROM ALMASPUR CHOWK ON ANY MAJOR ROAD OF MINIMUM 12 METER WIDTH WITHIN MUZAFFARNAGAR MUNICIPAL LIMITS	MUZAFFARNA GAR	REGULAR	200	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
834	BETWEEN KM STONE NO. 77 AND KM STONE NO. 82, PANIPAT- KHATIMA MARG, NH709AD, RHS TOWARDS KHATIMA	MUZAFFARNA GAR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
835	BETWEEN KM STONE NO. 123 AND KM STONE NO. 130, MEERUT- HARIDWAR ROAD, NH-334 (OLD NH-58), LHS TOWARDS HARIDWAR	MUZAFFARNA GAR	REGULAR	190	OPEN CC 1	CC	35	45	1575	32	12	BIDDING	30	5
836	BETWEEN KM STONE NO 102 AND KM STONE NO 106 ON LHS(FROM ROORKEE TOWARDS MEERUT) ON NH-334 (OLD NH-58)	MUZAFFARNA GAR	REGULAR	180	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO. 3 AND KM STONE NO. 5, PURKAZI- LAKSHAR ROAD, NH-334A	MUZAFFARNA GAR	REGULAR	190	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
8.38	BETWEEN KM STONE NO. 42 AND KM STONE NO. 45, SAHARANPUR BYPASS, NH-344, LHS TOWARDS DEHRADUN	SAHARANPUR	REGULAR	190	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
839	CHHUTMALPUR (WITHIN MUNICIPAL LIMITS) ON SAHARANPUR- DEHRADUN ROAD	SAHARANPUR	REGULAR	120	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
840	BETWEEN KM STONE NO. 46 AND KM STONE NO. 49, SAHARANPUR BYPASS, NH-344, LHS TOWARDS AMBALA	SAHARANPUR	REGULAR	160	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
841	BETWEEN KM STONE NO. 19 AND KM STONE NO. 22 , MUZAFFARNAGAR-GAGALHERI ROAD, SH 59, LHS TOWARDS GAGALHERI	SAHARANPUR	REGULAR	130	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
842	ON SAHARANPUR-BEHAT ROAD FROM GHANTA GHAR CHOWK TOWARDS BEHAT, SH-57, (WITHIN MUNICIPAL LIMITS OF SAHARANPUR)	SAHARANPUR	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
843	BETWEEN KM STONE NO. 47 AND KM STONE NO. 51 , MUZAFFARNAGAR-GAGALHERI ROAD, SH-59, LHS TOWARDS GAGALHERI	SAHARANPUR	REGULAR	140	OBC	СС	35	45	1575	32	12	BIDDING	30	4
844	UPTO 3 KMS ON EITHER SIDE FROM MAIN GATE OF DOON GROUP OF COLLEGES, SAHARNAPUR -DEHRADUN ROAD, NH-307, LHS TOWARDS DEHRADUN	SAHARANPUR	REGULAR	180	OBC	CC	35	45	1575	32	12	BIDDING	30	4
845	FROM DEHRADUN CHOWK ON SAHARANPUR-GAGALHERI ROAD, TOWARDS GAGALHERI (WITHIN SAHARANPUR MUNICIPAL LIMITS)	SAHARANPUR	REGULAR	190	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
846	WITHIN 5 KM FROM POLICE CHOWKI BAHLOLPUR TOWARDS GANGOH ON NANAUTA GANGOH ROAD, SH-167	SAHARANPUR	REGULAR	120	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
847	BETWEEN KM STONE NO. 69 AND KM STONE NO. 71, DEOBAND- MANGLAUR ROAD, SH-167	SAHARANPUR	REGULAR	120	OPEN	DC	35	45	1575	32	75	DRAW OF LOTS	15	5
848	WITHIN 3 KM FROM HOTEL SILVER EXOTICA TOWARDS SAHARANPUR ON SAHARANPUR-SARSAWA ROAD (WITHIN MUNICIPAL LIMITS OF SAHARANPUR)	SAHARANPUR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
849	BETWEEN KM STONE NO. 72 AND KM STONE NO. 79, SAHARANPUR BYPASS, NH-344, LHS TOWARDS DEHRADUN	SAHARANPUR	REGULAR	190	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
850	BETWEEN KM STONE NO. 56 AND KM STONE NO. 60, SAHARANPUR BYPASS, NH-344 LHS TOWARDS AMBALA	SAHARANPUR	REGULAR	190	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
851	BETWEEN KM STONE NO. 88 AND KM STONE NO. 90 ON DELHI- SAHARANPUR ROAD, NH709B, RHS TOWARDS SAHARANPUR	SHAMLI	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
852	BETWEEN KM STONE NO. 80 AND KM STONE NO. 85 ON SHAMLI- KARNAL ROAD, NH 709A, RHS TOWARDS KARNAL	SHAMLI	REGULAR	150	OPEN	СС	35	45	1575	32	12	BIDDING	30	5
853	BETWEEN KM STONE NO. 20 AND KM STONE NO. 22 ON PANIPAT- KHATIMA MARG, NH709AD, EITHER SIDE	SHAMLI	REGULAR	150	OBC	CC	35	45	1575	32	12	BIDDING	30	4
854	BETWEEN KM STONE NO. 46 AND KM STONE NO. 50 ON PANIPAT- KHATIMA MARG, NH709AD, RHS TOWARDS MUZZAFARNAGAR	SHAMLI	REGULAR	150	OBC	CC	35	45	1575	32	12	BIDDING	30	4
	UPTO 5 KMS TOWARDS BUDHANA FROM INTERSECTION WITH DELHI- SAHARANPUR ROAD , ON KANDHLA - BUDHANA ROAD, SH116, EITHER SIDE	SHAMLI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
856	BETWEEN BALWA INTERCHANGE AND SHAMLI TEHSIL, ON SHAMLI BYEPASS, NH 709B	SHAMLI	REGULAR	150	OBC	CC	35	45	1575	32	12	BIDDING	30	4
857	BETWEEN KM STONE NO. 62 TO KM STONE NO. 67 ON NEW SHAMLI BYEPASS, MEERUT- KARNAL ROAD, NH709A, EITHER SIDE	SHAMLI	REGULAR	150	OPEN CC 2	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
858	BETWEEN KM STONE NO 51 AND KM STONE NO 53 ON LHS OF NH 931 FROM GAURIGANJ TOWARDS MUSAFIRKHANA ON GAURIGANJ-MUSAFIRKHANA ROAD	AMETHI	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
859	BETWEEN KM STONE NO 21 AND KM STONE NO 25 ON EITHER SIDE OF SH 110 FROM GAURIGANJ TOWARDS JAMO ON GAURIGANJ- JAMO ROAD	AMETHI	REGULAR	200	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
860	WITHIN 2 KM FROM INTERSECTION POINT OF (LUCKNOW - SULTANPUR ROAD NH731) AND (JAGDISHPUR BYPASS ROAD) ON JAGDISHPUR BYPASS ROAD (NH330A)	AMETHI	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
861	BETWEEN KM STONE NO 38 AND KM STONE NO 40 ON EITHER SIDE OF SH 110 FROM GAURIGANJ TOWARDS ATHEHA ON GAURIGANJ- ATHEHA ROAD	AMETHI	REGULAR	145	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
862	WITHIN MUNICIPAL LIMITS OF GAURIGANJ ON AMETHI-SULTANPUR BYPASS ROAD	AMETHI	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
863	WITHIN MUNICIPAL LIMITS JAIS ON ANY MAJOR ROAD HAVING WIDTH MORE THAN 5 METERS	AMETHI	REGULAR	170	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
	BETWEEN KM STONE NO 38 AND KM STONE NO 40, ON LHS OF NH931A FROM JAIS TOWARDS JAGDISHPUR ON JAIS -JAGDISHPUR ROAD	AMETHI	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
865	EITHER SIDE OF NH931 ON AMETHI BYPASS ROAD	AMETHI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
866	BETWEEN KM STONE NO 86 AND KM STONE NO 90 ON EITHER SIDE OF NH128, FROM SULTANPUR TOWARDS GAURIGANJ ON SULTANPUR -GAURIGANJ ROAD	AMETHI	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
867	ON BANDA PRAYAGRAJ HIGHWAY(WITHIN MUNICIPAL LIMITS ATARRA)	BANDA	REGULAR	220	OPEN	CC	30	30	900	32	12	BIDDING	30	5
868	BETWEEN KM STONE NO 26 AND KM SONE NO. 34 ON RHS OF SH92, FROM BANDA TOWARDS BABERU ON BANDA-BABERU ROAD	BANDA	REGULAR	110	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
869	BETWEEN KM STONE NO. 05 AND KM STONE NO. 15 ON NH335(OLD NH 232), BANDA-FATEHPUR HIGHWAY	BANDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
870	BETWEEN KM STONE NO. 38 AND KM STONE NO. 42 ON SH134, TINDWARI-PAILANI-SUMERPUR ROAD	BANDA	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
871	BETWEEN KM STONE NO. 98 AND KM STONE NO. 103 ON NARAINI- KARTAL ROAD ( SH - 71)	BANDA	REGULAR	165	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
872	WITHIN 3 KM FROM SARDAR VALLABH BHAI PATEL MAHAVIDYALAY TOWARDS KALINJAR ON RHS OF SH 113, BANDA-NARAINI-KALINJAR ROAD	BANDA	REGULAR	200	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M			pe arranged	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
873	BETWEEN KM STONE NO 47 AND KM STONE NO 51 ON NH 35, BANDA-PRAYARAJ ROAD	BANDA	REGULAR	220	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
874	WITHIN 3 KM FROM MAHARANA PRATAP CHAURAHA TOWARDS MAWAI BYPASS ON BANDA-CHILLA GHAT ROAD(WITHIN MUNCIPALITY LIMITS BANDA)	BANDA	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
875	BETWEEN KM STONE NO 55 AND KM STONE NO 59 ON NH35, BANDA-PRAYARAJ ROAD	BANDA	REGULAR	220	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
876	WITHIN 4 KM FROM COMPOSITE VIDYALAYA RAIPURA ON EITHER SIDE ON NH 135 BB	CHITRAKOOT	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
877	WITHIN 5 KM FROM BARGARH MODE TOWARDS PRAYAGRAJ ON KARWI - PRAYAGRAJ ROAD, RHS(NH35)	CHITRAKOOT	REGULAR	225	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
878	ON PATEL TIRAHA-DEVANGNA ROAD (WITHIN MUNCIPAL LIMITS CHITRAKOOTDHAM KARWI)	CHITRAKOOT	REGULAR	150	OBC PH	DC	20	20	400	32	55	DRAW OF LOTS	15	4
	WITHIN 5 KM FROM TRAFFIC CHAURAHA TOWARDS RAJAPUR ON KARWI - RAJAPUR ROAD(WITHIN MUNCIPAL LIMITS CHITRAKOOTDHAM KARWI)	CHITRAKOOT	REGULAR	250	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
880	WITHIN 10 KM FROM BODIPOKHARI CHAURAHA TOWARDS CHITRAKOOT ON CHITRAKOOT- PRAYAGRAJ HIGHWAY,LHS(NH35)	CHITRAKOOT	REGULAR	225	OPEN CC 1	CC	35	35	1225	32	12	BIDDING	30	5
881	WITHIN 4 KM FROM POLICE STATION PAHADI ON PAHADI-ORAN- BISANDA ROAD(SH133)	CHITRAKOOT	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
882	BETWEEN KM STONE NO. 47 AND KM STONE NO. 50 ON CHITRAKOOT- SATNA ROAD(SH 11)	CHITRAKOOT	REGULAR	230	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
883	BETWEEN KM STONE NO. 57 AND KM STONE NO. 60 ON GHATAMPUR-CHAUDAGRA ROAD(WITHIN NAGAR PANCHAYAT LIMITS KORA JAHANABAD)	FATEHPUR	REGULAR	150	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
884	BETWEEN KM STONE NO. 564 AND KM STONE NO. 580 ON LHS OF NH19(OLDNH2), FROM KANPUR TOWARDS PRAYAGRAJ ON KANPUR-PRAYAGRAJ ROAD	FATEHPUR	REGULAR	250	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
885	ON ANY ROAD HAVING WIDTH GREATER THAN 5 METER (WITHIN NAGAR PANCHAYAT LIMITS ASOTHAR TOWN AREA)	FATEHPUR	REGULAR	140	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
886	WITHIN 3 KM FROM BHITAURA CHAURAHA(ON NH19) TOWARDS BHITAURA ON FATEHPUR-BHITAURA ROAD (WITHIN MUNCIPALITY LIMITS FATEHPUR)	FATEHPUR	REGULAR	150	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
	WITHIN 5 KM FROM LUCKNOW CHAURAHA(ON NH19) TOWARDS LALGANJ ON FATEHPUR- LALGANJ ROAD( WITHIN MUNCIPALITY LIMITS FATEHPUR)	FATEHPUR	REGULAR	200	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
888	BETWEEN KM STONE NO. 54 AND KM STONE NO. 57 ON SH 46, GHATAMPUR-CHAUDAGRA ROAD	FATEHPUR	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO. 564 AND KM STONE NO. 569 ON RHS OF NH19( OLD NH2) FROM KANPUR TOWARDS PRAYAGRAJ ON KANPUR- PRAYAGRAJ ROAD	FATEHPUR	REGULAR	220	OBC	CC	35	35	1225	32	12	BIDDING	30	4
I gan	BETWEEN KM STONE NO. 07 AND KM STONE NO. 11 ON SH-71, FROM FATEHPUR TOWARDS AUGASI ON FATEHPUR- AUGASI ROAD	FATEHPUR	REGULAR	170	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO. 521 AND KM STONE NO. 528 ON LHS OF NH19(OLD NH2), FROM FATEHPUR TOWARD KANPUR ON FATEHPUR-KANPUR ROAD	FATEHPUR	REGULAR	200	OBC	СС	35	35	1225	32	12	BIDDING	30	4
892	WITHIN 4 KM FROM HINAUTA MOD TOWARDS DHATA ON HINAUTA- DHATA ROAD(SH170)	FATEHPUR	REGULAR	130	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
893	WITHIN 5 KM FROM GANGA RIVER BRIDGE TOWARDS FATEHPUR ON FATEHPUR-LALGANJ ROAD NH335(OLD NH 232)	FATEHPUR	REGULAR	200	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
894	WITHIN 3KM FROM BAHUA CHAURAHA TOWARDS TINDWARI ON FATEHPUR-TINDWARI- BANDA ROAD (WITHIN NAGAR PANCHAYAT LIMITS BAHUA)	FATEHPUR	REGULAR	250	OPEN	СС	30	30	900	32	12	BIDDING	30	5
895	BETWEEN KM STONE NO. 51 AND KM STONE NO. 54 ON NH 335, FATEHPUR-BANDA ROAD	FATEHPUR	REGULAR	225	OPEN CC 1	CC	35	35	1225	32	12	BIDDING	30	5
896	WITHIN 5 KM FROM BABA JAGESHWAR DHAM TOWARDS GAZIPUR ON GAZIPUR-ASOTHAR ROAD(SH 170)	FATEHPUR	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
897	WITHIN 5 KM FROM KATRA MODE TOWARDS SARAIKIL ON PURAMUFTI-KAUSHAMBI ROAD(SH95)	KAUSHAMBI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
898	WITHIN 4 K M FROM PURAMUFTI POLICE STATION TOWARDS KANPUR ON SH106	KAUSHAMBI	REGULAR	170	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
899	WITHIN 3 KM FROM MANJHANPUR CHAURAHA TOWARDS TEDIMOD ON-KORRON-SHUJAATPUR-TEDIMOD ROAD (WITHIN MUNCIPALITY LIMITS MANJHANPUR)	KAUSHAMBI	REGULAR	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. N		Finance to I by the a	oe arranged pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
900	VILLAGE PATTI NARWAR UPARHAR TEHSIL CHAIL ON RAMVANGAMAN MARG	KAUSHAMBI	REGULAR	190	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
901	BETWEEN KM STONE NO. 60 AND KM STONE NO. 67 NH-731A, MURATGANJ-MAHEBA GHAT ROAD	KAUSHAMBI	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
902	BETWEEN KM STONE NO. 598 AND KM STONE NO. 601 ON LHS OF NH19(OLD NH2), FROM KANPUR TOWARDS PRAYAGRAJ ON KANPUR- PRAYAGRAJ HIGHWAY	KAUSHAMBI	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
903	WITHIN NAGAR PANCHAYAT LIMITS OF DHAKWA ON ANY MAJOR ROAD HAVING WIDTH GREATER THAN 5 METERS	PRATAPGARH	REGULAR	160	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
904	BETWEEN KM STONE NO 157 AND KM STONE NO 161 ON EITHER SIDE OF NH 30, FROM UNCHAHAR TOWARDS PRAYAGRAJ ON UNCHAHAR - PRAYAGRAJ ROAD	PRATAPGARH	REGULAR	230	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
905	BETWEEN KM STONE NO 93 AND KM STONE NO 95 ON LHS OF NH330, FROM SULTANPUR TOWARDS PRAYAGRAJ ON SULTANPUR - PRAYAGRAJ ROAD	PRATAPGARH	REGULAR	230	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
906	BETWEEN KM STONE NO 636 AND KM STONE NO 638 FROM KAUSHAMBI TOWARDS PRAYAGRAJ ON KAUSHAMBI-PRAYAGRAJ HIGHWAY ,LHS(NH19)	PRATAPGARH	REGULAR	230	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
907	WITHIN 2 KM FROM SONELAL PATEL MEDICAL COLLEGE TOWARDS KARAUNDI GHAT ON RAMVAN GAMAN MARG(PRATAPGARH BYPASS ROAD)	PRATAPGARH	REGULAR	210	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
908	WITHIN MUNICIPAL LIMITS BELHA PRATAPGARH ON ANY MAJOR ROAD HAVING WIDTH GREATER THAN 5 METERS	PRATAPGARH	REGULAR	190	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
909	GEORGE TOWN ON LIDDLE ROAD (WITHIN MUNICIPAL LIMITS, PARAYAGRAJ)	PRAYAGRAJ	REGULAR	200	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
910	BETWEEN KM STONE NO 181 AND KM STONE NO 185 ON LHS OF NH 30, FROM PRAYAGRAJ TOWARDS LUCKNOW ON PRAYGRAJ- LUCKNOW ROAD	PRAYAGRAJ	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
911	PHULPUR (WITHIN MUNICIPAL LIMITS) ON ANY MAJOR ROAD WITH WIDTH MORE THAN 5 METERS	PRAYAGRAJ	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
912	WITHIN 2 KM FROM JHUNSI POLICE THANA ON OLD GT ROAD (WITHIN MUNICIPAL LIMITS, PRAYAGRAJ)	PRAYAGRAJ	REGULAR	170	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
	BETWEEN KM STONE NO. 33 AND KM STONE NO. 36 ON LHS OF NH30, FROM REEWA TOWARDS PRAYAGRAJ ON REEWA TO PRAYAGRAJ ROAD	PRAYAGRAJ	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
914	LALGOPALAGANJ (WITHIN MUNICIPAL LIMITS) ON ANY MAJOR ROAD WITH WIDTH MORE THAN 5 METERS	PRAYAGRAJ	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
915	BETWEEN KM STONE NO 177 AND KM STONE NO 181 FROM PRAYAGRAJ TOWARDS LUCKNOW ON PRAYAGRAJ TO LUCKNOW ROAD, LHS (NH30)	PRAYAGRAJ	REGULAR	150	OBC	DC	40	45	1800	32	95	DRAW OF LOTS	15	4
916	BETWEEN KM STONE NO 23 AND KM STONE NO 26 ON RHS OF NH30, FROM PRAYAGRAJ TOWARDS REEWA ON PRAYAGRAJ- REEWA ROAD	PRAYAGRAJ	REGULAR	200	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
917	KORAON TO KOHRAR ROAD (WITHIN MUNICIPAL LIMITS, KORAON)	PRAYAGRAJ	REGULAR	160	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
918	BETWEEN KM STONE NO 39 AND KM STONE NO 43 FROM PRAYAGRAJ TOWARDS REEWA ON PRAYAGRAJ TO REEWA ROAD, RHS (NH30)	PRAYAGRAJ	REGULAR	180	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
919	BETWEEN KM STONE NO 176 AND KM STONE NO 179 ON NH35,PRAYAGRAJ- BANDA ROAD	PRAYAGRAJ	REGULAR	150	OBC CC 1	CC	35	35	1225	32	12	BIDDING	30	4
920	LALA LAJPAT RAI ROAD (WITHIN MUNICIPAL LIMITS, PRAYAGRAJ)	PRAYAGRAJ	REGULAR	170	OPEN	CC	20	20	400	32	12	BIDDING	30	5
921	BETWEEN BANK ROAD FOUNTAIN AND LAKSHMI CHAURAHA ON BANK ROAD (WITHIN MUNICIPAL LIMITS, PRAYAGRAJ)	PRAYAGRAJ	REGULAR	170	OPEN	CC	20	20	400	32	12	BIDDING	30	5
922	BETWEEN SEVA SAMITI CHAURAHA AND OLD GT ROAD ON KP KAKKAR ROAD (WITHIN MUNICIPAL LIMITS, PRAYAGRAJ)	PRAYAGRAJ	REGULAR	160	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
	LIC ROAD (WITHIN MUNICIPAL LIMITS, PRAYAGRAJ)	PRAYAGRAJ	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
924	IN BETWEEN JHALWA TIRAHA (GHUNGHARU TIRAHA) AND RAJROOP PUR POLICE CHOWKI ON KAUSHAMBI ROAD (WITHIN MUNICIPAL LIMITS, PRAYAGRAJ)	PRAYAGRAJ	REGULAR	170	OPEN	СС	20	20	400	32	12	BIDDING	30	5
925	BETWEEN IIIT CHAURAHA AND KHELGAON PUBLIC SCHOOL ON ASRAWEN KALAN ROAD (WITHIN MUNICIPAL LIMTS, PRAYAGRAJ)	PRAYAGRAJ	REGULAR	160	OPEN	СС	18	18	324	32	12	BIDDING	30	5
926	WITHIN 1 KM OF LUKERGANJ POLICE CHOWKI ON ANY MAJOR ROAD OF WITDH MORE THAN 5 METERS	PRAYAGRAJ	REGULAR	160	OPEN	СС	18	18	324	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to I	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
927	BETWEEN KM STONE NO 236 AND KM STONE NO 241 ON RHS OF NH35 FROM PRAYAGRAJ TOWARDS MIRZAPUR ON PRAYAGRAJ TO MIRZAPUR ROAD	PRAYAGRAJ	REGULAR	160	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
928	BETWEEN EKLAVYA CHAURAHA TO VIVEKANAND CHAURAHA, ON OP TANDON ROAD (WITHIN MUNICIPAL LIMITS, PRAYGRAJ)	PRAYAGRAJ	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
929	DR RAM MANOHAR LOHIYA ROAD (WITHIN MUNICIAPL LIMITS, PRAYGRAJ)	PRAYAGRAJ	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
930	on New Ringroad Prayagraj (Sarangapur,Reewa Road to Jagbandhanpur, Sahson)	PRAYAGRAJ	REGULAR	160	OPEN	СС	45	45	2025	32	12	BIDDING	30	5
931	BETWEEN KM STONE NO 177 AND KM STONE NO 181 FROM PRAYAGRAJ TOWARDS LUCKNOW ON PRAYAGRAJ TO LUCKNOW ROAD, RHS (NH30)	PRAYAGRAJ	REGULAR	150	OPEN	CC	40	45	1800	32	12	BIDDING	30	5
932	IN BETWEEN COTTON MILL TIRAHA AND ITI NAINI FROM PRAYAGRAJ TOWARDS MIRZAPUR ON PRAYAGRAJ- MIRZAPUR ROAD, RHS (WITHIN MUNICIPAL LIMITS, PRAYAGRAJ)	PRAYAGRAJ	REGULAR	150	OPEN	CC	30	30	900	32	12	BIDDING	30	5
933	BETWEEN KM STONE NO 39 AND KM STONE NO 43 ON RHS OF NH30, FROM PRAYAGRAJ TOWARDS REEWA ON PRAYGRAJ TO REEWA ROAD	PRAYAGRAJ	REGULAR	230	OBC	CC	35	35	1225	32	12	BIDDING	30	4
934	BETWEEN KM STONE NO 6 AND KM STONE NO 10 FROM PRAYGRAJ TOWARDS PRATAPGARH ON PRAYAGRAJ TO PRATAPAGARH ROAD, LHS (NH 330)	PRAYAGRAJ	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
935	BETWEEN KM STONE NO 178 AND KM STONE NO 181 FROM PRAYAGRAJ TOWARDS LUCKNOW ON PRAYGRAJ - LUCKNOW ROAD, RHS (NH 30)	PRAYAGRAJ	REGULAR	190	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
936	BETWEEN ANDAWAN CHAURAHA AND ROYAL CAFÉ FROM PRAYAGRAJ TOWARDS PHULPUR ON PRAYAGRAJ - SAHSON ROAD, LHS (STATE HIGHWAY)	PRAYAGRAJ	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
937	BETWEEN KM STONE NO 24 AND 28 ON SH 102, NARIBARI TO KORAON ROAD	PRAYAGRAJ	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
938	BETWEEN KM STONE NO 4 AND KM STONE NO 7 ON NH 135C	PRAYAGRAJ	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
939	BETWEEN KM STONE NO 9 AND 13 ON SH(102), NARIBARI TO KORAON ROAD	PRAYAGRAJ	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M			be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
940	BETWEEN KM STONE NO 663 AND KM STONE NO 668 ON RHS OF NH19, FROM KANPUR TOWARDS VARANASI ON KANPUR - VARANASI ROAD	PRAYAGRAJ	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
941	BETWEEN KM STONE NO 28 AND KM STONE NO 34 ON LHS OF NH 135 C, FROM KORAON TOWARDS DRAMANDGANJ ON KORAON- DRAMANDGANJ ROAD	PRAYAGRAJ	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
942	WITHIN 3 KMS OF SHRI LAKSHAMAN PURVA MADHYAMIK VIDYALAY GADAIYA LONIPAR NARIBARI SHANKARGARH ON SH102	PRAYAGRAJ	REGULAR	150	OBC	DC	35	45	1575	32	75	DRAW OF LOTS	15	4
943	BETWEEN KM STONE NO 12 AND KM STONE NO 17 ON LHS NH 35 FROM PRAYAGRAJ TOWARDS REEWA ON PRAYAGRAJ TO REEWA ROAD	PRAYAGRAJ	REGULAR	200	OBC	CC	40	40	1600	32	12	BIDDING	30	4
944	BETWEEN KM STONE NO 51 AND KM STONE NO 54 ON LHS OF NH 135C, FROM KORAON TOWARDS DRAMANDGANJ ON KORAON - DRAMANDGANJ ROAD	PRAYAGRAJ	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
945	BETWEEN KM STONE NO 45 AND KM STONE NO 50 ON LHS OF NH30 FROM LUCKNOW TOWARDS RAEBARELI ON LUCKNOW -RAEBARELI ROAD	RAEBARELI	REGULAR	300	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
946	WITHIN NAGAR PANCHAYAT LIMITS BACHHRAWAN ON ANY MAJOR ROAD HAVING WIDTH GREATER THAN 5 METER	RAEBARELI	REGULAR	250	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
947	WITHIN 4 KM FROM GANDHI CHAURAHA TOWARDS SEMERPAHA ON SEMERPAHA-LALGANJ BYPASS ROAD, EITHER SIDE (NH335)	RAEBARELI	REGULAR	205	OPEN	DC	40	45	1800	32	95	DRAW OF LOTS	15	5
948	WITHIN 4 KM OF DUSAUTI CHAURAHA TOWARDS RAEBARELI ON AYODHYA-RAEBARELI ROAD , LHS (NH330A)	RAEBARELI	REGULAR	200	OBC	СС	35	35	1225	32	12	BIDDING	30	4
949	BETWEEN KM STONE NO 117 AND KM STONE NO 120 ON EITHER SIDE OF NH 31, FROM RAEBARELI TOWARDS SALON ON RAEBARELI - SALON ROAD	RAEBARELI	REGULAR	150	SC PH	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
950	WITHIN NAGAR PANCHAYAT LIMITS LALGANJ ON ANY MAJOR ROAD HAVING WIDTH GREATER THAN 5 METER	RAEBARELI	REGULAR	210	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
951	WITHIN MUNICIPAL LIMITS RAEBARELI ON ANY MAJOR ROAD HAVING WIDTH GREATER THAN 5 METER	RAEBARELI	REGULAR	200	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
952	WITHIN 2 KM FROM DUSAUTI CHAURAHA TOWARDS MOHANGANJ ON LHS OF NH330A ON RAE BARELI- AYODHYA HIGHWAY	RAEBARELI	REGULAR	340	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
953	BETWEEN KM STONE NO 207 AND KM STONE NO 211 ON LHS OF SH13, FROM BACHHRAWAN TOWARDS LALGANJ ON BACHHRAWAN-LALGANJ ROAD	RAEBARELI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
954	BETWEEN KM STONE NO 19 AND KM STONE NO 22 ON EITHER SIDE SH13A, FROM RAEBARELI TOWARDS DALMAU ON RAEBARELI- DALMAU ROAD	RAEBARELI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	WITHIN 2 KM OF MOHANGANJ CHAURAHA FROM MOHANGANJ CHAURAHA ON LHS OF NH 330A, TOWARDS RAEBARELI ON AYODHYA-RAEBARELI ROAD	RAEBARELI	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO. 124 AND KM STONE NO. 127 ON RHS OF NH31, FROM LUCKNOW TOWARDS SALON ON RAEBARELI- PRATAPGARH HIGHWAY	RAEBARELI	REGULAR	160	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5
1 45/	WITHIN 5 KM OF NAYARA PETROL PUMP (MAA VAISHNI FILLING STATION-ESSAR) FROM NAYARA PETROL PUMP (MAA VAISHNI FILLING STATION-ESSAR) TOWARDS HAIDARGARH ON MAHARAJGANJ-HAIDARGARH ROAD , EITHER SIDE (SH13A)	RAEBARELI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
958	BETWEEN KM STONE NO 59 AND KM STONE NO 62 FROM LUCKNOW TOWARDS RAEBARELI ON LUCKNOW -RAEBARELI ROAD,LHS (NH30)	RAEBARELI	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
959	BETWEEN KM STONE NO 118 AND KM STONE NO 120 ON LHS OF NH30,FROM RAEBARELI TOWARDS KUNDA ON RAEBARELI-KUNDA ROAD	RAEBARELI	REGULAR	220	OBC	СС	35	35	1225	32	12	BIDDING	30	4
960	WITHIN 5 KM OF TRIPULA CHAURAHA ON RAEBARELI - MAHARAJGANJ ROAD (SH13A)	RAEBARELI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO 75 AND KM STONE NO 78 ON EITHER SIDE OF NH31, FROM LALGANJ TOWARDS RAEBARELI ON LALGANJ - RAEBARELI ROAD	RAEBARELI	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
962	WITHIN NAGAR PANCHAYAT LIMITS KOIRIPUR ON ALL MAJOR ROADS HAVING WIDTH MORE THAN 5 METERS	SULTANPUR	REGULAR	135	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO 172 AND KM STONE NO 177, ON RHS OF NH731 FROM LUCKNOW TOWARDS SULTANPUR ON LUCKNOW - SULTANPUR ROAD	SULTANPUR	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. N		Finance to I by the a	oe arranged pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
964	WITHIN 5 KM FROM TATIANAGAR CHOURAHA TOWARDS FAIZABAD ON SULTANPUR-FAIZABAD BYPASS ROAD (NH330)	SULTANPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
965	BETWEEN KM STONE NO 164 AND KM STONE NO 169 RHS OF NH731, FROM LUCKNOW TOWARDS SULTANPUR ON LUCKNOW - SULTANPUR ROAD	SULTANPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
966	WITHIN NAGAR PANCHAYAT LIMITS DOSTPUR ON ALL MAJOR ROADS HAVING WIDTH MORE THAN 5 METERS	SULTANPUR	REGULAR	135	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
	BETWEEN KM STONE NO 160 AND KM STONE NO 163 ON LHS OF NH731, FROM LUCKNOW TOWARDS SULTANPUR ON LUCKNOW - SULTANPUR ROAD	SULTANPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO 178 AND KM STONE NO 182 ON RHS OF NH 731, FROM LUCKNOW TOWARDS SULTANPUR ON LUCKNOW - SULTANPUR ROAD	SULTANPUR	REGULAR	150	OBC	DC	40	45	1800	32	95	DRAW OF LOTS	15	4
	WITHIN 10 KM FROM ASROGA TOLL PLAZA ON RHS OF NH731 FROM ASROGA TOLL PLAZA TOWARDS MUSAFIRKHANA ON SULTANPUR-LUCKNOW ROAD	SULTANPUR	REGULAR	150	OPEN PH	DC	40	45	1800	32	95	DRAW OF LOTS	15	5
970	BETWEEN KM STONE NO 73 AND KM STONE NO 78 ON EITHER SIDE OF NH128, FROM SULTANPUR TOWARDS RAEBARELI ON SULTANPUR-RAEBARELI ROAD	SULTANPUR	REGULAR	150	OBC	DC	40	45	1800	32	95	DRAW OF LOTS	15	4
971	BETWEEN KM STONE NO 152 AND KM STONE NO 157 FROM LUCKNOW TOWARDS SULTANPUR ON LUCKNOW -SULTANPUR ROAD ,LHS (NH731)	SULTANPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
972	IN BETWEEN SHRI SINGH RAI BHALE SULTAN INTER COLLEGE (AT HALIYAPUR) AND SULTANPUR -AMETHI BORDER FROM HALIYAPUR TOWARDS JAGDISHPUR, RHS (NH330A)	SULTANPUR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
973	WITHIN 10 KM FROM ASROGA TOLL PLAZA ON RHS OF NH731 FROM ASROGA TOLL PLAZA TOWARDS JAUNPUR ON SULTANPUR- LUCKNOW ROAD	SULTANPUR	REGULAR	150	OPEN CC 2	DC	40	45	1800	32	95	DRAW OF LOTS	15	5
974	WITHIN 7 KM FROM TATIANAGAR CHOURAHA TOWARDS VARANASI ON SULTANPUR-FAIZABAD BYPASS ROAD (NH330)	SULTANPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
975	WITHIN NAGAR PANCHAYAT LIMITS KADIPUR ON ALL MAJOR ROADS HAVING WIDTH MORE THAN 5 METERS	SULTANPUR	REGULAR	135	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
976	VILLAGE- KAMHENPUR, TEHSIL- SADAR ON NH 28 (AZAMGARH BYPASS ROAD)	AZAMGARH	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
977	VILLAGE -BHEERA,TEHSIL- MARTINGANJ ON NH 128A(JAUNPUR- AZAMGARH ROAD)	AZAMGARH	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
978	VILLAGE- KRITMALPUR,TEHSIL- MARTINGANJ ON NH128A(JAUNPUR- AZAMGARH ROAD)	AZAMGARH	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
979	VILLAGE- LAHBARIYA, TEHSIL- NIZAAMABAD ON NH 28(VARANASI - AZAMGARH ROAD)	AZAMGARH	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	BETWEEN KM STONE NO 260 AND KM STONE NO 263 ON NH28 , FROM VARANASI TOWARDS AZAMGARH, ON LHS (VARANASI- AZAMGARH ROAD)	AZAMGARH	REGULAR	200	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
981	BETWEEN KM STONE NO 256 AND KM STONE NO 260 ON NH28, ON EITHER SIDE (VARANASI -AZAMGARH ROAD)	AZAMGARH	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
982	BETWEEN KM STONE NO 20 AND KM STONE NO 24 ON SH124, ON EITHER SIDE(BUDHANPUR-AMBARI ROAD)	AZAMGARH	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
983	VILLAGE-SHAHPURKANOONGO,TEHSIL- MEHNAGAR ON SH149 (CHIRIYAKOT-KHARIHANI ROAD)	AZAMGARH	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
984	VILLAGE-AKHAIPUR, TEHSIL- SAGDI ON NH28 (VARANASI -TANDA ROAD)	AZAMGARH	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
985	Village-Jehrapipri,Tehsil- Sagdi on NH28(Varanasi-Tanda Road)	AZAMGARH	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
986	BETWEEN KM STONE NO 240 AND KM STONE NO 245 ON SH 34, ON EITHER SIDE (AZAMGARH -SHAHGANJ ROAD)	AZAMGARH	REGULAR	200	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
987	BETWEEN KM STONE NO 248 AND KM STONE NO 252 ON NH28, ON EITHER SIDE (VARANASI -AZAMGARH ROAD)	AZAMGARH	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
988	VILLAGE -LACHIRAMPUR,TEHSIL- SADAR ON NH 128C (BHAWARNATH-DOHRIGHAT ROAD)	AZAMGARH	REGULAR	250	OBC	СС	35	35	1225	32	12	BIDDING	30	4
989	BETWEEN KM STONE NO 240 AND KM STONE NO 244 ON NH28, ON EITHER SIDE(VARANASI- AZAMGARH ROAD)	AZAMGARH	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
990	BETWEEN KM STONE NO 728 AND KM STONE NO 735 ON NH 19,FROM PRAYAGRAJ TOWARDS VARANASI, ON LHS (PRAYAGRAJ- VARANASI ROAD)	BHADOHI	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
	BETWEEN KM STONE NO 728 AND KM STONE NO 732 ON NH 19,FROM PRAYAGRAJ TOWARDS VARANASI, ON RHS (PRAYAGRAJ- VARANASI ROAD)	BHADOHI	REGULAR	200	OPEN	CC	50	50	2500	32	12	BIDDING	30	5
	BETWEEN KM STONE NO 748 AND KM STONE NO 751 ON NH 19,FROM PRAYAGRAJ TOWARDS VARANASI, ON RHS (PRAYAGRAJ- VARANASI ROAD)	BHADOHI	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
993	BETWEEN KM STONE NO 735 AND KM STONE NO 740 ON NH 19,FROM PRAYAGRAJ TOWARDS VARANASI, ON LHS ( PRAYAGRAJ- VARANASI ROAD)	BHADOHI	REGULAR	200	OPEN	DC	45	45	2025	32	95	DRAW OF LOTS	15	5
994	BETWEEN KM STONE NO 752 AND KM STONE NO 755 ON NH 19, FROM PRAYAGRAJ TOWARDS VARANASI, ON RHS (PRAYAGRAJ- VARANASI ROAD)	BHADOHI	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
995	WITHIN 2 KM FROM AURAI CHAURAHA TOWARDS BHADOI ON NH 135A,ON EITHER SIDE (AURAI CHAURAHA-BHADOI ROAD)	BHADOHI	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
996	ON ANY ROAD OF WIDTH 5 METERS AND ABOVE (NOT ON NH) WITHIN MUNICIPAL LIMITS SANTRAVIDAS NAGAR	BHADOHI	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
997	WITHIN 3 KM FROM PHOOLAN DEVI TIRAHA ON NH 731B, ON EITHER SIDE (JANGHAI-VARANASI ROAD)	BHADOHI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
998	BETWEEN KM STONE NO 836 AND KM STONE NO 840 ON NH 19, FROM VARANASI TOWARDS KOLKATA, ON LHS (VARANASI - KOLKATA ROAD)	CHANDAULI	REGULAR	500	OPEN CC 1	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
999	BETWEEN KM STONE NO 814 AND KM STONE NO 817 ON NH 19, FROM VARANASI TOWARDS KOLKATA, ON LHS ( VARANASI- KOLKATA ROAD)	CHANDAULI	REGULAR	500	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
1000	WITHIN 2 KM FROM KOTWALI MUGHALSARAI ON MUGHALSARAI- VARANASI ROAD (WITHIN MUNICIPAL LIMITS DEEN DAYAL UPADHYAY NAGAR)	CHANDAULI	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1001	BETWEEN KM STONE NO 1 AND KM STONE NO 5 ON SH 69, ON EITHER SIDE ( CHAHANIYA - SAIDPUR ROAD)	CHANDAULI	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1002	BETWEEN KM STONE NO 808 AND KM STONE NO 812 ON NH 19, FROM VARANASI TOWARDS KOLKATA, ON RHS (VARANASI - KOLKATA ROAD)	CHANDAULI	REGULAR	250	OPEN	CC	35	45	1575	32	12	BIDDING	30	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
	BETWEEN KM STONE NO 836 AND KM STONE NO 840 ON NH 19, FROM VARANASI TOWARDS KOLKATA, ON RHS (VARANASI - KOLKATA ROAD)	CHANDAULI	REGULAR	500	SC PH	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO 840 AND KM STONE NO 843 ON NH 19, FROM VARANASI TOWARDS KOLKATA, ON RHS (VARANASI - KOLKATA ROAD)	CHANDAULI	REGULAR	500	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1005	BETWEEN KM STONE NO 840 AND KM STONE NO 843 ON NH 19, FROM VARANASI TOWARDS KOLKATA, ON LHS (VARANASI - KOLKATA ROAD)	CHANDAULI	REGULAR	500	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
1006	BETWEEN KM STONE NO 23 AND KM STONE NO 29 ON SH 69, ON EITHER SIDE ( CHAHANIYA - SAIDPUR ROAD)	CHANDAULI	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	BETWEEN KM STONE NO 823 AND KM STONE NO 834 ON NH 19, FROM VARANASI TOWARDS KOLKATA, ON RHS (VARANASI - KOLKATA ROAD)	CHANDAULI	REGULAR	500	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
	BETWEEN KM STONE NO 817 AND KM STONE NO 825 ON NH 19, FROM VARANASI TOWARDS KOLKATA, ON LHS (VARANASI - KOLKATA ROAD)	CHANDAULI	REGULAR	500	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
1009	VILLAGE - DALPAT PATTI,TEHSIL-JAKHANIA ON NH124D (SHIKHARI- DULLAHPUR ROAD)	GHAZIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1010	WITHIN 5KM FROM RAUZA TIRAHA TOWARDS BALIA ON NH 31, ON EITHER SIDE (GHAZIPUR -BALIA ROAD)	GHAZIPUR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	BETWEEN KM STONE NO 215 AND KM STONE NO 225 ON NH 24, FROM MAU TOWARDS GHAZIPUR, ON RHS (GORAKHPUR - VARANASI ROAD)	GHAZIPUR	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1012	BETWEEN KM STONE NO 0 AND KM STONE NO 8 ON NH124C, ON EITHER SIDE (TADIGHAT - BARA ROAD)	GHAZIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO 62 AND KM STONE NO 69 ON NH 31, FROM VARANASI TOWARDS GHAZIPUR, ON LHS (VARANASI- GHAZIPUR ROAD)	GHAZIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1014	BETWEEN KM STONE NO 420 AND KM STONE NO 428 ON NH 31, ON EITHER SIDE (GHAZIPUR -BALIA ROAD)	GHAZIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M			applicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1015	BETWEEN KM STONE NO 41 AND KM STONE NO 47 ON NH 31, FROM VARANASI TOWARDS GHAZIPUR, ON LHS (VARANASI- GHAZIPUR ROAD)	GHAZIPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1016	BETWEEN KM STONE NO 76 AND KM STONE NO 83 ON NH 31, FROM MAHARAJGANJ TOWARDS JANGIPUR, ON LHS (MAHARAJGANJ - JANGIPUR BYPASS)	GHAZIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1017	BETWEEN KM STONE NO 33 AND KM STONE NO 38 ON NH124C , ON EITHER SIDE (TADIGHAT - BARA ROAD)	GHAZIPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1018	BETWEEN KM STONE NO 212 AND KM STONE NO 222 ON NH24, FROM MAU TOWARDS GHAZIPUR, ON LHS (GORAKHPUR - VARANASI ROAD)	GHAZIPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1019	FROM YADAV MOD TOWARDS HANSRAJPUR, ON EITHER SIDE, WITHIN NAGAR PANCHAYAT LIMITS JANGIPUR (JANGIPUR - HANSRAJPUR ROAD)	GHAZIPUR	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1020	BETWEEN KM STONE NO 47 AND KM STONE NO 50 ON NH 31, FROM VARANASI TOWARDS GHAZIPUR, ON RHS (VARANASI - GHAZIPUR ROAD)	GHAZIPUR	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1021	BETWEEN KM STONE NO 36 AND KM STONE NO 43 ON NH 135A, ON EITHER SIDE (BHADOI -JAUNPUR ROAD)	JAUNPUR	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1022	VILLAGE- BADAGAON, TEHSIL- SHAHGANJ ON SH34(SHAHGANJ- SULTANPUR ROAD)	JAUNPUR	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1023	BETWEEN KM STONE NO 209 AND KM STONE NO 215 ON NH731, ON EITHER SIDE (JAUNPUR -SULTANPUR ROAD)	JAUNPUR	REGULAR	200	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
1024	ON ANY MAJOR ROAD OF WIDTH 5 METERS AND ABOVE (NOT ON NH) WITHIN MUNICIPAL LIMITS SHAHGANJ	JAUNPUR	REGULAR	200	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1025	VILLAGE- KOTWA,TEHSIL- MACHHALISHAR ON NH731B (MACHHLISAHAR- JHANGHAI ROAD)	JAUNPUR	REGULAR	180	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1026	BETWEEN KM STONE NO 226 AND KM STONE NO 230 ON NH 31, ON EITHER SIDE (VARANASI-JAUNPUR ROAD)	JAUNPUR	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1027	VILLAGE -SADHAPUR, TEHSIL- BADLAPUR ON NH731(JAUNPUR- SULTANPUR ROAD)	JAUNPUR	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1028	VILLAGE- BISUNPUR LEBRUA, TEHSIL- KERAKAT ON NH 28(VARANASI- AZAMGARH ROAD)	JAUNPUR	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1029	VILLAGE -KUSRANA, TEHSIL-KERAKAT ON NH731 (JAUNPUR - CHANDWAK ROAD )	JAUNPUR	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1030	BETWEEN KM STONE NO 245 AND KM STONE NO 252 ON NH 31, ON EITHER SIDE (VARANASI-JAUNPUR ROAD)	JAUNPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1031	VILLAGE- MUSTAFABAD,TEHSIL- MACHHLISHAHAR ON SH 151( MACHHLISHAHAR -SUJANGANJ ROAD)	JAUNPUR	REGULAR	200	OBC	СС	35	35	1225	32	12	BIDDING	30	4
1032	VILLAGE-SAROKHANPUR,TEHSIL- BADLAPUR ON SH7(MUGRA BADSHAHPUR-SHAHGANJ ROAD)	JAUNPUR	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1033	BETWEEN KM STONE NO 95 AND KM STONE NO 105 ON NH 135A, ON EITHER SIDE(JAUNPUR-SHAHGANJ ROAD)	JAUNPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1034	BETWEEN KM STONE NO 200 AND KM STONE NO 205 ON NH731, FROM JAUNPUR TOWARDS SULTANPUR, ON LHS (JAUNPUR- SULTANPUR ROAD)	JAUNPUR	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1035	BETWEEN KM STONE NO 235 AND KM STONE NO 240 ON NH 31, ON EITHER SIDE(VARANASI-JAUNPUR)	JAUNPUR	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1036	BETWEEN KM STONE NO 195 AND KM STONE NO 198 ON NH731, FROM JAUNPUR TOWARDS SULTANPUR, ON RHS (JAUNPUR- SULTANPUR ROAD)	JAUNPUR	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1037	VILLAGE-CHORSAND, TEHSIL- SADAR ON NH 128A(JAUNPUR - AZAMGARH ROAD)	JAUNPUR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1038	VILLAGE -KASBA GHISUA KHAS ,TEHSIL- MACHHLISAHAR ON NH 31(JAUNPUR- PRATAPGARH ROAD)	JAUNPUR	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1039	BETWEEN KM STONE NO 60 AND KM STONE NO 65 ON NH 135A, ON EITHER SIDE (BHADOI -JAUNPUR ROAD)	JAUNPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1040	BETWEEN KM STONE NO 80 AND KM STONE NO 88 ON NH 135A, ON EITHER SIDE(JAUNPUR -SHAHGANJ ROAD)	JAUNPUR	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1041	VILLAGE -GAURA,TEHSIL- SADAR ON NH 128A (JAUNPUR- AZAMGARH ROAD)	JAUNPUR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1042	VILLAGE-DILSHADPUR,TEHSIL-MAUNATH BHANJAN ON NH128B (MAU-BALIA ROAD)	MAU	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1043	ON ANY MAJOR ROAD OF WIDTH 5 METERS AND ABOVE (NOT ON NH)WITHIN MUNICIPAL LIMITS WALEEDPUR NAGAR PANCHAYAT	MAU	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1044	BETWEEN KM STONE NO 165 AND KM STONE NO 170 ON NH24, ON EITHER SIDE (VARANASI- GORAKHPUR ROAD)	MAU	REGULAR	250	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1045	WITHIN 2 KM FROM GHAZIPUR TIRAHA TOWARDS KOPAGANJ ON GAZIPUR TIRAHA-KOPAGANJ ROAD	MAU	REGULAR	250	OPEN	CC	20	20	400	32	12	BIDDING	30	5
1046	BETWEEN KM STONE NO 170 AND KM STONE NO 175 ON NH24, ON EITHER SIDE (VARANASI -GORAKHPUR ROAD)	MAU	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1047	VILLAGE -RASOOLPUR JAGDEV, TEHSIL- GHOŚI ON SH107 (GHOSI - MAJHWARA ROAD)	MAU	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1048	ON ANY MAIN ROAD OF WIDTH 5 METERS AND ABOVE (NOT ON NH) WITHIN MUNICIPAL LIMITS MAU NAGAR PALIKA PARISHAD	MAU	REGULAR	200	OPEN	СС	20	20	400	32	12	BIDDING	30	5
1049	Village- Farsara Khurd, Tehsil- Ghosi on NH24(Varanasi- Gorakhpur Road)	MAU	REGULAR	200	OPEN CC 1	СС	35	35	1225	32	12	BIDDING	30	5
1050	BETWEEN KM STONE NO 138 AND KM STONE NO 140 ON NH 135,FROM MIRZAPUR TOWARDS REWA,ON RHS ( MIRZAPUR -REWA ROAD)	MIRZAPUR	REGULAR	250	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1051	BETWEEN KM STONE NO 128 AND KM STONE NO 132 ON NH 135, FROM MIRZAPUR TOWARDS REWA, ON RHS (MIRZAPUR -REWA ROAD)	MIRZAPUR	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1052	BETWEEN KM STONE NO 65 AND KM STONE NO 68 ON NH 135, FROM VARANASI TOWARDS REWA, ON LHS (VARANASI-REWA ROAD)	MIRZAPUR	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1053	BETWEEN KM STONE NO 50 AND KM STONE NO 55 ON NH 35, FROM VARANASI TOWARDS REWA, ON LHS (VARANASI-REWA ROAD)	MIRZAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1054	BETWEEN KM STONE NO 45 AND KM STONE NO 50 ON NH 35,FROM VARANASI TOWARDS REWA, ON LHS (VARANASI-REWA ROAD)	MIRZAPUR	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
1055	BETWEEN KM STONE NO 50 AND KM STONE NO 55 ON NH 35, FROM VARANASI TOWARDS REWA, ON RHS (VARANASI-REWA ROAD)	MIRZAPUR	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
1056	BETWEEN KM STONE NO 22 AND KM STONE NO 25 ON NH 35,ON EITHER SIDE(VARANASI-REWA ROAD)	MIRZAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1057	BETWEEN KM STONE NO 327 AND KM STONE NO 332 ON SH 5, ON EITHER SIDE (MIRZAPUR-ROBERTSGANJ ROAD)	MIRZAPUR	REGULAR	100	OBC	CC	35	35	1225	32	12	BIDDING	30	4
1058	BETWEEN KM STONE NO 75 AND KM STONE NO 80 ON NH 135,FROM VARANASI TOWARDS REWA, ON RHS (VARANASI-REWA ROAD)	MIRZAPUR	REGULAR	150	OPEN CC 1	CC	35	35	1225	32	12	BIDDING	30	5
1059	BETWEEN KM STONE NO 288 AND KM STONE NO 290 ON NH 35,FROM PRAYAGRAJ TOWARDS MIRZAPUR, ON LHS (PRAYAGRAJ- MIRZAPUR ROAD)	MIRZAPUR	REGULAR	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
1060	BETWEEN KM STONE NO 80 AND KM STONE NO 85 ON NH 135, FROM MIRZAPUR TOWARDS REWA, ON RHS (MIRZAPUR-REWA ROAD)	MIRZAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1061	BETWEEN KM STONE NO 1 AND KM STONE NO 10 ON SH 5A,FROM NARAINPUR TOWARDS ROBERTSGANJ, ON RHS (NARAINPUR- ROBERTSGANJ ROAD)	MIRZAPUR	REGULAR	100	OBC	CC	35	45	1575	32	12	BIDDING	30	4
1062	ON CHUNAR FORT-RAILWAY STATION ROAD, WITHIN MUNICIPAL LIMITS CHUNAR	MIRZAPUR	REGULAR	150	OPEN	СС	20	20	400	32	12	BIDDING	30	5
1063	BETWEEN KM STONE NO 16 AND KM STONE NO 18 ON SH 74, ON EITHER SIDE (KACHHAWA-VARANASI ROAD)	MIRZAPUR	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1064	BETWEEN KM STONE NO 24 AND KM STONE NO 29 ON SH 74, ON EITHER SIDE (KACHHAWA-VARANASI ROAD)	MIRZAPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1065	BETWEEN KM STONE NO 365 AND KM STONE NO 368 ON SH 5, ON EITHER SIDE (MIRZAPUR-ROBERTSGANJ ROAD)	MIRZAPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1066	BETWEEN KM STONE NO 95 AND KM STONE NO 100 ON NH 135, FROM MIRZAPUR TOWARDS REWA, ON RHS (MIRZAPUR-REWA ROAD)	MIRZAPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1067	BETWEEN KM STONE NO 132 AND KM STONE NO 138 ON NH 135, FROM MIRZAPUR TOWARDS REWA, ON LHS ( MIRZAPUR -REWA ROAD)	MIRZAPUR	REGULAR	250	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1068	BETWEEN KM STONE NO 278 AND KM STONE NO 285 ON NH 35, ON EITHER SIDE (PRAYAGRAJ-MIRZAPUR ROAD)	MIRZAPUR	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1069	WITHIN 5 KM FROM SHITLA MANDIR TIRAHA TOWARDS VINDHYACHAL ON NH 35, ON EITHER SIDE	MIRZAPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M	M.)/Area of 1.). *	Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1070	ON ANY ROAD WITH WIDTH 5 METERS AND ABOVE (NOT ON NH ), WITHIN MUNICIPAL LIMITS MIRZAPUR CITY	MIRZAPUR	REGULAR	150	OPEN	СС	20	20	400	32	12	BIDDING	30	5
1071	BETWEEN KM STONE NO 7 AND KM STONE NO 9 ON NH 135A, FROM MIRZAPUR TOWARDS AURAI, ON LHS (MIRZAPUR-AURAI ROAD)	MIRZAPUR	REGULAR	200	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1072	Village-Khaliyari, Tehsil- Robertsganj on Sh 154 ( Robertsganj-Khaliyari Road)	SONBHADRA	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1073	WITHIN 1KM FROM GHORAWAL THANA ON GHORAWAL MIRZAPUR ROAD, WITHIN MUNICIPAL LIMITS GHORAWAL	SONBHADRA	REGULAR	150	OPEN	СС	20	20	400	32	12	BIDDING	30	5
1074	ON ANY MAJOR ROAD OF WIDTH 5 METERS AND ABOVE (NOT ON NH) WITHIN MUNICIPAL LIMITS GHORAWAL	SONBHADRA	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE NO 214 AND KM STONE NO 216 ON NH 39, ON EITHER SIDE ( REWA -RANCHI ROAD )	SONBHADRA	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
101/6	BETWEEN KM STONE NO 211 AND KM STONE NO 214 ON NH 39 , ON EITHER SIDE ( REWA-RANCHI ROAD )	SONBHADRA	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1077	BETWEEN KM STONE NO 94 AND KM STONE NO 101 ON SH 5A, ON EITHER SIDE ( VARANASI-SHAKTINAGAR ROAD)	SONBHADRA	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1078	BETWEEN KM STONE NO 369 AND KM STONE NO 371 ON SH 5, ON EITHER SIDE ( ROBERTSGANJ - MIRZAPUR ROAD)	SONBHADRA	REGULAR	200	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	BETWEEN KM STONE NO 91 AND KM STONE NO 93 ON SH 5A, FROM ROBERTSGANJ TOWARDS RENUKOOT, ON LHS (ROBERTSGANJ - RENUKOOT ROAD)	SONBHADRA	REGULAR	200	OPEN	DC	35	45	1575	32	75	DRAW OF LOTS	15	5
1080	BETWEEN KM STONE NO 290 AND KM STONE NO 292 ON NH 39, ON EITHER SIDE ( RANCHI-REWA ROAD)	SONBHADRA	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE 78 AND KM STONE NO 81 ON SH 5A, FROM ROBERTSGANJ TOWARDS RENUKOOT, ON LHS (ROBERTSGANJ - RENUKOOT ROAD)	SONBHADRA	REGULAR	200	OPEN	DC	35	45	1575	32	75	DRAW OF LOTS	15	5
1082	BETWEEN KM STONE NO 68 AND KM STONE NO 70 ON SH 154,ON EITHER SIDE (ROBERTSGANJ - PANNUGANJ ROAD)	SONBHADRA	REGULAR	200	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1083	ON ANY MAJOR ROAD OF WIDTH 5 METERS AND ABOVE WITHIN MUNICIPAL LIMITS OBRA - NOT ON NH	SONBHADRA	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M			be arranged applicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1084	BETWEEN KM STONE NO 75 AND KM STONE NO 81 ON SH 5A, FROM ROBERTSGANJ TOWARDS RENUKOOT, ON RHS (ROBERTSGANJ - RENUKOOT ROAD)	SONBHADRA	REGULAR	200	OPEN	DC	35	45	1575	32	75	DRAW OF LOTS	15	5
1085	BETWEEN KM STONE NO 381 AND KM STONE NO 384 ON SH 5, ON EITHER SIDE ( ROBERTSGANJ - MIRZAPUR ROAD)	SONBHADRA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1086	ON ANY MAJOR ROAD OF WIDTH 5 METERS AND ABOVE (NOT ON NH) WITHIN MUNICIPAL LIMITS DUDDHI	SONBHADRA	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
1087	ON ANY MAJOR ROAD OF WIDTH 5 METERS AND ABOVE WITHIN MUNICIPAL LIMITS RENUKOOT	SONBHADRA	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1088	WITHIN 3 KMS FROM SANDAHA CHAURAHA ON RING ROAD PHASE- 1, FROM SANDAHA CHAURAHA TOWARDS HARAHUA CROSSING, ON RHS (VARANASI BYPASS)	VARANASI	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1089	WITHIN 1KM FROM USARPURWA CHAURAHA TOWARDS NATANIYADAI MANDIR ON USARPURWA CHAURAHA-NATANIYADAI MANDIR ROAD (WITHIN MUNICIPAL LIMITS VARANASI)	VARANASI	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1090	BETWEEN KM STONE NO 775 AND KM STONE NO 778 ON NH 19, FROM PRAYAGRAJ TOWARDS VARANASI,ON LHS (PRAYAGRAJ - VARANASI ROAD)	VARANASI	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1091	BETWEEN KM STONE NO 772 AND STONE NO 775 ON NH 19, FROM PRAYAGRAJ TOWARDS VARANASI, ON RHS (PRAYAGRAJ - VARANASI ROAD)	VARANASI	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1092	BETWEEN KM STONE NO 797 AND KM STONE NO 800 ON NH 19 , FROM PRAYAGRAJ TOWARDS CHANDAULI, ON RHS(PRAYAGRAJ- CHANDAULI ROAD)	VARANASI	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	WITHIN 5 KMS FROM HARAHUA CROSSING FROM HARAHUA TOWARDS RAJATALAB ON RING ROAD PHASE 2, ON LHS (VARANASI BYPASS)	VARANASI	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	BETWEEN KM STONE NO 283 AND KM STONE NO 288 ON NH28, FROM AZAMGARH TOWARDS VARANASI, ON RHS (VARANASI - AZAMGARH ROAD)	VARANASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1095	BETWEEN KM STONE NO 57 AND KM STONE NO 61 ON SH 98, ON EITHER SIDE (CHOUBEPUR -MUNARI ROAD)	VARANASI	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M			be arranged applicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1096	BETWEEN CHAANDPUR CHAURAHA AND PARAMPUR PRIMARY SCHOOL ON NH731B, FROM LAHARTARA TOWARDS PARAMPUR, ON EITHER SIDE (LAHARTARA-KAPSETI ROAD)	VARANASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	WITHIN 6 KMS FROM SANDAHA CHAURAHA TOWARDS BARHULI ON RING ROAD, FROM SANDAHA CHAURAHA TOWARDS BARHULI, ON LHS (VARANASI BYPASS)	VARANASI	REGULAR	150	OPEN PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	WITHIN 3 KMS FROM SANDAHA CHAURAHA ON NH 31, FROM SANDAHA CHAURAHA TOWARDS ASHAPUR, ON RHS (VARANASI - GHAZIPUR ROAD)	VARANASI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1099	WITHIN 1KM FROM NATANIYADAI MANDIR TOWARDS USARPURWA CHAURAHA ON NATANIYADAI MANDIR- USARPURWA CHAURAHA ROAD (WITHIN MUNICIPAL LIMITS VARANASI)	VARANASI	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1100	BETWEEN KM STONE NO 257 AND KM STONE NO 267 ON NH 31, FROM JAUNPUR TOWARDS VARANASI, ON LHS (JAUNPUR - VARANASI ROAD)	VARANASI	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1101	WITHIN 2KMS FROM SHRI MAA KAALI MANDIR DAULATPUR ON DAULATPUR ROAD (WITHIN MUNICIPAL LIMITS VARANASI)	VARANASI	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1102	BETWEEN KM STONE NO 777 AND KM STONE NO 783 ON NH 19, ON EITHER SIDE (PRAYAGRAJ - VARANASI ROAD)	VARANASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1103	BETWEEN APEX HOSPITAL AND AKHARI BYPASS, FROM APEX HOSPITAL TOWARDS AKHARI BYPASS, ON LHS (WITHIN MUNICIPAL LIMITS VARANASI)	VARANASI	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
1104	BETWEEN KM STONE NO 9 AND KM STONE NO 12 ON SH74, ON EITHER SIDE (VARANASI-ADALPURA ROAD)	VARANASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1105	ON ANY ROAD OF WIDTH 5 METERS AND ABOVE (NOT ON NH OR SH) WITHIN MUNICIPAL LIMITS VARANASI	VARANASI	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1106	BETWEEN MANDUADIH CHAURAHA AND CHAANDPUR CHAURAHA ON MANUADIH CHAURAHA- CHAANDPUR ROAD, ON EITHER SIDE (WITHIN MUNICIPAL LIMITS VARANASI)	VARANASI	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1107	BETWEEN KM STONE NO 265 AND KM STONE NO 270 ON NH 31, FROM JAUNPUR TOWARDS VARANASI, ON RHS (JAUNPUR - VARANASI ROAD)	VARANASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1108	BETWEEN RAJATALAB AND HARAHUA CROSSING ON RING ROAD PHASE-2,FROM RAJATALAB TOWARDS HARAHUA CROSSING, ON LHS (VARANASI BYPASS)	VARANASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1109	WITHIN 2 KMS FROM AKATHA CHAURAHA TOWARDS BENIPUR POKHRA ON BELA ROAD (WITHIN MUNICIPAL LIMITS VARANASI)	VARANASI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
1110	WITHIN 3 KMS FROM HARAHUA CROSSING ON RING ROAD PHASE 1, FROM SANDAHA TOWARDS HARAHUA ,ON LHS (VARANASI BYPASS)	VARANASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1111	VILLAGE BHANPURA,TEHSIL-FATEHABAD, ON RAJAKHERA ROAD	AGRA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1112	VILLAGE BAMNAI KHURD,TEHSIL-KHERAGARH ON JAGNER - ROOPWAS ROAD	AGRA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1113	BETWEEN KM STONE NO. 30 TO RAJASTHAN BORDER ON SHAMSABAD-RAJAKHERA ROAD	AGRA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1114	DUNGARWALA,TEHSIL-KHERAGARH ON SAIPAU ROAD	AGRA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1115	VILLAGE LAKAWALI, TEHSIL AGRA, ON ROAD CONNECTING LAKAWALI TO TDI GANPATI WORLD	AGRA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1116	ON BASERI ROAD WITHIN 3 KM FROM BRC CENTRE (JANGER BLOCK), TEHSIL-KHERAGARH	AGRA	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1117	BETWEEN KM STONE NO. 6 AND KM STONE NO. 7 ON ARNOTA - PINAHAT ROAD	AGRA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1118	ON LHS FROM AGRA TO SHAMSABAD ,BETWEEN KM STONE NO. 13 AND KM STONE NO. 15 ON AGRA - SHAMSABAD ROAD	AGRA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1119	WITHIN 2 KM FROM TEHRA MOD ON TEHRA MOD - GOPI ROAD	ALIGARH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1120	VILLAGE- AMARPUR DAHANA, TEHSIL- IGLAS ON GORAI - BESWAN ROAD	ALIGARH	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1121	VILLAGE - SALAIMAPUR, TEHSIL- KHAIR ON JARTAULI MOD TO JARTAULI ROAD	ALIGARH	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1122	VILLAGE - BIRAULA, TEHSIL- KHAIR ON KHAIR - TAITIGAON ROAD	ALIGARH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1123	Village - Nagla Gowardhan Siktari, Tehsil - Iglas on Gonda - Khair Road	ALIGARH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1124	VILLAGE- DARGAWAN, TEHSIL- GABAHANA ON PISAWA - CHANDAUS ROAD	ALIGARH	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1125	VILLAGE - RAHMAPUR ,TEHSIL- ATRAULI ON NARAUNA BARAH NUMBER - BARLA ROAD	ALIGARH	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1126	VILLAGE - GORAI, TEHSIL - IGLAS ON GONDA - GORAI ROAD	ALIGARH	RURAL	70	OBC PH	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1127	WITHIN 1 KM OF VILLAGE SAIDPUR, ON GULAOTHI- BB NAGAR ROAD.	BULANDSHAHR	RURAL	70	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1128	VILLAGE - SHAHJADPUR KANANI, TEHSIL KHURJA, ON KHURJA - JHAJHAR ROAD	BULANDSHAHR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1129	UPTO 4 KM FROM MAMN POLICE CHOWKI TOWARDS NIMKHERA	BULANDSHAHR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1130	VILLAGE - HIRNOTI, TEHSIL- SIKANDRABAD	BULANDSHAHR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1131	UPTO 3 KM FROM JAYPEE VIDYA MANDIR SCHOOL TOWARDS AURANGABAD, TEHSIL - BULANDSHAHR, ON JAMALPUR - AURANGABAD ROAD,	BULANDSHAHR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1132	VILLAGE KASETI, TEHSIL ETAH ON ETAH-KASGANJ ROAD	ETAH	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1133	VILLAGE GIRORA, TEHSIL ETAH ON ETAH MARHERA ROAD	ETAH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1134	VILLAGE SONGARA, TEHSIL ETAH ON NIDAHULI KALAN - NAGARIYA MOD ROAD	ETAH	RURAL	70	OPEN CC 2	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1135	BETWEEN KM STONE NO. 4 AND KM STONE NO. 5 FROM ETAH TOWARDS KASGANJ ON LHS OF ETAH-KASGANJ ROAD	ETAH	RURAL	70	OPEN	СС	30	30	900	16	6	BIDDING	10	4
1136	WITHIN 3KM FROM JUNCTION OF GT ROAD AND ETAH-KASGANJ ROAD ON GT ROAD, ETAH	ETAH	RURAL	100	OPEN	CC	30	30	900	16	6	BIDDING	10	4
1137	BETWEEN KM STONE NO. 11 AND KM STONE NO. 13 ON EITHER SIDE OF ETAH-KASGANJ ROAD	ETAH	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1138	VILLAGE BAHORIKPUR, TEHSIL FARRUKHABAD ON FARRUKHABAD - CHHIBRAMAU ROAD	FARRUKHABAD	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M	M.)/Area of l.). *		be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1139	VILLAGE JARARI, TEHSIL FARRUKHABAD ON CHHIBRAMAU - JARARI - SINGIRAMPUR ROAD	FARRUKHABAD	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1140	VILLAGE BAGHLAKULA, TEHSIL FARRUKHABAD ON ROAD CONNECTING MASENI CHAURAHA TO KADRIGATE CHAURAHA	FARRUKHABAD	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1141	VILLAGE RAIPUR, TEHSIL FARRUKHABAD ON MURHAS ROAD	FARRUKHABAD	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1142	VILLAGE BIBIPUR, TEHSIL FARRUKHABAD ON ROAD CONNECTING JAHANAGANJ POLICE STATION TO KAMALGANJ RAILWAY STATION	FARRUKHABAD	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1143	VILLAGE PATTI DARAPUR, TEHSIL AMRITPUR ON CHACHOOPUR- BHARKA ROAD	FARRUKHABAD	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1144	VILLAGE ROSHNABAD, TEHSIL KAYAMGANJ ON ROAD CONNECTING SHAMSABAD-ROSHNABAD-FARRUKHABAD VIA GURGAON DEVI MANDIR	FARRUKHABAD	RURAL	70	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1145	VILLAGE DHILAWAL, TEHSIL FARRUKHABAD ON BAGHAR ROAD	FARRUKHABAD	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1146	VILLAGE - NAGAU , TEHSIL - TUNDLA , ON JARAULI KHURD- HIRANGAON ROAD	FIROZABAD	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1147	WITHIN 2 KM OF CHANDRAVAR GATE RAILWAY BRIDGE (TOWARDS SOFIPUR) ON RHS OF CHANDRAVAR-SOFIPUR ROAD FROM CHANDRAVAR GATE TOWARDS FOREST DEPARTMENT OFFICE	FIROZABAD	RURAL	150	OPEN	CC	25	30	750	16	6	BIDDING	10	4
1148	BETWEEN FM GARDEN CITY MAIN GATE AND MEERA CHAURAHA ON ANY SIDE OF OLD AGRA-FIROZABAD ROAD FROM RAJA KI TAAL TOWARDS FIROZABAD	FIROZABAD	RURAL	100	OPEN	DC	25	30	750	16	35	DRAW OF LOTS	5	4
1149	WITHIN 3 KM OF DABRAI-VIJAYPURA TIRAHA (OLD AGRA-ETAWAH ROAD AND MATSENA ROAD CROSSING ) ON BOTH SIDES OF DABRAI- MATESENA ROAD (ODR), TEHSIL- FIROZABAD	FIROZABAD	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1150	WITHIN 1 KM OF SANT PARAM DAYAL SR. SEC SCHOOL (TOWARDS KOTLA) ON RHS OF FIROZABAD-KOTLA ROAD FROM FIROZABAD TOWARDS KOTLA	FIROZABAD	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1151	VILLAGE-PACHWAN, TEHSIL FIROZABAD ON RHS OF FIROZABAD- AWAGARH ROAD (JALESAR ROAD) FROM FIROZABAD TOWARDS JALESAR	FIROZABAD	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1152	WITHIN 5 KM OF ETAH CHAURAHA ON SHIKOHABAD-MUSTAFABAD ROAD, BOTH SIDES	FIROZABAD	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1153	WITHIN 1 KM OF NIHAL SINGH KI PULIYA ON LHS OF TUNDLA -ASAN ROAD FROM TUNDLA TOWARDS ASAN	FIROZABAD	RURAL	100	OBC CC 1	DC	25	30	750	16	35	DRAW OF LOTS	5	3
1154	VILLAGE- MAI, TEHSIL- SADABAD ON KHANDAULI - BALDEV ROAD	HATHRAS	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1155	VILLAGE- VIJAHRI, TEHSIL- SASNI ON SASNI-JALESAR ROAD	HATHRAS	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1156	WITHIN 2 KM OF MAHAVIR INTER COLLEGE (TOWARDS KURAWALI) ON LHS OF GHIROR-KURAWALI ROAD(MDR-175W) FROM GHIROR TOWARDS PADRIYA CHAURAHA	MAINPURI	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1157	WITHIN 1 KM OF BHAINSROLI-BHATTA CHAURAHA ((ALIPUR-MOTA ROAD AND BHOGAON-SANKISA ROAD CROSSING) TOWARDS SANKISA)) ON RHS OF BHOGAON-SANKISA ROAD FROM BHOGAON TOWARDS SANKISA	MAINPURI	RURAL	150	OBC	СС	30	30	900	16	6	BIDDING	10	3
1158	UPTO 5 KM FROM PARVATI RADHAKISHEN FOMRA SCHOOL (BIRLA SCHOOL) TOWARDS GOVERDHAN (VIA ADEENG BYPASS), ON MATHURA -GOVERDHAN ROAD	MATHURA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1159	VILLAGE - BUKHARARI, TEHSIL- CHHATA, ON KOSI - SHAHPUR ROAD	MATHURA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1160	VILLAGE - KAMAR, TEHSIL - CHHATA, ON KAMAR - KOSI KALAN ROAD	MATHURA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1161	UPTO 4 KM FROM RAILWAY STATION CROSSING (RAYA) TOWARDS MANT, ON RAYA - MANT ROAD	MATHURA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1162	UPTO 5 KM FROM DEEN DAYAL DHAM RAILWAY CROSSING (FARAH) TOWARDS ACHHNERA, ON FARAH - ACHHNERA ROAD	MATHURA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1163	BETWEEN RUDRAKSH APARTMENT & BADA BYEPASS ON DOHRA ROAD, TEHSIL BAREILLY	BAREILLY	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1164	VILLAGE MAHESHPUR THAKURAN ON BAREILLY-BADAUN ROAD, TEHSIL BAREILLY	BAREILLY	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1165	WITHIN 5 KM FROM NARAYAN NAGLA CHOWK TOWARDS SHISGARH ROAD	BAREILLY	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. N		Finance to I by the a	oe arranged pplicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1166	VILLAGE MANAUNA, TEHSIL AOLNA ON AOLNA- BISAULI ROAD	BAREILLY	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1167	VILL- BHANDSAR ON RITHORA-BHUTA ROAD, TEHSIL BAREILLY	BAREILLY	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1168	BETWEEN VILLAGE PALPUR KAMALPUR AND VILLAGE PARSAUNA ON PALPUR KAMALPUR ROAD	BAREILLY	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1169	BETWEEN VILLAGE NAWABGANJ AND VILLAGE BARKHAN ON NAWABGANJ-BARKHERA ROAD	BAREILLY	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1170	VILLAGE NADHA, TEHSIL- SAHASWAN ON SAHASWAN ISLAMNAGAR ROAD	BUDAUN	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1171	VILLAGE HUSSAINPUR PUKHTA, TEHSIL- BADAUN ON SAHASWAN KACHHLA ROAD	BUDAUN	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1172	WITHIN 2 KM FROM AMBIYAPUR CHAURAHA TOWARDS WAZIRGANJ ON BILSI WAZIRGANJ ROAD, TEHSIL-BILSI (OUTSIDE MUNICIPAL LIMITS BILSI)	BUDAUN	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1173	BETWEEN KM STONE NO. 3 AND KM STONE NO. 5 ON ODR NO. UP190D0063, FROM DATAGANJ TOWARDS DEVCHARA, LHS (DATAGANJ-DEVCHARA ROAD)	BUDAUN	RURAL	70	OPEN	CC	30	30	900	16	6	BIDDING	10	4
1174	VILLAGE SURSAINA, TEHSIL-BISAULI ON WAZIRGANJ AONLA ROAD	BUDAUN	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1175	VILLAGE TIKRA, TEHSIL-DATAGANJ ON KADARCHOWK USAHAIT ROAD	BUDAUN	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1176	VILLAGE WAHIDPUR KHALSA, TEHSIL- KASGANJ ON KASGANJ BYPASS ROAD	KASGANJ	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1177	VILLAGE BHANUPURA KAYASTHAN, TEHSIL- SAHAWAR ON KASGANJ SAHAWAR ROAD	KASGANJ	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1178	WITHIN 5 KMS FROM KOTHIAL DENTAL COLLEGE, KANTH ROAD TOWARDS DHARAKNAGLA ON KOTHIWAL DENTAL COLLEGE - DHARAKNAGALA BYPASS	MORADABAD	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1179	WITHIN 5 KMS FROM GANDHI PARK CHOWK BILARI TOWARDS SIRSI, EITHER SIDE ON BILARI-SIRSI ROAD	MORADABAD	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		Finance to by the a	be arranged applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1180	WITHIN 2 KMS FROM RANA SUGAR LIMITED, BELWARA TOWARDS SIRSWAN DORAHA , EITHER SIDE ON MORADABAD-TANDA- DADHIYAL ROAD	MORADABAD	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1181	VILLAGE BAKANIA, TEHSIL-MORADABAD, EITHER SIDE ON PAKHWARA-DINGURPUR ROAD	MORADABAD	RURAL	70	OBC	CC	30	30	900	16	6	BIDDING	10	3
1182	WITHIN 3 KMS FROM JANTA INTER COLLEGE, BILAWALA, MORADABAD TOWARDS DALPATPUR ON DALPATPUR- ALIGANJ ROAD ON LHS	MORADABAD	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1183	WITHIN 5 KMS FROM PATTI MODA CHAURAHA (KANTH) TOWARDS KARANPUR , EITHER SIDE ON KARANPUR - KANTH ROAD	MORADABAD	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
	WITHIN 1KM OF VILLAGE BHAGA MOHAMMADGANJ MUSTQIL LIMITS , ON MADHOPUR CHAURAHA- BHIKARIPUR ROAD, EITHER SIDE	PILIBHIT	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1185	VILLAGE - POORANPUR DEHAT KSHETRA, TEHSIL POORANPUR, ON PILIBHIT - POORANPUR ROAD(LIC OFFICE ROAD)	PILIBHIT	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1186	VILLAGE SHERPUR KALAN, TEHSIL POORANPUR, ON POORANPUR- RAMNAGAR ROAD (DHANARAGHAT ROAD)	PILIBHIT	RURAL	70	OPEN	CC	30	30	900	16	6	BIDDING	10	4
1187	VILLAGE ARSIYA BOJH, TEHSIL- BEESALPUR, ON AMDAR - DAULATPUR PATTI ROAD( GAJROLA - BARKHERA ROAD)	PILIBHIT	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
11188	WITHIN 1KM FROM VILLAGE LIMITS OF VILLAGE LAUKAHA TOWARDS KESHOPUR, ON KHAG -BANAUSA-KESHOPUR ROAD	PILIBHIT	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1189	WITHIN 3KM FROM PRATHMIK VIDYALAYA CHATHIYA HILGI TOWARDS POWAYAN ON BEESALPUR-BAMRAULI-POWAYAN ROAD	PILIBHIT	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1190	WITHIN 1KM FROM THANA MADHOTANDA ON MDR39C , EITHER SIDE(POORANPUR-KHATIMA ROAD)	PILIBHIT	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1191	WITHIN 2KM OF VILLAGE LIMITS OF VILLAGE CHANDOI TOWARDS MAJHOLA, ON CHANDOI- DHANKUNA-MAJHOLA ROAD	PILIBHIT	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1192	WITHIN 5 KM FROM DADHIYAL CHAURAHA TOWARDS KASHIPUR, EITHER SIDE ON DADHIYAL-KASHIPUR ROAD	RAMPUR	RURAL	70	OBC CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1193	VILLAGE KUIYA, TEHSIL BILASPUR, ON KEMRI-BILASPUR ROAD	RAMPUR	RURAL	70	OPEN PH	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to I by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
	WITHIN 2 KMS FROM KSHATRIYE KULBHUSHAN MAHARANA PRATAP INTER COLLEGE TOWARDS TANDA ONNMORADABAD TANDA DADHIYAL ROAD ( RHS)	RAMPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1195	BETWEEN BILASPUR GATE AND CHAUKI CHAUARHA ON RAMPUR BILASPUR ROAD (OUTSIDE MUNICIPAL LIMITS)	RAMPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1196	VILL :- JIJODA DANDA,TEHSIL :- GUNNAUR ON BABRALA- ANUP SAHAR ROAD	SAMBHAL	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1197	VILLAGE MAHMOODPUR EMMA, TEHSIL SAMBHAL ON SAMBHAL BYPASS (ODR 44)	SAMBHAL	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1198	VILLAGE BICHHOLI, TEHSIL SAMBHAL, EITHER SIDE ON CHANDAUSI - SAMBHAL ROAD	SAMBHAL	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1199	WITHIN 2 KM FROM TANDA KOTHI CHAURAHA TOWARDS RATANPUR KALAN ON TANDA KOTHI- RATANPUR KALAN LINK ROAD	SAMBHAL	RURAL	70	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1200	VILLAGE TAI , TEHSIL TILHAR ON TILHAR- BARKHERA JAIPAL ROAD	SHAHJAHANPU R	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1201	BETWEEN NAGARIA MOD AND SATWAN TIRAHA ON RING ROAD (CONNECTING NAGARIA MOD AND NIGOHI ROAD)	Shahjahanpu R	RURAL	70	OPEN	СС	30	30	900	16	6	BIDDING	10	4
1202	BETWEEN PRATHAMIK VIDYALAYA SARAURA POORVI AND PRATHAMIK VIDYALAYA VAVAKKARPUR, ON CHANDAPUR- CHAUHANAPUR ROAD	SHAHJAHANPU R	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1203	VILLAGE USRAHA, TEHSIL JALALPUR ON JALALPUR - MITTUPUR ROAD	AMBEDKAR NAGAR	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1204	VILLAGE MUSKARAI, TEHSIL JALALPUR ON JALALPUR - RAMGARH ROAD	AMBEDKAR NAGAR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1205	VILLAGE KADIPUR TEHSIL SOHAWAL ON NAUWAN KUAN - BHADARSA ROAD	AYODHYA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1206	VILLAGE- SAKHUPARA TEHSIL SOHAWAL ON BHAMBHA CHAURAHA - SHAH GANJ ROAD	AYODHYA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1207	VILLAGE BARI TEHSIL RUDAULI ON AMANIGANJ - RUDAULI ROAD	AYODHYA	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1208	WITHIN 2 KM FROM SOHAWAL CHOURAHA (VILLAGE RAUNAHI UPARHAR), TEHSIL- SOHAWAL ON DHEMUA GHAT ROAD	AYODHYA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1209	Village dili saraiya tehsil milkipur on dyodhi bazar - Amaniganj road	AYODHYA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1210	VILLAGE KALYANPUR CHHITOUNA, TEHSIL BIKAPUR ON GOSAIGANJ - TARUN ROAD	AYODHYA	RURAL	70	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1211	VILLAGE- KANERA TEHSIL MEHSI, ON KUNDASAR - RAMPURWA CHAUKI ROAD	BAHRAICH	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1212	VILLAGE KAILASHPUR JHOOMAN GAON TEHSIL MIHINPURWA STHIT MOTIPUR ON BABAGANJ - PARGAHAWA ROAD	BAHRAICH	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1213	VILLAGE BHOPATPUR BELWA TEHSIL NANPARA ON BHOPATPUR BELWA TIRAHA-NANPARA ROAD	BAHRAICH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1214	VILLAGE - MAJHAUWA MUJEHANA TEHSIL BAHRAICH ON RISIA BAZAR - MIRZAPUR ROAD	BAHRAICH	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1215	VILLAGE BAREHARA TEHSIL NANPARA ON NANPARA - NAWABGANJ ROAD	BAHRAICH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1216	WITHIN 2 KM FROM BHIMPURA CHAURAH TOWARDS BELAULI ON BHIMPURA-BELAULI ROAD	BALLIA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1217	VILLAGE LALIYA TEHSIL BALRAMPUR ON KODRI TO SHIVPURA ROAD	BALRAMPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1218	VILLAGE ITAEE RAM PUR PASHCHIMI TEHSIL UTRAULA ON UTRAULA - DHUSWA - SADULLAHNAGAR ROAD	BALRAMPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1219	VILLAGE PIPRA JAPTI, TEHSIL BHANPUR ON WALTERGANJ GAUR ROAD	BASTI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1220	VILLAGE MADARIYA, PARGANA AMORHA, TEHSIL HARRAIYA ON PARSA PARSURAMPUR LAKADMANDI ROAD	BASTI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1221	VILLAGE RAKHIYA, TEHSIL HARRAIYA ON KAPTANGANJ TO BHURA CHAURAHA ROAD	BASTI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1222	VILLAGE KHORAKHAR, TEHSIL BASTI ON PATEL CHOWK - PACHPEDIA ROAD	BASTI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1223	VILLAGE SULTANPUR, TEHSIL BHANPUR ON WALTERGANJ BHABHNAN ROAD	BASTI	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1224	WITHIN 3 KM FROM CHANDA DEVI INTERMEDIATE COLLEGE PAKAHA TOWARDS BAGAUCH ON PAKAHA BAGAUCH ROAD.	DEORIA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to I by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	ı	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1225	WITHIN 4 KM FROM BAIKUNTHPUR CHAURAHA TOWARDS MATHIYA ON BAIKUNTHPUR-MATHIYA-DEORIA ROAD(NAHAR ROAD)	DEORIA	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1226	VILLAGE BALUA AFGAN , TEHSIL-BHATPARANI ON BHATNI-MUSAHRI ROAD	DEORIA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1227	VILLAGE PARASIA ALI ON MUSAILA-MAIL ROAD	DEORIA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1228	VILLAGE BANKATA JAGDISH , TEHSIL BHATPARANI ON MAIRWA- PRATAPPUR ROAD	DEORIA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1229	WITHIN 2 KM FROM KHORARAM CHAURAHA TOWARDS DEORIA ON DEORIA -RAMLAXAN ROAD	DEORIA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1230	VILLAGE CHANDAULI ON BELDAR-DEORIA ROAD	DEORIA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1231	VILLAGE KAMATIKARI TEHSIL TARABGANJ ON KISHUNDASPUR - DURJANPUR ROAD	GONDA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1232	VILLAGE KAURAHA JAGDISHPUR TEHSIL COLONELGANJ ON CHAURI CHAURAHA - KATRA BAZAAR ROAD	GONDA	RURAL	70	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1233	VILLAGE- SARAIYAN NANHU, TEHSIL COLONELGANJ ON CBN - MADHAIPUR ROAD	GONDA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1234	VILLAGE AYAHA TEHSIL GONDA SRINAGAR - ITIATHOK ROAD	GONDA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1235	VILLAGE- KALENA, TEHSIL GONDA ON ARJUNPUR SARKAND - HINDUNAGAR ROAD	GONDA	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1236	VILLAGE CHANDPUR TEHSIL COLONELGANJ ON GONDA - DEHRAS ROAD	GONDA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1237	VILLAGE BAHRAMPUR, TEHSIL CHAURI CHAURA, ON MOTIRAM ADDA-KUSHMI BAZAAR ROAD	GORAKHPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1238	VILLAGE KALESAR MU., TEHSIL SAHJANWA, ON BOKTA-JAITPUR ROAD	GORAKHPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1239	VILLAGE JUNGLE DHUSAN, TEHSIL SADAR, ON GORAKHPUR- PIPRAICH ROAD	GORAKHPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1240	VILLAGE BAAN, TEHSIL CAMPIERGANJ, ON PIPIGANJ-BADHAYA THATHAR ROAD	GORAKHPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		,	pplicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1241	VILLAGE LEDUABAARI BUJURG, TEHSIL BANSGAON, ON BHAINSAHI- DHURIYAPAR SUGAR MILL ROAD	GORAKHPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1242	VILLAGE JUNGLE RAANISOHAASKUNWARI, TEHSIL SADAR, ON MAHAVEER CHHAPRA-BANSGAON ROAD	GORAKHPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1243	VILLAGE RUDRAAPUR, TEHSIL CHAURI CHAURA, ON GORAKHPUR- KUSMI BAZAR ROAD	GORAKHPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1244	VILLAGE VIDHANAPAR, TEHSIL- KHAJNI, ON BELGHAT-KURI BAZAAR ROAD	GORAKHPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1245	VILLAGE BHAISANAATHU, TEHSIL KHAJNI, ON KHAJNI-SIKRIGANJ ROAD	GORAKHPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1246	WITHIN 3 KM FROM SAMAUR BAZAR CHOWK TOWARDS FAZILNAGAR ON SAMAUR -FAZILNAGAR ROAD	KUSHINAGAR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1247	VILLAGE TEKUAATAR , TEHSIL - KASYA ON RAMKOLA-KASYA ROAD	KUSHINAGAR	RURAL	70	OPEN	CC	30	30	900	16	6	BIDDING	10	4
1248	VILLAGE NARCHOCHWA, TEHSIL-PADRAUNA ON PIPRA BAZAR- BALKUNDIYA ROAD	KUSHINAGAR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1249	WITHIN 2 KM FROM HANUMANGANJ POLICE STATION TOWARDS KHADDA ON PANIYAHAWA-KHADDA ROAD	KUSHINAGAR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1250	VILLAGE BELWA , TEHSIL- KHADDA ON SISWA-NAURANGAYIA ROAD	KUSHINAGAR	RURAL	70	OBC CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
	WITHIN 2KMS FROM MAHAVIR CHOWK, NARAHWADIH, TEHSIL- TAMKUHI RAJ TOWARDS KHAIRA(BIHAR) ON GODARIYA-NARAHWA- KHAIRA ROAD	KUSHINAGAR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1252	VILLAGE BARWAKHURD, TEHSIL MAHARAJGANJ, ON SHIKARPUR- GHUGHLI ROAD	MAHARAJGANJ	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1253	VILLAGE BABHNAULI, TEHSIL MAHARAJGANJ, ON MAHARAJGANJ- PADRI- BISHUNPURA ROAD	MAHARAJGANJ	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
	VILLAGE EKMA, TEHSIL NAUTANWA, ON LAXMIPUR-KHORIYA ROAD	MAHARAJGANJ	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
	VILLAGE BARGADWA, TEHSIL NAUTANWA, ON THUTHIBARI- NAUTANWA ROAD	MAHARAJGANJ	RURAL	70	OPEN CC 2	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1256	VILLAGE PACHPOKHARI, TEHSIL KHALILABAD ON PACHPOKHARI- BANKATIYA ROAD	SANT KABIR NAGAR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1257	VILLAGE CHAWRAHI, TEHSIL MEHDAWAL ON DHARAMSINGHWA ROAD	SANT KABIR NAGAR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1258	VILLAGE ATRAURA, TEHSIL KHALILABAD ON SARRAIYA DASHRAHA TO BAGHAULI ROAD	SANT KABIR NAGAR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1259	VILLAGE- BHARTHA BELBHARIYA , TEHSIL BHINGA , ON BHINGA - BARRAGE ROAD	SHRAVASTI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1260	VILLAGE- IKAUNA DEHAT , TEHSIL IKAUNA , ON IKAUNA - BHINGA BYPASS ROAD	SHRAVASTI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1261	VILLAGE SAMHAR PURWA , TEHSIL BHINGA ON LAXMANPUR - BHINGA ROAD	SHRAVASTI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1262	VILLAGE BHATPURWA KALAN, TEHSIL IKAUNA ON KATRA - LALBOJHI ROAD	SHRAVASTI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1263	VILLAGE MAHMUDWA GRAANT, TEHSIL SHOHRATGARH ON CHHATHARI - MAHMUDWA GRANT ROAD	SIDDHARTH NAGAR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1264	VILLAGE MARWATIYA TAPPA HATA, TEHSIL NAUGARH ON KAKRAHI TADIYA BAZAR ROAD	SIDDHARTH NAGAR	RURAL	70	OBC PH	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1265	VILLAGE ITHA, TEHSIL- AURAIYA ON KAKOR TO PHAPHUND ROAD	AURAIYA	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1266	VILLAGE VINDWAA KALAAN, TEHSIL- CHAKARNAGAR ON HANUMANTPURA TO SONEKAPURA ROAD	ETAWAH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1267	VILLAGE TULSIPUR, TEHSIL SAIFAI ON ETAWAH-KUMHAWAR ROAD	ETAWAH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1268	VILLAGE TIRKARABACHA NAGLA SUBHAAN ON SAIFAI TO JASWANTNAGAR ROAD	ETAWAH	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
	BETWEEN MSK INTERNATIONAL SENIOR SECONDARY SCHOOL, BHARTHANA AND NH-19 ON EITHER SIDE OF BHARTHANA TO BAKEWAR ROAD	ETAWAH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1270	VILLAGE CHANDAI, TEHSIL CHAKARNAGAR ON MINIMUM 3.5 METER WIDTH ROAD	ETAWAH	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1271	VILLAGE- ITGAON, TEHSIL- ETAWAH ON ETAWAH-KUMHAWAR ROAD	ETAWAH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1272	VILLAGE NILOI, TEHSIL- JASWANTNAGAR ON JASWANTNAGAR TO CHHIMAARA ROAD	ETAWAH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1273	VILLAGE NAIK PURVA, TEHSIL - MAUDAHA, KAPSA-MATAUN ROAD	HAMIRPUR	RURAL	70	OPEN PH	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1274	FROM SALAIYA CHATSARI CHOURAHA TO UP-MP BORDER, TEHSIL KONCH, ON ANY ROAD WITH WIDTH GREATER 3.5 METRES	JALAUN	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1275	VILLAGE- GIDHWASA, TEHSIL-KONCH ON NADIGAON-RAWATPURA ROAD	JALAUN	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1276	VILLAGE- CHATELA, TEHSIL - KALPI ON KADAURA-KANA KHEDA ROAD	JALAUN	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1277	BETWEEN KARMER AND MACHHAR CHAURAHA,ORAI ON ORAI - KARMER ROAD (OUTSIDE MUNICIPAL LIMITS)	JALAUN	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1278	VILLAGE- UNCHA, TEHSIL -MADHOGARH ON ANY ROAD WITH WIDTH GREATER THAN 3.5 METRES	JALAUN	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1279	VILLAGE MAWAI GIRD,TEHSIL- JHANSI ON JHANSI-MAWAI GIRD ROAD	JHANSI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1280	VILLAGE PADRA, TEHSIL-MAURANIPUR ON PADRA - CHOMO - PRITHVIPUR ROAD	JHANSI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1281	VILLAGE- MAHOLI, TEHSIL- NARWAL, ON MINIMUM 3.5 METRE WIDE ROAD	KANPUR NAGAR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1282	VILLAGE RAIPUR NARWAL, TEHSIL - NARWAL ON MINIMUM 5.5 METRE WIDE ROAD	KANPUR NAGAR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1283	VILLAGE SONA, TEHSIL- KANPUR NAGAR ON RAMPUR KHAS MARG, KANPUR	KANPUR NAGAR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1284	VILLAGE BAIKUNTHPUR, ON BITHOOR ROAD, KANPUR	KANPUR NAGAR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1285	VILLAGE RAUTAPUR KHURD, TEHSIL-BILHAUR, BETWEEN SHIVALI CHAURAHA TO SHIVRAJPUR CROSSING	KANPUR NAGAR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1286	VILLAGE- RAMSARI, TEHSIL- GHATAMPUR ON GHATAMPUR-SARH ROAD	KANPUR NAGAR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1287	VILLAGE BARAI GARH, TEHSIL - NARWAL ON KUDNI-BAKEWAR ROAD	KANPUR NAGAR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1288	VILLAGE - TILSARHA, TEHSIL - GHATAMPUR, ON PATARA TO GAJNER ROAD	KANPUR NAGAR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a	•	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1289	VILLANGE- NANDNA, TEHSIL-GHATAMPUR, KANPUR NAGAR	KANPUR NAGAR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1290	WITHIN 3 KMS FROM BANPUR POLICE STATION ON BANPUR- LALITPUR ROAD, TEHSIL-MEHRONI	LALITPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1291	WITHIN 5 KMS FROM BALABEHAT POLICE STATION TOWARDS BAMNORA ON BALABEHAT-BAMNORA ROAD, TEHSIL-PAALI	LALITPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1292	WITHIN 4 KMS FROM SHUBH HEAVEN RESORT TOWARDS CHANDERI ON LALITPUR-CHANDERI ROAD, TEHSIL-LALITPUR	LALITPUR	RURAL	70	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1293	VILLAGE RATAULI, TEHSIL- MAHOBA, ON RATAULI - BARIGARH ROAD	МАНОВА	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1294	VILLAGE IMILIYA, TEHSIL- MAHOBA, ON KAIMAHA - NOWGONG ROAD	МАНОВА	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1295	VILLAGE - KASHIPUR, TEHSIL- KULPAHAR ON TEIYA MAHOBA- KASHIPUR ROAD	МАНОВА	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1296	VILLAGE - NATHUPURA, TEHSIL- MAHOBA ON MAHOBA - CHARKAHRI ROAD	МАНОВА	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1297	VILLAGE LILWAHI, ON LILWAHI-PARSAHA ROAD	МАНОВА	RURAL	70	OBC CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1298	WITHIN 3 KM FROM U.S. INTERNATIONAL PUBLIC SCHOOL, BHAGWANT NAGAR TOWARDS BAKSAR ON BHAGWANT NAGAR- BAKSAR ROAD	UNNAO	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1299	VILLAGE - KANTHA, TEHSIL - PURWA, LALAKHERA CHOURAHA TO SHIVSINGHKHEDA ON PURWA ROAD	UNNAO	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1300	VILLAGE -TAURA, ON RHS FROM DAHI CHAUKI TO PURWA, ON DAHI CHAUKI PURWA ROAD	UNNAO	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1301	VILLAGE -LANGARPUR, FROM DAHI CHAUKI TOWARDS PURWA, ON DAHI CHAUKI PURWA ROAD.	UNNAO	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1302	VILLAGE- BAIJUVAMAU, TEHSIL - BIGHAPUR ON PURVA PATAN ROAD	UNNAO	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
	VIILAGE - MAJHIGAWAN SADKU, TEHSIL - PURWA FROM PURWA TO KALUKHERA VIA GILSHAHMAU ON PURWA GILSHAHMAU KALUKHERA ROAD.	UNNAO	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		,	pplicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1304	VILLAGE- KASBA RAMAHIMMATPUR, ON PURWA PATAN ROAD	UNNAO	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1305	VILLAGE HAJIPUR,FROM PARIYAR TOWARDS UNNAO, ON UNNAO PARIYAR ROAD.	UNNAO	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1306	WITHIN 2 KM FROM AJGAIN THANA TOWARDS MOHAN ON AJGAIN- MOHAN ROAD	UNNAO	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1307	VILLAGE - BEHTA MUJAWAR, TEHSIL - BANGERMAU FROM SANJAY BRICK FIELD TO NEW POLICE STATION, BEHTA MUJAWAR BUILDING ON SANDILA ROAD.	UNNAO	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1308	VILLAGE DEVGAON, ON SAFIPUR ROASOOLABAD ROAD	UNNAO	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1309	VILLAGE-JOGIKOT, ON BANGERMAU-SANDILA ROAD	UNNAO	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1310	VILLAGE - DANDUPUR, TEHSIL - HAIDERGARH ON HAIDERGARH - MADARPUR - KOTHI ROAD	BARABANKI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1311	VILLAGE - FIROZPUR, TEHSIL - FATEHPUR ON JHAJRA CHOWRAHA- SURATGANJ ROAD	BARABANKI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1312	BETWEEN KM STONE NO. 33 AND KM STONE NO. 35 ON MDR-88C, DEWA TO CHINHAT ROAD	BARABANKI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1313	VILLAGE - HARAKKA, TEHSIL - RAMNAGAR ON LALPUR KARAUTA - HETMAPUR ROAD	BARABANKI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1314	VILLAGE - MALLAWA, TEHSIL - FATEHPUR ON BADAGAON TO BAJGAHNI ROAD	BARABANKI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1315	VILLAGE - NAGRA SHAHSI, TEHSIL - SAWAYAJPUR, ON KUSUMKHOR - SRIMAU PASCHIM ROAD	HARDOI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1316	VILL - NEWADA VIJAY, TEHSIL- SANDILA, ON BHARAWAN- MALL ROAD (MDR-74C)	HARDOI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1317	VILL- GAHORA, TEHSIL- SHAHABAD, ON SHAHABAD- PALI ROAD	HARDOI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1318	VILL - JAYRAJPUR, TEHSIL - HARDOI, ON HARIHARPUR- JAMUNIYA ROAD	HARDOI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1319	VILL-RUIYA , TEHSIL- BILGRAM, ON BAGHAULI-MADHOGANJ ROAD	HARDOI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1320	VILL-SAREHARI, TEHSIL -SANDILA, ON SANDILA-BANGARMAU ROAD	HARDOI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1321	VILL-DHARAMPUR , TEHSIL- SAWAYAJPUR, ON HARPALPUR - ARJUNPUR SISALA ROAD	HARDOI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1322	VILL- KALYANMAL, TEHSIL- SANDILA ON KOTHAWA- ATRAULI MALL ROAD MDR74C	HARDOI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1323	VILL-MANSOOR NAGAR TEHSIL - SHAHABAD ON BEHATAGOKUL- KUIYA TIRAHA ROAD	HARDOI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1324	WITHIN 3KM FROM MADHOGANJ CHAURAHA TOWARDS TERWAKULLI ON BAGHAULI -TERWAKULLI ROAD	HARDOI	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1325	VILL -MUNDER, TEHSIL-SAWAYAJPUR, ON RUPAPUR TO PALI ROAD	HARDOI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1326	VILL-BAHUTI, TEHSIL - SANDILA, ON JAMU LOOMAMAU- MAHNGAWA ROAD	HARDOI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1327	VILL- KUNDRAULI SADIKPUR,TEHSIL- BILGRAM ON BAGHAULI-SANDI ROAD.	HARDOI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1328	Vill- Pahuntera ,Tehsil- Hardoi on Baghauli-Madhoganj Road.	HARDOI	RURAL	70	OPEN CC 2	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1329	VILL-TIKARI, TEHSIL - HARDOI ON SANDI- KHAJOORMAYI TIRAHA	HARDOI	RURAL	70	OBC CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1330	VILLAGE SUNDA, TEHSIL PALIA, ON PALIA GAURIPHANTA TO CHANDANCHOWKI ROAD	LAKHIMPUR KHERI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1331	VILLAGE RAMNAGAR LAHBADI, TEHSIL DHAURAHARA, ON NAINAPUR - SUJAI KUNDA ROAD	LAKHIMPUR KHERI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1332	VILLAGE BHEDAHIYA, TEHSIL DHAURAHRA, ON SISAIYA CHAURAHA TO ISHANAGAR ROAD	LAKHIMPUR KHERI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1333	VILLAGE GRANT NO. 11, TEHSIL GOLA, ON GOLA-BANKEYGANJ ROAD	LAKHIMPUR KHERI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1334	FROM REHUVA CHAURAHA TO DHAURAHRA VIA VILLAGE BASANTAPUR, ON DHAURAHRA ROAD, TEHSIL DHAURAHRA	LAKHIMPUR KHERI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1335	VILLAGE JATPURWA, TEHSIL DHAURAHRA, ON LAKHIMPUR DHAKERWA ROAD	LAKHIMPUR KHERI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M			applicant	Mode of selection	( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1336	VILLAGE ROSHAN NAGAR, TEHSIL GOLA	LAKHIMPUR KHERI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1337	VILLAGE SARYA, TEHSIL DHAURAHRA, ON ISHANAGAR-KHAMARIA ROAD	Lakhimpur Kheri	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1338	VILLAGE SHEKHPUR, PARGANA FIROZABAD, TEHSIL DHAURAHRA, KATAULI TO SARAYA ROAD	LAKHIMPUR KHERI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1339	VILLAGE RUKUNDIPUR, TEHSIL LAKHIMPUR, ON LAKHIMPUR - MOHAMMADI ROAD (MDR 86C)	LAKHIMPUR KHERI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1340	VILLAGE HUSAINPUR,TEHSIL DHAURAHRA, ON KATAULI - KHAMARIA ROAD.	LAKHIMPUR KHERI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1341	WITHIN 6 KMS FROM DHAKERWA CHAURAHA TOWARDS SHARDANAGAR, ON DHAKERWA-LAKHIMPUR ROAD.	LAKHIMPUR KHERI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1342	VILLAGE AITHPUR, TEHSIL PALIA , ON PALIA - PATIHAN ROAD	LAKHIMPUR KHERI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1343	VILLAGE - BHADSARIYA, TEHSIL - LAKHIMPUR KHERI, ON LAKHIMPUR -DEVKALI ROAD	LAKHIMPUR KHERI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1344	VILLAGE SUKKHA KHEDA, TEHSIL - MALIHABAD ON JETTA-MALL ROAD	LUCKNOW	RURAL	70	OPEN	CC	30	30	900	16	6	BIDDING	10	4
1345	VILLAGE BHASANDA, TEHSIL - MOHANLALGANJ, BETWEEN KM STONE NO. 5 AND KM STONE NO. 6 ON MDR 52 C, MOHANLALGANJ - MAURAVAN ROAD	LUCKNOW	RURAL	70	OPEN	CC	30	30	900	16	6	BIDDING	10	4
1346	VILLAGE ADAMPUR NAUBASTA, TEHSIL - MOHANLALGANJ ON GANGAGANJ - NAGRAM ROAD	LUCKNOW	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1347	VILLAGE KUMRAHVAN, TEHSIL - BAKSHI KA TALAB ON ITAUNJA - KURSI ROAD	LUCKNOW	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1348	VILLAGE BHAGU KHERA, TEHSIL - SAROJNINAGAR ON MDR 91 C, BHAGUKHERA - SISENDI ROAD	LUCKNOW	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1349	VILLAGE BADAGAON, TEHSIL SADAR ON FATEHGANJ TO KAKORI ROAD	LUCKNOW	RURAL	70	OPEN	CC	30	30	900	16	6	BIDDING	10	4
1350	VILLAGE AMITIA, TEHSIL LAHARPUR, LAHARAPUR-KALYANPUR ROAD	SITAPUR	RURAL	70	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1351	VILLAGE - PARSENDI, TEHSIL LAHARPUR, ON PARSENDI - AKBARPUR ROAD	SITAPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1352	VILLAGE - AMBERPUR, TEHSIL SIDHAULI, ON MANWA CHOWKI - ATRAULI ROAD	SITAPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1353	VILLAGE SADDHUPUR, TEHSIL MEHMODABAD, BISWAN-SADARPUR ROAD	SITAPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1354	VILLAGE SHAHPUR, TEHSIL BISWAN, ON MATUA-SAKRAN-BISWAN ROAD	SITAPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1355	VILLAGE - HAJIPUR, TEHSIL MISRIKH, ON MACHREHTA - KALLI ROAD	SITAPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1356	Village - Brahmawali, Tehsil Maholi, on Maholi - Badagaon Road	SITAPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1357	VILLAGE BIHAT GAUR, TEHSIL MAHOLI, ON MAHOLI-VAJIR NAGAR ROAD	SITAPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1358	VILLAGE PAHADPUR, TEHSIL MISRIKH, MACHHREHTA TO JALALPUR ROAD	SITAPUR	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1359	VILLAGE PARSEHRA KALAN, TEHSIL KHAIRABAD, ON KHAIRABAD KASRAILA ROAD	SITAPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1360	VILLAGE-FATEHPUR ABBU, TEHSIL AMROHA ON JOYA-SAMBHAL ROAD	AMROHA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1361	VILLAGE-SHARFUDDINPUR, TEHSIL NAUGAWAN SADAT ON AMROHA RING ROAD	AMROHA	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1362	VILLAGE- SARKADI AZEEZ, TEHSIL AMROHA ON NARANGPUR- DHAKKA ROAD	AMROHA	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1363	VILLAGE- CHAKANWALA MU., TEHSIL DHANAURA, ON GAJRAULA- CHAKANWALA ROAD	AMROHA	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1364	BETWEEN KM STONE NO. 7 AND KM STONE NO. 9 ON RAMALA- TANDA ROAD	BAGHPAT	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1365	BETWEEN VILLAGE TIKRI AND VILLAGE BIRAL ON BIRAL ROAD	BAGHPAT	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1366	VILLAGE- RASULPUR MUJAFFAR, TEHSIL NAGINA, ON BADHAPUR- NAGINA ROAD	BIJNOR	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1367	VILLAGE HARGANPUR, TEHSIL NAGINA ON NAGINA-RAIPUR ROAD	BIJNOR	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1368	VILLAGE MAJHOLA BILLAUCH TEHSIL CHANDPUR ON NAUGAON- DAULATPUR ROAD (CANAL ROAD)	BIJNOR	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1369	VILLAGE-JATPURA KHAS, TEHSIL NAJIBABAD ON BHAGUWALA-MOTA MAHADEV BY PASS ROAD	BIJNOR	RURAL	90	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1370	VILLAGE FATEHPUR KALAN, TEHSIL BIJNOR ON DARANAGARGANJ - HALDAUR ROAD	BIJNOR	RURAL	80	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1371	VILLAGE-ABBUL FAZALPUR KHAS , TEHSIL NAJIBABAD ON KIRATPUR- AKBARABAD ROAD	BIJNOR	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1372	VILLAGE-SAUFATPUR, TEHSIL NAJIBABAD ON BIJNOR-NANGAL SOTI- MANDAWALI ROAD	BIJNOR	RURAL	90	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1373	VILLAGE KEHRIPUR JUNGLE, TEHSIL DHAMPUR, BADIGARH- KALAGARH ROAD, BIJNOR	BIJNOR	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1374	VILLAGE-RANIPUR, TEHSIL-NAJIBABAD, ON NAHAR BYPASS ROAD (CANAL ROAD)	BIJNOR	RURAL	90	OPEN PH	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1375	BETWEEN VILLAGE-JAHANGIRPUR AND VILLAGE-FATEHPUR SABHACHAND, TEHSIL BIJNOR ON MANDAWAR-BALAWALI ROAD	BIJNOR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1376	BETWEEN VILLAGE NOORPUR CHIBBRI AND VILLAGE SHAJADPUR TEHSIL DHAMPUR ON HAREWALI- SHERKOT ROAD	BIJNOR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1377	VILLAGE MANSHA TEHSIL NAGINA ON KOTKADAR - TANDA MAIDAS ROAD	BIJNOR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1378	ON JEWAR - KHURJA ROAD, MDR-70W, UPTO 10 KM FROM YAMUNA EXPRESSWAY TOWARDS KHURJA	GAUTAM BUDH NAGAR	RURAL	100	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1379	VILLAGE PHAPHRANA, TEHSIL MODINAGAR, ON SONDA - MODINAGAR ROAD	GHAZIABAD	RURAL	90	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1380	VILLAGE ASALATPUR FARUKH NAGAR EXCEPT ON TILLA MOD- FARUKHNAGAR ROAD, TEHSIL GHAZIABAD	GHAZIABAD	RURAL	140	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1381	BETWEEN BHARAT INTERNATIONAL PUBLIC SCHOOL AND SHAHPUR ROAD INTERSECTION ON TILA MOD-FARUKH NAGAR ROAD	GHAZIABAD	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1382	BETWEEN TRM PUBLIC SCHOOL AND POLICE CHOWKI RAVLI KALAN ON RAVLI ROAD	GHAZIABAD	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a	•	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1383	BETWEEN DJ COLLEGE OF DENTAL SCIENCE AND RESEARCH AND JANTA DEGREE COLLEGE PATLA, ON NIWARI-MODINAGAR ROAD (OML MODINAGAR)	GHAZIABAD	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1384	UPTO 5 KM FROM MURADNAGAR OML (OUTSIDE MUNICIPAL LIMITS) ON MURADNAGAR - FARUKHNAGAR ROAD	GHAZIABAD	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1385	VILLAGE MASURI OR VILLAGE DASNA (OML NAGAR PANCHAYAT DASNA) EXCEPT ON SH118 / NH9 , TEHSIL GHAZIABAD	GHAZIABAD	RURAL	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1386	BETWEEN NE 3 (DELHI MEERUT EXPRESSWAY) AND ADDEWALI MASJID ON IKLA -INAYATPUR ROAD	GHAZIABAD	RURAL	150	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1387	VILLAGE ELAICHIPUR ON TRONICA CITY ROAD, TEHSIL GHAZIABAD	GHAZIABAD	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1388	BETWEEN VILLAGE RAWLI AND PIPALHEDA, TEHSIL DHAULANA ON MASURI-DHAULANA ROAD, MDR 155W	HAPUR	RURAL	140	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1389	VILLAGE AMIPUR NAGOLA ON MODINAGAR- HAPUR ROAD	HAPUR	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1390	Village Dhanaura, Tehsil Hapur, on Dhanaura-Safiyabad Loti Road	HAPUR	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1391	BETWEEN VILLAGE MAHALKA AND BATNOR ON LAWAR-PHALAWDA ROAD	MEERUT	RURAL	70	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1392	VILLAGE KHARKHAUDA ON OLD HAPUR ROAD	MEERUT	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1393	VILLAGE DHUMA NAGLI ON MAWANA-CHANDPUR ROAD	MEERUT	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1394	WITHIN 5KMS FROM INTERSECTION OF UPPER GANGA CANAL ROAD AND NH709AD ON UPPER GANGA CANAL ROAD	MUZAFFARNA GAR	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1395	UPTO 3 KMS FROM SH-59 (MUZAFFARNAGAR-GAGALHERI ROAD) TOWARDS CHHAPAR ON ROHANA-CHAPPAR ROAD	MUZAFFARNA GAR	RURAL	90	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1396	ON ROHANA-CHARTHAWAL ROAD WITHIN 3KMS FROM INDIAN POTASH LIMITED (GATE NO.1) TOWARDS CHARTHAWAL	MUZAFFARNA GAR	RURAL	90	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1397	UPTO 3 KM FROM RASHTRIYA INTER COLLEGE, SHAHPUR TOWARDS MUZAFFARNAGAR, ON BUDHANA- MUZAFFARNAGAR ROAD	MUZAFFARNA GAR	RURAL	90	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1398	WITHIN 3 KMS FROM SADAK WALI MASJID,TAWLI,ON MUZAFFARNAGAR-BUDHANA ROAD	MUZAFFARNA GAR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1399	WITHIN 4 KM FROM SARDAR PATEL INTER COLLEGE, PATNI ON CHILKANA ROAD, TOWARDS HALALPUR	SAHARANPUR	RURAL	90	OBC PH	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1400	VILLAGE SUNHETI, TEHSIL BEHAT ON HARIPUR USAND-DANDOLI KHERA ROAD	SAHARANPUR	RURAL	90	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1401	VILLAGE JASMOUR ,TEHSIL-BEHAT ON JASMOUR-BIHARIGARH ROAD	SAHARANPUR	RURAL	90	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1402	WITHIN 5 KMS FROM POLICE CHOWKI TODARPUR ON TODARPUR - HATHOLI ROAD TOWARDS HATHOLI	SAHARANPUR	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1403	BETWEEN KM STONE NO. 5 AND KM STONE NO. 9, AMBHETA- PHANDPURI ROAD	SAHARANPUR	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1404	BETWEEN VILLAGE PAWTI KALAN AND BHURA ON JHINJHANA- KAIRANA ROAD	SHAMLI	RURAL	70	OBC CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1405	BETWEEN VILLAGE TITTARWADA AND DUNDU KHERA BANGAR ON KAIRANA-TANDA MARG	SHAMLI	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1406	VILLAGE CHHACHHA TEHSIL AMETHI ON THENGHA-BHADAR ROAD	AMETHI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1407	VILLAGE KALYANPUR TEHSIL AMETHI ON BHADAR-AMHAT ROAD	AMETHI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1408	VILLAGE BYAUREMAU TEHSIL MUSAFIRKHANA ON SAUNA - BARSANDA-FUNDANPUR ROAD	AMETHI	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1409	VILLAGE AKABARPUR (GI.), TEHSIL NARAINI ON GIRWAN- CHHATARPUR ROAD	BANDA	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1410	VILLAGE SIKRI LAKHANPUR BLOCK KAMASIN TEHSIL BABERU ON KAMASIN-DANDO GHAT ROAD	BANDA	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1411	VILLAGE-DUREDI, TEHSIL-BANDA, ON BANDA-CHANDAL-KHAJURAHO ROAD	BANDA	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1412	WITH IN 3 KM FROM KHOH TIRAHA TOWARDS MANIKPUR ON KHOH - MANIKPUR ROAD	CHITRAKOOT	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1413	VILLAGE AKABARPUR,TEHSIL-KARWI ON BHARATKOOP- BHARATKOOP MANDIR ROAD	CHITRAKOOT	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq. M		j	applicant	Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1414	VILLAGE SARAI IDRISH TEHSIL KHAGA ON HATHGAON-KADA ROAD	FATEHPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1415	VILLAGE BAHERA SADAT TEHSIL KHAGA ON HATHGAON-KADA ROAD	FATEHPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1416	VILLAGE CHHEUKA TEHSIL FATEHPUR SADAR ON SATMEEL TIRAHA- DALMAU ROAD	FATEHPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1417	VILLAGE MURAWAN TEHSIL FATEHPUR SADAR ON AMBAPUR- HATHGAON ROAD	FATEHPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1418	VILLAGE RAHMATPUR TEHSIL KHAGA ON RAKSHPALPUR-KOT ROAD	FATEHPUR	RURAL	80	OPEN CC 2	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1419	VILLAGE RAMWA PANTHUWA , TEHSIL- FATEHPUR SADAR ON RAMWA-CHHICHHNI ROAD	FATEHPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1420	VILLAGE TEWA TEHSIL MANJHANPUR ON TEWA- PASCHIM SHARIRA ROAD	KAUSHAMBI	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1421	VILLAGE KADIRPUR NEWADA TEHSIL CHAIL ON TILHAPUR MODE- NEWADA ROAD	KAUSHAMBI	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1422	VILLAGE ALIPUR JITA AMADHATHGAON TEHSIL SIRATHU ON KADA - HATHGAON ROAD	KAUSHAMBI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1423	WITHIN 3 KM FROM BAIRAGIPUR CHAURAHA TOWARDS PASHCHIM SHARIRA ON BAIRAGIPUR-SHAHPUR-PASHCHIM SHARIRA ROAD	KAUSHAMBI	RURAL	80	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1424	VILLAGE WARI KALAN TEHSIL PATTI ON NARAYANPUR-MUJAHI ROAD	PRATAPGARH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1425	VILLAGE NARHARPUR TEHSIL PATTI ON LINK ROAD CONNECTING AMILIHA TO UTRAULA-FAIZABAD-PRAYAGRAJ KM NO 161	PRATAPGARH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1426	Village malak tilhai tehsil kunda on Bihar-Shakardaha Road	PRATAPGARH	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1427	VILLAGE RAIPUR TEHSIL PATTI ON CHARIYA-PATTI ROAD	PRATAPGARH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1428	VILLAGE RAMPUR GADAULI, TEHSIL KUNDA ON LALBAZAR-ALAPUR ROAD	PRATAPGARH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1429	VILLAGE KAHAINIYA TEHSIL PATTI ON MAGRAURA -DIWANGANJ ROAD	PRATAPGARH	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1430	VILLAGE GOHANI TEHSIL PRATAPGARH ON SANGIPUR-PURABGAON- ANTU ROAD	PRATAPGARH	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1431	VILLAGE PAYAGPUR AURISTA TEHSIL PATTI ON RAKHHA TO JOGIPUR ROAD	PRATAPGARH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1432	VILLAGE DIHI PATKHA, TEHSIL KORAON ON KHIRI-KOHRAR ROAD	PRAYAGRAJ	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1433	VILLAGE CHILLA GAUHANI, TEHSIL BARA ON GHOORPUR - LALAPUR ROAD	PRAYAGRAJ	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1434	VILLAGE HINDUPUR, TEHSIL KARCHANNA, KACHANNA BAZAR TIRAHA - BELA CHAURAHA ROAD	PRAYAGRAJ	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1435	VILLAGE SEHRA, TEHSIL KARCHANNA ON JARI BAZAAR - KARCHANNA ROAD	PRAYAGRAJ	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1436	VILLAGE FATOOHA, TEHSIL HANDIYA ON HANUMANGANJ - PHULPUR ROAD	PRAYAGRAJ	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1437	VILLAGE BIGAHNA, TEHSIL MEJA ON RAMNAGAR - PARANIPUR ROAD	PRAYAGRAJ	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1438	VILLAGE RIGWAN, TEHSIL BARA ON CHHIRI - PERWEZABAD ROAD	PRAYAGRAJ	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1439	VILLAGE MANDAKHAAS, TEHSIL MEJA, ON MANDA TO HATA CHAURAHA ROAD	PRAYAGRAJ	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1440	VILLAGE DHURWA(KEWAI), TEHSIL HANDIA, ON PHULPUR - GHURWA ROAD	PRAYAGRAJ	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1441	VILLAGE CHIRAON, TEHSIL KORAON ON BADOKHAR - CHIRAO ROAD	PRAYAGRAJ	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1442	VILLAGE KARUADIH, TEHSIL HANDIA ON HANDIA-PHULPUR-SORAON CONNECTING ROAD	PRAYAGRAJ	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1443	VILLAGE SIRSA, TEHSIL HANDIYA ON HANDIA - VARI ROAD	PRAYAGRAJ	RURAL	70	OBC CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1444	VILLAGE KHAJURI KHURD (KHAIRAGARH), TEHSIL KORAON, ON KORAON - DEVGHAT ROAD	PRAYAGRAJ	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1445	VILLAGE NAURIHA UPARHAR, TEHSIL BARA ON SHANKARGARH TO CHANDRAPUR ROAD	PRAYAGRAJ	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1446	VILLAGE JARI, TEHSIL BARA ON KARCHANNA ROAD	PRAYAGRAJ	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1447	VILLAGE DHOVAHA, TEHSIL-HANDIA ON BARAUT-BITHAULI ROAD	PRAYAGRAJ	RURAL	70	OBC PH	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1448	VILLAGE KAMOLI TEHSIL UNCHAHAR ON SUCHI-GOKARNA GHAT ROAD	RAEBARELI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1449	VILLAGE BAIKHRA TEHSIL RAEBARELI ON MAHARAJGANJ - NIGOHAN ROAD	RAEBARELI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1450	VILLAGE RAIN TEHSIL MAHARAJGANJ ON BYPASS ROAD FROM CHURWA TO PASCHIMGAON	RAEBARELI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1451	VILLAGE SHOBHAPUR TEHSIL RAEBARELI ON HARCHANDPUR- MAHARAJGANJ ROAD	RAEBARELI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1452	VILLAGE SARAI BAIHRIYA KHEDA TEHSIL LALGANJ ON LALGANJ- BHOJPUR ROAD	RAEBARELI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1453	Village Kandrawan Tehsil Unchahar on Salon - Khaga Road	RAEBARELI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1454	VILLAGE GOSAISINGHPUR TEHSIL JAISINGHPUR SEMARI DOSTPUR ROAD MDR 66E	SULTANPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1455	VILLAGE ODOULI TEHSIL JAISINGHPUR ON BARAUSA -BIRSINGHPUR ROAD	SULTANPUR	RURAL	70	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1456	VILLAGE PRATAPPUR KAMAICHA TEHSIL LAMBHUA ON ODR ROAD (OLD SULTANPUR-JAUNPUR ROAD)	SULTANPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1457	VILLAGE KALAN BLOCK AKHANDNAGAR ON KALAN -AKHANDNAGAR ROAD	SULTANPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1458	VILLAGE ALIPURKANPA TEHSIL KADIPUR ON KADIPUR-MUDILA- AKHANDNAGAR ROAD	SULTANPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1459	VILLAGE KARAMPUR PARWARBHAR TEHSIL SADAR ON DHAMMOURISLAMGANJ ROAD	SULTANPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1460	VILLAGE FULPUR TEHSIL SADAR ON MDR 66E	SULTANPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1461	VILLAGE MAHESHUA TEHSIL LAMBHUA ON LAMBHUA-DURGAPUR ROAD	SULTANPUR	RURAL	80	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1462	WITHIN 5 KM FROM SH34 (BRAUSA-KADIPUR ROAD) INTERSECTION TOWARDS DHOPAP TEMPLE ON LAMBHUA -KADIPUR ROAD	SULTANPUR	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1463	VILLAGE- GADANPUR HITCHHANPATTI, TEHSIL- SAGDI ON KAPTAANGANJ-NIZAMAABAD ROAD	AZAMGARH	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1464	VILLAGE-GAURI, TEHSIL- BUDHANPUR ON AHIRAULA-ATRAULIA ROAD	AZAMGARH	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1465	VILLAGE- TAMMARPUR,TEHSIL- MARTINGANJ ON MARTINGANJ - SARAIMOHAN ROAD	AZAMGARH	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1466	BETWEEN KM STONE NO 21 AND KM STONE NO 25,ON EITHER SIDE ON KAPTANGANJ - MUHAMADPUR ROAD	AZAMGARH	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1467	VILLAGE-JAMUDI,TEHSIL- SADAR ON SHAHGADH- MUBARAKPUR ROAD	AZAMGARH	RURAL	100	OBC CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1468	VILLAGE -LACHIRAMPUR,TEHSIL- SADAR ON VEDANTA HOSPITAL - JUNAIDGANJ CHOWK ROAD	AZAMGARH	RURAL	100	OPEN	DC	20	30	600	16	35	DRAW OF LOTS	5	4
1469	VILLAGE- DAULATPUR,TEHSIL- MEHNAGAR ON MDR 171E (CHHATWARA- MEHNAZPUR ROAD)	AZAMGARH	RURAL	100	OPEN CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1470	VILLAGE- MALIKSUDNI, TEHSIL- SADAR ON MUBARAKPUR - JIYANPUR ROAD	AZAMGARH	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1471	VILLAGE- MAHUNJI , TEHSIL- SAKALDIHA ON DHANAPUR - AVAHI ROAD	CHANDAULI	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1472	VILLAGE - BICHHIYA KHURD , TEHSIL - CHANDAULI ON CHANDAULI - KAILI ROAD	CHANDAULI	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1473	VILLAGE - NAINPURA, TEHSIL- CHANDAULI ON NAWAHI-CHAKIYA ROAD	CHANDAULI	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1474	VILLAGE-AHIKAURA,TEHSIL-SAKALDIHA ON KAMALPUR - AHIKAURA ROAD	CHANDAULI	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1475	VILLAGE- BHEEMAPAR, TEHSIL-SAIDPUR ON SAIDPUR-BHEEMAPAR ROAD	GHAZIPUR	RURAL	70	OPEN PH	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1476	VILLAGE - SHER TEHSIL - MOHAMMADABAD, ON MOHAMMADABAD- CHITBARAGAON ROAD	GHAZIPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1477	VILLAGE-MURTAZABAD, TEHSIL- KERAKAT ON KERAKAT- PESARA ROAD	JAUNPUR	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. M		Finance to by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1478	VILLAGE- MARGUPUR, TEHSIL- SADAR ON USRA BAZAAR- BARAIPAAR ROAD	JAUNPUR	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1479	VILLAGE -SAIDPUR, TEHSIL- SADAR ON JAUNPUR- DEVKALI ROAD	JAUNPUR	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1480	VILLAGE - NANUR, TEHSIL- MADHUBAN ON MADHUBAN - MAJHWARA ROAD	MAU	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1481	VILLAGE- SARSENA, TEHSIL- MOHAMMADABAD GOHNA ON ITAURA- SERSENA ROAD	MAU	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1482	VILLAGE-UMATI, TEHSIL- MOHAMMADABAD GOHNA ON KHURHAT- RANIPUR ROAD	MAU	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1483	VILLAGE-BIHASARAKALAN,TEHSIL-SADAR ON VIJAYPUR - BHARATGANJ ROAD	MIRZAPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1484	VILLAGE- BHEDI, TEHSIL- CHUNAR ON RAJGARH-CHUNAR ROAD	MIRZAPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1485	VILLAGE-RAMPUR HANSWAR CHHANBEY,TEHSIL-SADAR ON JIGNA - MISHRPUR ROAD	MIRZAPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1486	VILLAGE- SAM SADIYA, TEHSIL- MARIHAN ON DEEP NAGAR -HALIYA ROAD	MIRZAPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1487	VILLAGE-BASUHARA,TEHSIL-LALGANJ ON LALGANJ-HALIA ROAD	MIRZAPUR	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1488	VILLAGE-BASEWARA KALAN,TEHSIL-SADAR ON KHAIRA-MISHRPUR ROAD	MIRZAPUR	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1489	VILLAGE-THARPARSIA, TEHSIL-LALGANJ ON BABURAHIYA-DADRI DAM ROAD	MIRZAPUR	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1490	Village-Chakauda, Teshil-Aurai on Chauri -Maharajganj Road	BHADOHI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1491	VILLAGE - GHUWAS , TEHSIL - GHORAWAL ON GHORAWAL - GHUWAS ROAD	SONBHADRA	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1492	BETWEEN KM STONE NO 7 AND KM STONE NO 9 ON GHORAWAL- SHILPI ROAD	SONBHADRA	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1493	BETWEEN KM STONE NO 35 AND KM STONE NO 37 ON CHHATISGARH- BABHANI ROAD	SONBHADRA	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

SI. No	Name of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (in site (in Sq. N	M.)/Area of 1.). *	Finance to I by the a		Mode of selection	Fixed Fee / Minimum bid amount ( Rs in Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requiremen t for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		
1494	VILLAGE-CHAPAKI,TEHSIL-DUDDHI ON BABHANI - BIJPUR ROAD	SONBHADRA	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1495	VILLAGE - SIRSOTI, TEHSIL- DUDDHI ON BABHANI -BIJPUR ROAD	SONBHADRA	RURAL	100	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1496	VILLAGE- MAHRPUR, TEHSIL-OBRA ON BHARAHARI - CHOPAN ROAD	SONBHADRA	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1497	VILLAGE FARIDPUR, TEHSIL RAJATALAB ON ROHANIYA TO BHADWAR ROAD, DISTRICT VARANASI	VARANASI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1498	VILLAGE - MUNARI, TEHSIL - SADAR ON SARNATH-MUNARI ROAD	VARANASI	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
1499	WITHIN 2 KM FROM AKELAVA MARKET CHAURAHA TOWARDS GANGAPUR ON RAJATALAB-GANGAPUR ROAD	VARANASI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
1500	VILLAGE- DEEPAPUR, TEHSIL RAJATALAB ON RAJATALAB-JAKKHINI ROAD	VARANASI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

<sup>#</sup> Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.hindustanpetroleum.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

<sup>\*</sup> The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Applicatio n fee in Rs.	Type of RO	Type of Site		Applicati on fee in Rs.
Regular Ros	CFS	SC/ST	3000	Rural ROs	CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 10 years and renewable every 10 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Address	For Districts		
Agra Retail Regional Office, Hindustan Petroleum Corporation Limited, 85/4, Ispat Bhawan 3rd Floor, Sanjay Place Agra (U.P) Agra – 282002. Contact no 0562-2523084, 0562-2523076	AGRA, ALIGARH, BULANDSHAHR ETAH, FARRUKHABAD, FIROZABAD, HATHRAS, MAINPURI, MATHURA		
Bareilly Retail Regional Office, Hindustan Petroleum Corporation Limited, 1st Floor Mahalakshmi Towers, 112, Civil Lines, Bareilly, Bareilly, UP - 243001. Contact no 0581-2990477	Bareilly, Budaun, Kasganj, Moradabad, Pilibhit, Rampur, Sambhal, Shahjahanpur		
Gorakhpur Retail Regional Office, Hindustan Petroleum Corporation Limited, Prashant Tower (Ground Floor), Mahewa Chungi Old TP Nagar Police Chowki, Gorakhpur – 273016. Contact no. 9616011118	AMBEDKAR NAGAR, AYODHYA, BAHRAICH, BALLIA, BALRAMPUR, BASTI, DEORIA, GONDA, GORAKHPUR, KUSHINAGAR, MAHARAJGANJ, SANT KABIR NAGAR, SHRAVASTI, SIDDHARTH NAGAR		
Kanpur Retail Regional Office, Hindustan Petroleum Corporation Limited, Ground Floor 88-A, Gowardhan Purwa, Saket Nagar, Hamirpur Road Kanpur - 208014. Contact no. – 8604033001, 0512-3100014	AURAIYA, ETAWAH, HAMIRPUR, JALAUN, JHANSI, KANNAUJ, KANPUR DEHAT, KANPUR NAGAR, LALITPUR, MAHOBA, UNNAO		
Lucknow Retail Regional Office, Hindustan Petroleum Corporation Limited, Plot No.1, Nehru Enclave, Gomti Nagar, Lucknow - 226010. Contact no 0522-2308862, 9919990582, 9662545825	BARABANKI, HARDOI, KHERI LUCKNOW, SITAPUR		

1495/1, 2nd Floor, RPG Tower, Ulniversity Road, Mangal Pandey Nagar, Meerut - 250004	AMROHA, BAGHPAT, BIJNOR, GAUTAM BUDH NAGAR, GHAZIABAD, HAPUR, MEERUT, MUZAFFARNAGAR, SAHARANPUR, SHAMLI
Prayagraj Retail Regional Office, Hindustan Petroleum Corporation Limited, FN- 102, Mahalakshmi Enclave Officer Colony, Stanley Road, Prayagraj, UP - 211001. Contact no. 0532-4031913, 7060111221	
Varanasi Retail Regional Office, Hindustan Petroleum Corporation Limited, 2nd Floor, North Square Bldg. Shastri Nagar, Sigra, Varanasi - 221002. Contact no. 0542-2221036, 0542-2221039, 7800057269	AZAMGARH, CHANDAULI, GHAZIPUR, JAUNPUR, MAU, MIRZAPUR, BHADOHI, SONBHADRA, VARANASI